



Himachal Pradesh University
NAAC Accredited 'A' Grade University

Tabulation Sheet in respect of First Year Examination held in APRIL 2025. The Result of the student has been shown against their names and roll no.

Abbreviations

TE - Term End Examination	GP - Grade Point	M.O. - Marks Obtained	M* - Marks with Grace
CCA - Continuous Comprehensive Assessment	CP - Credit Point(Credit X Grade)	M.P.M - Minimum Passing Marks	* - CCA not entered
GL - Grade Letter	GR - Grace	M.M. - Maximum Marks	** - TE not entered
CR - Credit Earned	UMC/U - Unfair Means Case	M" - Reval Marks	TMM - Total Max Marks
COMP. - Compartment	LCC - Late College Capacity		

Grading :- Absolute Grading

Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade
95% and above	10.0	S+	75 to less than 80 % Marks	8.0	O	55 to less than 60% Marks	6.0	B+
90 to less than 95% Marks	9.5	S	70 to less than 75% Marks	7.5	A++	50 to less than 55% Marks	5.5	B
85 to less than 90% Marks	9.0	O++	65 to less than 70% Marks	7.0	A+	40 to less than 50% Marks	5.0	C
80 to less than 85% Marks	8.5	O+	60 to less than 65% Marks	6.5	A	less than 40% Marks	0	F

Candidate has to obtain 35% marks each in TE,CCA and 40% in Practical and 40% marks in aggregate to pass in a subject.

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

College Name : GOVT.COLLEGE HAMIRPUR

UNIV ROLL NO : 1210360482 CAND.NAME : NISHANT THAKUR REG NO : 21-HM-448	FATHER'S NAME : PRITAM CHAND					MOTHER'S NAME : SUSHMA KUMARI					Exam Type : COMPARTMENT										
	Paper Detail																				
	Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade
M.O		M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	A^	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	24	11	30	33	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	28	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	36	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	A^	40	100	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	27	25	70	-	-	-	-	41	40	100	C	5.00	4	20.00				
											MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670001 CAND.NAME : DIVYA BHARTI REG NO : 24-HM-717			FATHER'S NAME : SUBHASH CHNAD							MOTHER'S NAME : INDU BALA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Administrative Theory (PUBA101A)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				FAIL
Indian Administration (PUBA102A)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Introduction to Travel & Tourism Management (TTMC101)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Tourism Resources of India (TTMC102)	23	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	29	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670002 CAND.NAME : PRIYANKA KUMARI REG NO : 24-HM-609			FATHER'S NAME : SUBHASH CHAND							MOTHER'S NAME : NIRMLA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Sociological Foundations of Education (EDN102CC)	20	11	30	50	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Introduction to Political Theory (POLS101)	24	11	30	41	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Indian Government and Politics (POLS102)	17	11	30	53	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	46	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670003 CAND.NAME : REEYA REG NO : 24-HM-454			FATHER'S NAME : SURENDER KUMAR							MOTHER'S NAME : REKHA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	28	11	30	35	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				COMPAR TMENT TILL APRIL 2026 Paper Code (PUBA102 A)
Madhykaalin Hindi Kavita (HIND103)	26	11	30	61	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00				
Administrative Theory (PUBA101A)	24	11	30	40	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Indian Administration (PUBA102A)	21	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	33	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	43	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	36	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670004 CAND.NAME : SHREYA MISHRA REG NO : 23-HM-562				FATHER'S NAME : RAKESH KUMAR						MOTHER'S NAME : RAJ KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	28	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	6.64	-	A+	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	25	11	30	38	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Administrative Theory (PUBA101A)	20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Indian Administration (PUBA102A)	19	11	30	51	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	41	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	46	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	56	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- 500 / 800					TC-44	TCP - 292.00	Dis. -			
UNIV ROLL NO : 1242670005 CAND.NAME : SIYA VAID REG NO : 24-HM-551				FATHER'S NAME : KULDEEP SINGH						MOTHER'S NAME : PARMILA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	27	11	30	46	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00	7.57	-	O	PASS
Madhykaalin Hindi Kavita (HIND103)	25	11	30	61	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Administrative Theory (PUBA101A)	29	11	30	49	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Indian Administration (PUBA102A)	24	11	30	43	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	43	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	56	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	54	25	70	-	-	-	-	74	40	100	A++	7.50	4	30.00				
										-	MO/MM- 577 / 800					TC-44	TCP - 333.00	Dis. -			
UNIV ROLL NO : 1242670006 CAND.NAME : SOURABH KUMAR REG NO : 24-HM-629				FATHER'S NAME : SANJAY JHA						MOTHER'S NAME : DAZY DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	22	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (GEOGP1 01CC)
General Cartography (GEOGP102CC)	23	11	30	18	18	50	9	8	20	-	50	40	100	B	5.50	6	33.00				
Administrative Theory (PUBA101A)	20	11	30	29	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Indian Administration (PUBA102A)	20	11	30	29	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	30	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	42	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	54	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670007 CAND.NAME : KOMAL REG NO : 24-HM-732			FATHER'S NAME : YASHPAL							MOTHER'S NAME : TRIPTA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	17	11	30	48	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	7.64	-	O	PASS
Indian Government and Politics (POLS102)	24	11	30	62	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Sanskrit Kavya (SKT-DSC-101)	29	11	30	57	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Sanskrit Gadya Kaavya (SKT-DSC-102)	29	11	30	60	25	70	-	-	-	-	89	40	100	O++	9.00	6	54.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	48	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	51	40	100	-	-	-	-	51	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	55	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
										-	MO/MM- 575 / 800					TC-44	TCP - 336.00	Dis. -			
UNIV ROLL NO : 1242670008 CAND.NAME : MUSKAN SHARMA REG NO : 24-HM-455			FATHER'S NAME : SUSHIL KUMAR							MOTHER'S NAME : SANDHYA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	19	11	30	40	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	6.41	-	A	PASS
Indian Government and Politics (POLS102)	15	11	30	45	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Sanskrit Kavya (SKT-DSC-101)	29	11	30	27	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Sanskrit Gadya Kaavya (SKT-DSC-102)	29	11	30	53	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	25*	25	70	-	-	-	7	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	49	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
										7	MO/MM- 478 / 800					TC-44	TCP - 282.00	Dis. -			
UNIV ROLL NO : 1242670009 CAND.NAME : SAPNA REG NO : 24-HM-1030			FATHER'S NAME : BRIJ LAL							MOTHER'S NAME : KARMI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	21	11	30	31	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Indian Government and Politics (POLS102)	22	11	30	47	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Sanskrit Kavya (SKT-DSC-101)	29	11	30	32	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Sanskrit Gadya Kaavya (SKT-DSC-102)	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	49	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	47	40	100	-	-	-	-	47	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	56	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

UNIV ROLL NO : 1242670010 CAND.NAME : SHIVANI REG NO : 24-HM-533			FATHER'S NAME : CHATTER SINGH							MOTHER'S NAME : ANITA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00	6.66	-	A+	PASS
Introduction to Physical Education (PED101TH)	22	11	30	18*	18	50	-	-	-	1	40	32	80	B	5.50	4	22.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	22	11	30	36	18	50	-	-	-	-	58	32	80	A++	7.50	4	30.00				
Sanskrit Kavya (SKT-DSC-101)	28	11	30	32	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Sanskrit Gadya Kaavya (SKT-DSC-102)	28	11	30	47	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	25*	25	70	-	-	-	4	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	50	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Environment Science (ENV2AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
									5	MO/MM- 490 / 800					TC-44	TCP - 293.00	Dis. -				
UNIV ROLL NO : 1242670011 CAND.NAME : TANU DHIMAN REG NO : 24-HM-626			FATHER'S NAME : ASHOK KUMAR							MOTHER'S NAME : ANITA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	21	11	30	39	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00	7.39	-	A++	PASS
Indian Government and Politics (POLS102)	22	11	30	60	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Sanskrit Kavya (SKT-DSC-101)	29	11	30	50	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Sanskrit Gadya Kaavya (SKT-DSC-102)	29	11	30	62	25	70	-	-	-	-	91	40	100	S	9.50	6	57.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	50	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Environment Science (ENV2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
									-	MO/MM- 563 / 800					TC-44	TCP - 325.00	Dis. -				
UNIV ROLL NO : 1242670012 CAND.NAME : ABHISHEK KUMAR REG NO : 24-HM-645			FATHER'S NAME : CHANDER SHEKHER							MOTHER'S NAME : RANJNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00	-	-	-	FAIL
Introduction to Physical Education (PED101TH)	15	11	30	12	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	16	11	30	20	18	50	-	-	-	-	36	32	80	C	5.00	4	20.00				
Administrative Theory (PUBA101A)	20	11	30	27	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Indian Administration (PUBA102A)	17	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	33	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Environment Science (ENV2AECC2)	-	-	-	24	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
									-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670013 CAND.NAME : AKSHIT THAKUR REG NO : 24-HM-671			FATHER'S NAME : MANOJ KUMAR							MOTHER'S NAME : SUSHMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00	-	-	-	FAIL
Introduction to Physical Education (PED101TH)	15	11	30	1	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	16	11	30	14	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Administrative Theory (PUBA101A)	20	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Indian Administration (PUBA102A)	20	11	30	0	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	4	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	3	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	4	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670014 CAND.NAME : MANISHA DEVI REG NO : 24-HM-591			FATHER'S NAME : RAVINDER KUMAR							MOTHER'S NAME : SUBHADRA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00	7.39	-	A++	PASS
Introduction to Physical Education (PED101TH)	15	11	30	35	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	42	18	50	-	-	-	-	60	32	80	O	8.00	4	32.00				
Administrative Theory (PUBA101A)	20	11	30	43	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Indian Administration (PUBA102A)	20	11	30	61	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	38	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	52	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	56	40	100	-	-	-	-	56	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	61	25	70	-	-	-	-	81	40	100	O+	8.50	4	34.00				
										-	MO/MM- 556 / 800					TC-44	TCP - 325.00	Dis. -			
UNIV ROLL NO : 1242670015 CAND.NAME : ABHISHEK THAKUR REG NO : 24-HM-994			FATHER'S NAME : ANIL KUMAR							MOTHER'S NAME : ARCHANA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	17	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	23	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	10	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670016 CAND.NAME : AMIT KUMAR REG NO : 24-HM-627			FATHER'S NAME : ASHWANI KUMAR							MOTHER'S NAME : USHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	16	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhyaakalin Hindi Kavita (HIND103)	17	11	30	33	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	24	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	17	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	18	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670017 CAND.NAME : ANKITA THAKUR REG NO : 24-HM-452			FATHER'S NAME : SONU KUMAR							MOTHER'S NAME : PROMILA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	16	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	26	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	38	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	30	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670018 CAND.NAME : ANSHIKA KUMARI REG NO : 24-HM-647			FATHER'S NAME : DESH RAJ							MOTHER'S NAME : NEELAM DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	15	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	21	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	17	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	18	11	30	2	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670019 CAND.NAME : BHAVNA REG NO : 24-HM-707			FATHER'S NAME : RAVI KUMAR							MOTHER'S NAME : DEVIKA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	15	11	30	30	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	26	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in INdia (SOCL-A 102)	21	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	30	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	19	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	19	11	30	4	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670020 CAND.NAME : BULBUL REG NO : 24-HM-734			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : REENA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	21	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (GEOGP1 01CC)
General Cartography (GEOGP102CC)	23	11	30	18	18	50	12	8	20	-	53	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in INdia (SOCL-A 102)	21	11	30	37	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	44	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	25	11	30	26	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670021 CAND.NAME : CHARU THAKUR REG NO : 24-HM-558			FATHER'S NAME : NIRMAL SINGH							MOTHER'S NAME : SANTOSH KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	28	11	30	35	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00	6.18	-	A	PASS
Madhykaalin Hindi Kavita (HIND103)	24	11	30	45	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Society in INdia (SOCL-A 102)	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	42	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	24	11	30	33	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
										-	MO/MM- 475 / 800					TC-44	TCP - 272.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670022 CAND.NAME : HIMANI CHANDEL REG NO : 23-HM-827			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : SEEMA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	24	11	30	32	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	17	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	17	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Environment Science (ENVS2AECC2)	-	-	-	25	40	100	-	-	-	-	40	100	F	0.00	4	0.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	16	25	70	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670023 CAND.NAME : KAJAL REG NO : 24-HM-633			FATHER'S NAME : AMAR SINGH							MOTHER'S NAME : SAKINA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	23	11	30	32	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00	6.32	-	A	PASS
Sociological Foundations of Education (EDN102CC)	21	11	30	42	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	23	11	30	46	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	38	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	66	40	100	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	28	11	30	37	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
										-	MO/MM- 482 / 800					TC-44	TCP - 278.00	Dis. -			
UNIV ROLL NO : 1242670024 CAND.NAME : KRITIKA THAKUR REG NO : 24-HM-725			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : VANDANA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	18	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIND102, ENVS2AE CC2)
Madhykaalin Hindi Kavita (HIND103)	22	11	30	39	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	28	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	28	40	100	-	-	-	-	40	100	F	0.00	4	0.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670025 CAND.NAME : NAZIA BIBI REG NO : 23-HM-863				FATHER'S NAME : SHAH JAHAN						MOTHER'S NAME : SEENU BIBI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,ENVS 2AECC2)
Madhyaalain Hindi Kavita (HIND103)	26	11	30	51	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	31	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Society in INdia (SOCL-A 102)	21	11	30	45	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	24	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	19	11	30	36	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670026 CAND.NAME : POOJA THAKUR REG NO : 24-HM-705				FATHER'S NAME : RAMESH CHAND						MOTHER'S NAME : SEEMA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	28	11	30	50	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00	7.18	-	A++	PASS
Madhyaalain Hindi Kavita (HIND103)	28	11	30	49	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	41	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Society in INdia (SOCL-A 102)	23	11	30	51	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	37	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	54	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	51	40	100	-	-	-	-	51	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	28	11	30	42	25	70	-	-	-	-	70	40	100	A++	7.50	4	30.00				
										-	MO/MM- 548 / 800					TC-44	TCP - 316.00	Dis. -			
UNIV ROLL NO : 1242670027 CAND.NAME : RITIKA REG NO : 24-HM-595				FATHER'S NAME : SANJAY KUMAR						MOTHER'S NAME : SAPNA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,ENVS 2AECC2)
Indian Government and Politics (POLS102)	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in INdia (SOCL-A 102)	22	11	30	34	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	40	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	30	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670028 CAND.NAME : RIYA REG NO : 24-HM-646			FATHER'S NAME : DALJEET KUMAR							MOTHER'S NAME : SUNITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	13	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	34	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	20	40	100	-	-	-	-	40	100	F	0.00	4	0.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	18	11	30	6	25	70	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670029 CAND.NAME : SANIA KUMARI REG NO : 24-HM-1029			FATHER'S NAME : SHASHI KUMAR							MOTHER'S NAME : NISHA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	27	11	30	41	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Madhyaqaalin Hindi Kavita (HIND103)	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	35	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Society in India (SOCL-A 102)	22	11	30	35	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	12	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	22	11	30	42	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	28	11	30	25	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670030 CAND.NAME : SHIVANI REG NO : 24-HM-536			FATHER'S NAME : DESH RAJ							MOTHER'S NAME : SUSHMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	29	11	30	43	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	7.25	-	A++	PASS
Sociological Foundations of Education (EDN102CC)	29	11	30	49	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	50	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Society in India (SOCL-A 102)	24	11	30	51	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	35	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	25	11	30	44	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	28	11	30	34	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- 550 / 800					TC-44	TCP - 319.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670031 CAND.NAME : TAMANNA REG NO : 24-HM-995				FATHER'S NAME : ILAM DEEN						MOTHER'S NAME : BITTU DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	22	11	30	34	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	6.75	-	A+	PASS
Indian Government and Politics (POLS102)	19	11	30	57	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Society in INdia (SOCL-A 102)	24	11	30	54	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	42	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	54	40	100	-	-	-	-	54	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	21	11	30	40	25	70	-	-	-	-	61	40	100	A	6.50	4	26.00				
										-	MO/MM- 514 / 800					TC-44	TCP - 297.00	Dis. -			
UNIV ROLL NO : 1242670032 CAND.NAME : TRISHIKA SHARMA REG NO : 24-HM-610				FATHER'S NAME : SUNIL KUMAR						MOTHER'S NAME : SEEMA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	23	11	30	26	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00	6.91	-	A+	PASS
Sociological Foundations of Education (EDN102CC)	28	11	30	55	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Society in INdia (SOCL-A 102)	25	11	30	43	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	34	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	50	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	63	40	100	-	-	-	-	63	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	28	11	30	48	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- 533 / 800					TC-44	TCP - 304.00	Dis. -			
UNIV ROLL NO : 1242670033 CAND.NAME : TANZIN LUNDUP REG NO : 23-HM-905				FATHER'S NAME : PANMA DORJE ALLIES MOHAN SINGH						MOTHER'S NAME : KAMLA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	15	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Sociological Foundations of Education (EDN102CC)	15	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	23	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	30	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	16	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670034 CAND.NAME : ABHISHEK KUMAR REG NO : 23-HM-1271				FATHER'S NAME : VIKRAM SINGH						MOTHER'S NAME : REETA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	21	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (GEOGP1 01CC)
General Cartography (GEOGP102CC)	20	11	30	21	18	50	10	8	20	-	51	40	100	B	5.50	6	33.00				
Administrative Theory (PUBA101A)	17	11	30	48	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Indian Administration (PUBA102A)	18	11	30	50	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	34	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	52	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	32	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670035 CAND.NAME : PRIYANKA KUMARI REG NO : 24-HM-686				FATHER'S NAME : PRAVEEN KUMAR						MOTHER'S NAME : SANJNA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Administrative Theory (PUBA101A)	20	11	30	38	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIND104)
Indian Administration (PUBA102A)	20	11	30	26	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Introduction to Travel & Tourism Management (TTMC101)	23	11	30	31	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Tourism Resources of India (TTMC102)	22	11	30	31	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	28	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670036 CAND.NAME : AARINJAY SHARMA REG NO : 24-HM-1079				FATHER'S NAME : ANOOP KUMAR SHARMA						MOTHER'S NAME : BANDANA DOGRA						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00	6.57	-	A+	PASS
Principles of Microeconomics-II (ECONA102)	24	11	30	25*	25	70	-	-	-	6	49	40	100	C	5.00	6	30.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	36	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	44	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
										6	MO/MM- 494 / 800					TC-44	TCP - 289.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670037 CAND.NAME : AARTI SHARMA REG NO : 24-HM-387			FATHER'S NAME : PRADEEP KUMAR							MOTHER'S NAME : KAUSHALYA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENVS2AE CC2)
General Cartography (GEOGP102CC)	26	11	30	30	18	50	16	8	20	-	72	40	100	A++	7.50	6	45.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	40	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	37	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	55	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	40	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	31	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670038 CAND.NAME : ABHINAV REG NO : 24-HM-1060			FATHER'S NAME : ASHWANI KUMAR							MOTHER'S NAME : BABITA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (MATH101 TH,MATH 102TH)
Principles of Microeconomics-II (ECONA102)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Differential Calculus (MATH101TH)	19	11	30	2	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Differential Equations (MATH102TH)	21	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	41	25	70	-	-	-	-	61	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670039 CAND.NAME : ADITI REG NO : 23-HM-399			FATHER'S NAME : GAGNESH SHARMA							MOTHER'S NAME : GAMINEE							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	56	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00	7.45	-	A++	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	52	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Administrative Theory (PUBA101A)	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Indian Administration (PUBA102A)	29	11	30	54	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	55	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	38	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- 554 / 800					TC-44	TCP - 328.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670040 CAND.NAME : ADITYA PATHANIA REG NO : 24-HM-1048			FATHER'S NAME : MEHAR SINGH							MOTHER'S NAME : SUMAN PATHANIA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	15	11	30	32	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00	6.00	-	A	PASS
Madhya kaalin Hindi Kavita (HIND103)	18	11	30	53	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	36	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	40	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	52	40	100	-	-	-	-	52	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										-	MO/MM- 450 / 800					TC-44	TCP - 264.00	Dis. -			
UNIV ROLL NO : 1242670041 CAND.NAME : ADITYA SHARMA REG NO : 22-HM-643			FATHER'S NAME : KASHMIR LAL							MOTHER'S NAME : DHARMI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	27	11	30	40	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENVS2AE CC2,GEO GP101CC)
Principles of Microeconomics-II (ECONA102)	27	11	30	29	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Physical Geography (GEOGP101CC)	23	11	30	13	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
General Cartography (GEOGP102CC)	24	11	30	19	18	50	15	8	20	-	58	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	55	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	30	40	100	-	-	-	-	40	100	F	0.00	4	0.00					
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	58	25	70	-	-	-	-	78	40	100	O	8.00	4	32.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670042 CAND.NAME : AKSHIVA SADYAL REG NO : 23-HM-506			FATHER'S NAME : AJAY KUMAR							MOTHER'S NAME : URMILA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00	6.91	-	A+	PASS
Introduction to Physical Education (PED101TH)	20	11	30	26	18	50	-	-	-	-	46	32	80	B+	6.00	4	24.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	20	11	30	39	18	50	-	-	-	-	59	32	80	A++	7.50	4	30.00				
Administrative Theory (PUBA101A)	20	11	30	39	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Indian Administration (PUBA102A)	24	11	30	54	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	23	11	30	52	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Environment Science (ENVS2AECC2)	-	-	-	56	40	100	-	-	-	-	56	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	28	11	30	28	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										-	MO/MM- 519 / 800					TC-44	TCP - 304.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670043 CAND.NAME : ANCHAL SHARMA REG NO : 24-HM-308				FATHER'S NAME : RAJENDER SHARMA						MOTHER'S NAME : VEENA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	27	11	30	55	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00	8.07	-	O+	PASS
General Cartography (GEOGP102CC)	29	11	30	38	18	50	19	8	20	-	86	40	100	O++	9.00	6	54.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	49	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
History of India from C. 300 - 1206 (HIST(A)102)	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	67	25	70	-	-	-	-	92	40	100	S	9.50	6	57.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	54	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	55	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
										-	MO/MM- 610 / 800					TC-44	TCP - 355.00	Dis. -			
UNIV ROLL NO : 1242670044 CAND.NAME : ANJALI REG NO : 24-HM-679				FATHER'S NAME : OM PRAKASH						MOTHER'S NAME : BEL VATI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	29	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	5.86	-	B+	PASS
General Cartography (GEOGP102CC)	23	11	30	26	18	50	11	8	20	-	60	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	37	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	30	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	34	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	32	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- 441 / 800					TC-44	TCP - 258.00	Dis. -			
UNIV ROLL NO : 1242670045 CAND.NAME : ANJALI KUMARI REG NO : 24-HM-541				FATHER'S NAME : HET RAM						MOTHER'S NAME : LAKSHMI DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	22	11	30	28	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	6.89	-	A+	PASS
General Cartography (GEOGP102CC)	24	11	30	24	18	50	17	8	20	-	65	40	100	A+	7.00	6	42.00				
Administrative Theory (PUBA101A)	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Indian Administration (PUBA102A)	22	11	30	39	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	53	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	48	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
										-	MO/MM- 521 / 800					TC-44	TCP - 303.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670046 CAND.NAME : ANMOL KUMARI REG NO : 24-HM-605				FATHER'S NAME : SHIV SHANKAR PASWAN						MOTHER'S NAME : SANJU DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENVS2AE CC2)
Introduction to Physical Education (PED101TH)	19	11	30	18	18	50	-	-	-	-	37	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	34	18	50	-	-	-	-	53	32	80	A+	7.00	4	28.00				
Administrative Theory (PUBA101A)	21	11	30	43	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Indian Administration (PUBA102A)	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	51	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	28	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	22	11	30	30	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670047 CAND.NAME : ANMOL THAKUR REG NO : 24-HM-330				FATHER'S NAME : ASHWANI KUMAR						MOTHER'S NAME : LALITA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	28	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	7.05	-	A++	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	49	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Administrative Theory (PUBA101A)	27	11	30	41	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Indian Administration (PUBA102A)	29	11	30	44	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	49	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	28	11	30	46	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	51	40	100	-	-	-	-	51	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	50	25	70	-	-	-	-	70	40	100	A++	7.50	4	30.00				
										-	MO/MM- 539 / 800					TC-44	TCP - 310.00	Dis. -			
UNIV ROLL NO : 1242670048 CAND.NAME : ANUJ DHIMAN REG NO : 24-HM-334				FATHER'S NAME : SANJEEV KUMAR						MOTHER'S NAME : MANJU BALA						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	23	11	30	25*	25	70	-	-	-	8	48	40	100	C	5.00	6	30.00	5.41	-	B	PASS
General Cartography (GEOGP102CC)	24	11	30	18	18	50	13	8	20	-	55	40	100	B+	6.00	6	36.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	34	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	20	11	30	40	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	26	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										8	MO/MM- 401 / 800					TC-44	TCP - 238.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670049 CAND.NAME : DEEPALI REG NO : 24-HM-1093			FATHER'S NAME : BHAWANI SINGH							MOTHER'S NAME : ANJU BALA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	6.95	-	A+	PASS
Principles of Microeconomics-II (ECONA102)	27	11	30	30	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Hindi Sahitya ka Itihas (HIND102)	27	11	30	32	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Madhyaalin Hindi Kavita (HIND103)	27	11	30	51	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	46	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	44	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	45	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
										-	MO/MM- 528 / 800					TC-44	TCP - 306.00	Dis. -			
UNIV ROLL NO : 1242670050 CAND.NAME : DIKSHA KUMARI REG NO : 23-HM-931			FATHER'S NAME : SHALI RAM							MOTHER'S NAME : NIRMLA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	25	11	30	7	18	50	13	8	20	-	-	40	100	F	0.00	6	0.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	25	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670051 CAND.NAME : DOLMA CHHONZOM REG NO : 24-HM-720			FATHER'S NAME : THUKTAN CHHOTER							MOTHER'S NAME : TASHI LAMO							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Administrative Theory (PUBA101A)	20	11	30	45	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENVS2AE CC2)
Indian Administration (PUBA102A)	19	11	30	28	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Introduction to Travel & Tourism Management (TTMC101)	24	11	30	29	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Tourism Resources of India (TTMC102)	25	11	30	31	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	34	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	30	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670052 CAND.NAME : HARSHIT KAUSHAL REG NO : 24-HM-537			FATHER'S NAME : DESHVIR							MOTHER'S NAME : VIDYA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Administrative Theory (PUBA101A)	19	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Indian Administration (PUBA102A)	20	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Travel & Tourism Management (TTMC101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Tourism Resources of India (TTMC102)	24	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	22	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670053 CAND.NAME : IRFAN REG NO : 24-HM-677			FATHER'S NAME : NAZAMU DEEN							MOTHER'S NAME : NAZRA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	23	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	24	11	30	18	18	50	12	8	20	-	54	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	26	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670054 CAND.NAME : KARAN REG NO : 24-HM-1070			FATHER'S NAME : SWAMI PRAKASH							MOTHER'S NAME : SANAM DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	27	11	30	43	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00	6.39	-	A	PASS
Principles of Microeconomics-II (ECONA102)	27	11	30	44	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Physical Geography (GEOGP101CC)	23	11	30	37	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
General Cartography (GEOGP102CC)	23	11	30	25	18	50	15	8	20	-	63	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- 471 / 800					TC-44	TCP - 281.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670055 CAND.NAME : KRITIKA REG NO : 24-HM-527			FATHER'S NAME : ANIL KUMAR							MOTHER'S NAME : SUNEETA DEVI							Exam Type : FRESH								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Physical Geography (GEOGP101CC)	24	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				COMPAR TMENT TILL APRIL 2026 Paper Code (GEOGP1 01CC)				
General Cartography (GEOGP102CC)	24	11	30	18	18	50	12	8	20	-	54	40	100	B	5.50	6	33.00								
Administrative Theory (PUBA101A)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00								
Indian Administration (PUBA102A)	20	11	30	27	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00								
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00								
Prayojanmoolak Hindi (HIND101)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00								
Environment Science (ENVS2AECC2)	-	-	-	54	40	100	-	-	-	-	54	40	100	B	5.50	4	22.00								
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	4	20.00								
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -							
UNIV ROLL NO : 1242670056 CAND.NAME : KUMARI TANU SURENDRA SHARMA REG NO : 24-HM-1011			FATHER'S NAME : SURENDRA SHARMA							MOTHER'S NAME : URMILA SURENDRA SHARMA							Exam Type : FRESH								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Principles of Microeconomics-I (ECONA101)	27	11	30	52	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00	6.55	-	A+	PASS				
Principles of Microeconomics-II (ECONA102)	27	11	30	31	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00								
Physical Geography (GEOGP101CC)	23	11	30	28	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00								
General Cartography (GEOGP102CC)	24	11	30	25	18	50	12	8	20	-	61	40	100	A	6.50	6	39.00								
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	38	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00								
Prayojanmoolak Hindi (HIND101)	19	11	30	40	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00								
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00								
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	45	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00								
										-	MO/MM- 500 / 800					TC-44	TCP - 288.00	Dis. -							
UNIV ROLL NO : 1242670057 CAND.NAME : LATA KUMARI REG NO : 24-HM-660			FATHER'S NAME : KAMLESH KUMAR							MOTHER'S NAME : RANJU DEVI							Exam Type : FRESH								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Administrative Theory (PUBA101A)	18	11	30	28	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	FAIL				
Indian Administration (PUBA102A)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00								
Introduction to Travel & Tourism Management (TTMC101)	23	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00								
Tourism Resources of India (TTMC102)	21	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00								
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00								
Prayojanmoolak Hindi (HIND101)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00								
Environment Science (ENVS2AECC2)	-	-	-	24	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00								
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00								
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -							

UNIV ROLL NO : 1242670058 CAND.NAME : MONTY BHARDWAJ REG NO : 23-HM-860			FATHER'S NAME : KARAM CHAND							MOTHER'S NAME : NEELAM KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00	5.95	-	B+	PASS
Introduction to Physical Education (PED101TH)	20	11	30	19	18	50	-	-	-	-	39	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	23	11	30	33	18	50	-	-	-	-	56	32	80	A++	7.50	4	30.00				
Administrative Theory (PUBA101A)	20	11	30	33	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Indian Administration (PUBA102A)	23	11	30	32	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	25*	25	70	-	-	-	5	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	37	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	19	11	30	28	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										5	MO/MM- 431 / 800					TC-44	TCP - 262.00	Dis. -			

UNIV ROLL NO : 1242670059 CAND.NAME : MUSKAAN THAKUR REG NO : 24-HM-712			FATHER'S NAME : SARVJEET SINGH							MOTHER'S NAME : ANITA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	28	11	30	59	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00	7.66	-	O	PASS
Principles of Microeconomics-II (ECONA102)	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	29	11	30	59	25	70	-	-	-	-	88	40	100	O++	9.00	6	54.00				
Environment Science (ENVS2AECC2)	-	-	-	71	40	100	-	-	-	-	71	40	100	A++	7.50	4	30.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
										-	MO/MM- 581 / 800					TC-44	TCP - 337.00	Dis. -			

UNIV ROLL NO : 1242670060 CAND.NAME : NANCY REG NO : 24-HM-668			FATHER'S NAME : KULDEEP SINGH							MOTHER'S NAME : VEENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TILL APRIL 2026 Paper Code (ENG CE 101,GEOG P101CC)
General Cartography (GEOGP102CC)	25	11	30	20	18	50	12	8	20	-	57	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	21	11	30	26	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670061 CAND.NAME : NEERAJ SHARMA REG NO : 24-HM-376			FATHER'S NAME : RAJEEV SHARMA							MOTHER'S NAME : KUSHAM LATA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	22	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	23	11	30	11	18	50	13	8	20	-	-	40	100	F	0.00	6	0.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	30	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670062 CAND.NAME : NIDHI SHARMA REG NO : 24-HM-606			FATHER'S NAME : SHYAM LAL							MOTHER'S NAME : SAPNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	29	11	30	56	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00	8.00	-	O+	PASS
Madhyaalain Hindi Kavita (HIND103)	28	11	30	61	25	70	-	-	-	-	89	40	100	O++	9.00	6	54.00				
Administrative Theory (PUBA101A)	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Indian Administration (PUBA102A)	28	11	30	47	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	44	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	30	11	30	49	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Environment Science (ENVS2AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	53	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
										-	MO/MM- 607 / 800					TC-44	TCP - 352.00	Dis. -			
UNIV ROLL NO : 1242670063 CAND.NAME : NITIKA REG NO : 24-HM-375			FATHER'S NAME : RAJEEV KUMAR							MOTHER'S NAME : SEEMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (GEOGP1 01CC)
Principles of Microeconomics-II (ECONA102)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Physical Geography (GEOGP101CC)	24	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
General Cartography (GEOGP102CC)	24	11	30	21	18	50	11	8	20	-	56	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	29	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	40	25	70	-	-	-	-	60	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670064 CAND.NAME : PALAK REG NO : 24-HM-451			FATHER'S NAME : SOHAN SINGH							MOTHER'S NAME : ANU BALA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (ENG CE 101,ECON A102)
Principles of Microeconomics-II (ECONA102)	23	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Hindi Sahitya ka Itihas (HIND102)	27	11	30	27	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Madhykaalin Hindi Kavita (HIND103)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	32	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670065 CAND.NAME : PALVI KUMARI REG NO : 24-HM-1101			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : RAJNI THAKUR							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	8.09	-	O+	PASS
General Cartography (GEOGP102CC)	28	11	30	35	18	50	16	8	20	-	79	40	100	O	8.00	6	48.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	25	11	30	55	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
History of India from C. 300 - 1206 (HIST(A)102)	27	11	30	55	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	30	11	30	46	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Environment Science (ENVS2AECC2)	-	-	-	86	40	100	-	-	-	-	86	40	100	O++	9.00	4	36.00				
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	68	25	70	-	-	-	-	90	40	100	S	9.50	4	38.00				
										-	MO/MM- 629 / 800					TC-44	TCP - 356.00	Dis. -			
UNIV ROLL NO : 1242670066 CAND.NAME : PRIYNKA REG NO : 24-HM-1068			FATHER'S NAME : SUNIL KUMAR							MOTHER'S NAME : RANJNA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (ENG CE 101,GEOG P101CC)
General Cartography (GEOGP102CC)	25	11	30	19	18	50	12	8	20	-	56	40	100	B+	6.00	6	36.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	37	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	46	25	70	-	-	-	-	68	40	100	A+	7.00	4	28.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670067 CAND.NAME : PUSHINDER REG NO : 24-HM-582				FATHER'S NAME : RAKESH KUMAR						MOTHER'S NAME : SUSHMA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	21	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				COMPAR TMENT TILL APRIL 2026 Paper Code (HIST(A)1 02,GEOG P101CC)
General Cartography (GEOGP102CC)	23	11	30	18	18	50	12	8	20	-	53	40	100	B	5.50	6	33.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	33	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	28	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	44	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	26	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670068 CAND.NAME : RADHIKA THAKUR REG NO : 24-HM-1111				FATHER'S NAME : SANTOSH KUMAR						MOTHER'S NAME : SANJALI DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				FAIL
Introduction to Physical Education (PED101TH)	16	11	30	A	18	50	-	-	-	-	-	32	80	ABS	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	17	11	30	35	18	50	-	-	-	-	52	32	80	A+	7.00	4	28.00				
Administrative Theory (PUBA101A)	22	11	30	33	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Indian Administration (PUBA102A)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	26	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	21	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670069 CAND.NAME : RAVI KUMAR REG NO : 24-HM-634				FATHER'S NAME : AMARJEET						MOTHER'S NAME : SANJU DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,GEOG P101CC)
General Cartography (GEOGP102CC)	23	11	30	22	18	50	13	8	20	-	58	40	100	B+	6.00	6	36.00				
Administrative Theory (PUBA101A)	24	11	30	48	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Indian Administration (PUBA102A)	24	11	30	39	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	40	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	48	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670070 CAND.NAME : RIYA SHARMA REG NO : 24-HM-577				FATHER'S NAME : RAJESH KUMAR						MOTHER'S NAME : REENO DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	28	11	30	44	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	7.89	-	O	PASS
General Cartography (GEOGP102CC)	28	11	30	37	18	50	17	8	20	-	82	40	100	O+	8.50	6	51.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	24	11	30	54	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
History of India from C. 300 - 1206 (HIST(A)102)	25	11	30	55	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	49	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	47	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	70	40	100	-	-	-	-	70	40	100	A++	7.50	4	30.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	58	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- 598 / 800					TC-44	TCP - 347.00	Dis. -			
UNIV ROLL NO : 1242670071 CAND.NAME : ROHIT KUMAR REG NO : 24-HM-313				FATHER'S NAME : SATISH KUMAR						MOTHER'S NAME : AMITA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00	6.68	-	A+	PASS
General Cartography (GEOGP102CC)	24	11	30	30	18	50	16	8	20	-	70	40	100	A++	7.50	6	45.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	32	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Society in INdia (SOCL-A 102)	20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	41	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	24	11	30	53	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
										-	MO/MM- 507 / 800					TC-44	TCP - 294.00	Dis. -			
UNIV ROLL NO : 1242670072 CAND.NAME : SAHIL REG NO : 24-HM-348				FATHER'S NAME : SURENDER KUMAR						MOTHER'S NAME : SUSHMA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00	7.43	-	A++	PASS
Principles of Microeconomics-II (ECONA102)	28	11	30	38	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Physical Geography (GEOGP101CC)	22	11	30	47	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
General Cartography (GEOGP102CC)	23	11	30	40	18	50	15	8	20	-	78	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	48	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	51	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	75	40	100	-	-	-	-	75	40	100	O	8.00	4	32.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	50	25	70	-	-	-	-	68	40	100	A+	7.00	4	28.00				
										-	MO/MM- 578 / 800					TC-44	TCP - 327.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670073 CAND.NAME : SANEHA KUMARI REG NO : 24-HM-571			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : KUSHAM LATA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	25	11	30	25*	25	70	-	-	-	5	50	40	100	B	5.50	6	33.00	5.70	-	B+	PASS
General Cartography (GEOGP102CC)	25	11	30	19	18	50	13	8	20	-	57	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	21	11	30	29	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	31	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	70	40	100	-	-	-	-	70	40	100	A++	7.50	4	30.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										5	MO/MM- 432 / 800					TC-44	TCP - 251.00	Dis. -			
UNIV ROLL NO : 1242670074 CAND.NAME : SEEMA DEVI REG NO : 24-HM-676			FATHER'S NAME : NAROTTAM DASS							MOTHER'S NAME : ANJANA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	28	11	30	39	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00	7.82	-	O	PASS
Principles of Microeconomics-II (ECONA102)	28	11	30	50	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Hindi Sahitya ka Itihas (HIND102)	29	11	30	58	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00				
Madhyaalin Hindi Kavita (HIND103)	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	48	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	30	11	30	46	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Environment Science (ENVS2AECC2)	-	-	-	63	40	100	-	-	-	-	63	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	4	30.00				
										-	MO/MM- 597 / 800					TC-44	TCP - 344.00	Dis. -			
UNIV ROLL NO : 1242670075 CAND.NAME : SHAGUN KUMARI REG NO : 24-HM-715			FATHER'S NAME : SOMNATH							MOTHER'S NAME : MEENU DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	22	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Principles of Microeconomics-II (ECONA102)	25	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Hindi Sahitya ka Itihas (HIND102)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Madhyaalin Hindi Kavita (HIND103)	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670076 CAND.NAME : SHAHEEN RANA REG NO : 24-HM-579			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : RENU DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	7.14	-	A++	PASS
Principles of Microeconomics-II (ECONA102)	28	11	30	44	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	48	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	36	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	50	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	75	40	100	-	-	-	-	75	40	100	O	8.00	4	32.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	50	25	70	-	-	-	-	70	40	100	A++	7.50	4	30.00				
										-	MO/MM- 547 / 800					TC-44	TCP - 314.00	Dis. -			
UNIV ROLL NO : 1242670077 CAND.NAME : SHALI REG NO : 24-HM-680			FATHER'S NAME : PAPINDER KUMAR							MOTHER'S NAME : SANDESH KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	23	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (GEOGP1 01CC)
General Cartography (GEOGP102CC)	24	11	30	19	18	50	10	8	20	-	53	40	100	B	5.50	6	33.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	43	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	31	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670078 CAND.NAME : SHIVAM GIRI REG NO : 24-HM-663			FATHER'S NAME : KASAM GIRI							MOTHER'S NAME : NEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00	-	-	-	FAIL
Introduction to Physical Education (PED101TH)	16	11	30	10	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	29	18	50	-	-	-	-	47	32	80	B+	6.00	4	24.00				
Administrative Theory (PUBA101A)	21	11	30	45	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Indian Administration (PUBA102A)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	26	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	29	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670079 CAND.NAME : SHIVAM KUMAR REG NO : 24-HM-307			FATHER'S NAME : PARVEEN KUMAR							MOTHER'S NAME : SAINA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	20	11	30	27	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	45	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	23	11	30	41	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	37	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	28	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670080 CAND.NAME : SHIVANI REG NO : 24-HM-651			FATHER'S NAME : GIAN CHAND							MOTHER'S NAME : REENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	16	11	30	33	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00	5.76	-	B+	PASS
Madhyaqaalin Hindi Kavita (HIND103)	17	11	30	28	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	10	5	15	20	12	35	-	-	-	-	30	20	50	A	6.50	3	19.50				
Practical(Stage Performance) (MUSA 102PR)	10	5	15	-	-	-	27	14	35	-	37	20	50	A++	7.50	3	22.50				
Theory of Indian Music General & Biographies (MUSA 103TH)	11	5	15	19	12	35	-	-	-	-	30	20	50	A	6.50	3	19.50				
Practical(Viva-Voice) (MUSA 104PR)	10	5	15	-	-	-	28	14	35	-	38	20	50	O	8.00	3	24.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	31	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	33	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- 423 / 800					TC-44	TCP - 253.50	Dis. -			
UNIV ROLL NO : 1242670081 CAND.NAME : SHUBHAM SHARMA REG NO : 24-HM-333			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : KIRAN SHARMA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	21	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	23	11	30	24	18	50	12	8	20	-	59	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	26	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	24	11	30	27	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	26	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670082 CAND.NAME : SONIKA THAKUR REG NO : 24-HM-625			FATHER'S NAME : ASHOK KUMAR							MOTHER'S NAME : PUNITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG 102,ECON A102)
Principles of Microeconomics-II (ECONA102)	26	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	25	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	42	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	51	40	100	-	-	-	-	51	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	44	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670083 CAND.NAME : SONIYA REG NO : 24-HM-438			FATHER'S NAME : KAMLESH KUMAR							MOTHER'S NAME : NIRMLA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00	-	-	-	FAIL
Madhykaalin Hindi Kavita (HIND103)	27	11	30	30	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	28	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670084 CAND.NAME : TAMANNA DEVI REG NO : 24-HM-1008			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : SAROJ KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	20	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhykaalin Hindi Kavita (HIND103)	22	11	30	42	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Administrative Theory (PUBA101A)	24	11	30	32	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Indian Administration (PUBA102A)	20	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	26	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	31	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670085 CAND.NAME : TAMANNA KUMARI REG NO : 23-HM-646			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : MEENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPC101)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPC102)	26	11	30	30	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00				
Introduction to Physical Education (PED101TH)	15	11	30	8	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	20	11	30	30	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670086 CAND.NAME : TANUJA THAKUR REG NO : 24-HM-1109			FATHER'S NAME : GOPAL DASS							MOTHER'S NAME : ASHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00	-	-	-	FAIL
Introduction to Physical Education (PED101TH)	15	11	30	A	18	50	-	-	-	-	-	32	80	ABS	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	32	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00				
Administrative Theory (PUBA101A)	22	11	30	28	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Indian Administration (PUBA102A)	22	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	32	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	22	11	30	27	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670087 CAND.NAME : TASHI YANGZOM REG NO : 23-HM-1017			FATHER'S NAME : CHAMPA ANGDUI							MOTHER'S NAME : NORZOM ANGMO							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Administrative Theory (PUBA101A)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIND104)
Indian Administration (PUBA102A)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Introduction to Travel & Tourism Management (TTMC101)	23	11	30	28	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Tourism Resources of India (TTMC102)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670088 CAND.NAME : UDEETA THAKUR REG NO : 23-HM-831			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : PRAVEENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	21	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	23	11	30	18	18	50	9	8	20	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	24	11	30	40	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670089 CAND.NAME : UTTKRISHT BHANDARI REG NO : 24-HM-689			FATHER'S NAME : PURAN SINGH							MOTHER'S NAME : GEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	23	11	30	37	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00	6.41	-	A	PASS
General Cartography (GEOGP102CC)	23	11	30	24	18	50	13	8	20	-	60	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	37	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Society in India (SOCL-A 102)	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	27	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- 475 / 800					TC-44	TCP - 282.00	Dis. -			
UNIV ROLL NO : 1242670090 CAND.NAME : VANSHIKA SHARMA REG NO : 24-HM-529			FATHER'S NAME : ASHWANI KUMAR							MOTHER'S NAME : BANDNA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENVS2AE CC2,GEO GP101CC)
General Cartography (GEOGP102CC)	24	11	30	18	18	50	12	8	20	-	54	40	100	B	5.50	6	33.00				
Administrative Theory (PUBA101A)	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Indian Administration (PUBA102A)	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Writing Skills (ENG AECC 104)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
Environment Science (ENVS2AECC2)	-	-	-	31	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670091 CAND.NAME : VIJAY KUMAR REG NO : 24-HM-443			FATHER'S NAME : NARESH KUMAR							MOTHER'S NAME : MEENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	23	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	24	11	30	A	18	50	11	8	20	-	-	40	100	ABS	0.00	6	0.00				
Administrative Theory (PUBA101A)	19	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Indian Administration (PUBA102A)	20	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	A	40	100	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670092 CAND.NAME : ABHIJAI KHATRI REG NO : 23-HM-359			FATHER'S NAME : PURAN CHAND							MOTHER'S NAME : TARA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (PED101T H,ENVS2A ECC2)
Introduction to Radio and TV (BJMCPAC102)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Introduction to Physical Education (PED101TH)	16	11	30	11	18	50	-	-	-	-	32	80	F	0.00	4	0.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	28	18	50	-	-	-	-	46	32	80	B+	6.00	4	24.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	30	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	29	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	23	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670093 CAND.NAME : ABHINAV REG NO : 24-HM-664			FATHER'S NAME : KASHMIR SINGH							MOTHER'S NAME : NEELAM							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	13	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	12	11	30	43	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Administrative Theory (PUBA101A)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Indian Administration (PUBA102A)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670094 CAND.NAME : ABHISHEK DHIMAN REG NO : 24-HM-1007			FATHER'S NAME : NARENDER KUMAR							MOTHER'S NAME : REENU KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (SKT- AECC- 104)
Introduction to Physical Education (PED101TH)	15	11	30	25	18	50	-	-	-	-	40	32	80	B	5.50	4	22.00	-	-	-	
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00	-	-	-	
Olympic Movement and Organisation of Tournaments (PED102TH)	21	11	30	35	18	50	-	-	-	-	56	32	80	A++	7.50	4	30.00	-	-	-	
Administrative Theory (PUBA101A)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00	-	-	-	
Indian Administration (PUBA102A)	19	11	30	27	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	27	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	-	-	-	
Prayojanmoolak Hindi (HIND101)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00	-	-	-	
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00	-	-	-	
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00	-	-	-	
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670095 CAND.NAME : AKANKSHA DAROACH REG NO : 24-HM-578			FATHER'S NAME : RAKESH CHAND							MOTHER'S NAME : NEELAM KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	33	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Introduction to Radio and TV (BJMCPAC102)	25	11	30	46	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00	-	-	-	
Hindi Sahitya ka Itihas (HIND102)	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	-	-	-	
Madhya kaalin Hindi Kavita (HIND103)	28	11	30	50	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00	-	-	-	
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Prayojanmoolak Hindi (HIND101)	19	11	30	39	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	-	-	-	
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00	-	-	-	
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	40	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00	-	-	-	
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670096 CAND.NAME : AKSHAY REG NO : 24-HM-670			FATHER'S NAME : MANOHAR LAL							MOTHER'S NAME : KANCHNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (SKT- AECC- 104)
Introduction to Physical Education (PED101TH)	18	11	30	21	18	50	-	-	-	-	39	32	80	C	5.00	4	20.00	-	-	-	
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00	-	-	-	
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	29	18	50	-	-	-	-	44	32	80	B+	6.00	4	24.00	-	-	-	
Administrative Theory (PUBA101A)	17	11	30	29	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	
Indian Administration (PUBA102A)	17	11	30	29	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	33	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	-	-	-	
Prayojanmoolak Hindi (HIND101)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00	-	-	-	
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00	-	-	-	
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670097 CAND.NAME : AKSHITA CHAUHAN REG NO : 24-HM-737			FATHER'S NAME : SUSHIL KUMAR							MOTHER'S NAME : RACHNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	27	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Introduction to Radio and TV (BJMCPAC102)	24	11	30	34	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Hindi Sahitya ka Itihas (HIND102)	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Madhykaalin Hindi Kavita (HIND103)	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	9	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	19	11	30	40	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670098 CAND.NAME : AMIT THAKUR REG NO : 24-HM-713			FATHER'S NAME : SATISH KUMAR							MOTHER'S NAME : SEEMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	17	11	30	39	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	6.02	-	A	PASS
History of India from C. 300 - 1206 (HIST(A)102)	23	11	30	35	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	22	11	30	32	18	50	-	-	-	-	54	32	80	A+	7.00	4	28.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	37	18	50	-	-	-	-	56	32	80	A++	7.50	4	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25*	25	70	-	-	-	5	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										5	MO/MM- 448 / 800					TC-44	TCP - 265.00	Dis. -			
UNIV ROLL NO : 1242670099 CAND.NAME : ANCHAL THAKUR REG NO : 24-HM-1071			FATHER'S NAME : ASHOK KUMAR							MOTHER'S NAME : SUMNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	25	11	30	30	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Introduction to Physical Education (PED101TH)	22	11	30	A	18	50	-	-	-	-	-	32	80	ABS	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	16	11	30	18	18	50	-	-	-	-	34	32	80	C	5.00	4	20.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	26	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	28	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670100 CAND.NAME : ANISHA KUMARI REG NO : 24-HM-1056			FATHER'S NAME : RAMESH CHAND							MOTHER'S NAME : USHA RANI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	14	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	20	11	30	41	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	21	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	21	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670101 CAND.NAME : ANITA KUMARI REG NO : 24-HM-434			FATHER'S NAME : CHAIN SINGH							MOTHER'S NAME : LAL DEI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00	-	-	-	-
Introduction to Physical Education (PED101TH)	15	11	30	A	18	50	-	-	-	-	-	32	80	ABS	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	22	11	30	24	18	50	-	-	-	-	46	32	80	B+	6.00	4	24.00				
Administrative Theory (PUBA101A)	22	11	30	29	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Indian Administration (PUBA102A)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	25	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	15	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670102 CAND.NAME : ARYAN RANA REG NO : 24-HM-437			FATHER'S NAME : KAMAL JEET							MOTHER'S NAME : VIDYA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	25	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00	-	-	-	FAIL
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00				
Introduction to Physical Education (PED101TH)	15	11	30	4	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	22	11	30	23	18	50	-	-	-	-	45	32	80	B+	6.00	4	24.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	29	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	21	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670103 CAND.NAME : AYUSH RANA REG NO : 24-HM-730			FATHER'S NAME : VINOD KUMAR							MOTHER'S NAME : SUDHA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00	6.18	-	A	PASS
Introduction to Physical Education (PED101TH)	15	11	30	26	18	50	-	-	-	-	41	32	80	B	5.50	4	22.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	34	18	50	-	-	-	-	49	32	80	A	6.50	4	26.00				
Administrative Theory (PUBA101A)	22	11	30	28	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Indian Administration (PUBA102A)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	52	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Writing Skills (ENG AECC 104)	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
										-	MO/MM- 452 / 800					TC-44	TCP - 272.00	Dis. -			
UNIV ROLL NO : 1242670104 CAND.NAME : AYUSH SHARMA REG NO : 24-HM-673			FATHER'S NAME : MOHINDER KUMAR							MOTHER'S NAME : MAMTA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Introduction to Physical Education (PED101TH)	14	11	30	15	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	14	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	17	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	18	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670106 CAND.NAME : ESHITA REG NO : 24-HM-1063			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : REKHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,SOCL -A 101)
Madhyaalain Hindi Kavita (HIND103)	22	11	30	34	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670108 CAND.NAME : JYOTI CHAUHAN REG NO : 24-HM-531			FATHER'S NAME : BALBIR SINGH							MOTHER'S NAME : REKHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	16	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	16	11	30	26	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	25	11	30	28	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670109 CAND.NAME : JYOTI RANA REG NO : 24-HM-560			FATHER'S NAME : PARVEEN KUMAR							MOTHER'S NAME : VEENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,HIND1 02)
Introduction to Radio and TV (BJMCPAC102)	23	11	30	34	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Hindi Sahitya ka Itihas (HIND102)	22	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Madhya kaalin Hindi Kavita (HIND103)	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670110 CAND.NAME : KARTIK THAKUR REG NO : 24-HM-631			FATHER'S NAME : SANTOSH KUMAR							MOTHER'S NAME : KIRAN KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (PED101T H,ENG CE 101)
Introduction to Radio and TV (BJMCPAC102)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	14	11	30	4	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	31	18	50	-	-	-	-	49	32	80	A	6.50	4	26.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	36	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	28	11	30	26	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670111 CAND.NAME : KASHISH REG NO : 24-HM-566			FATHER'S NAME : PRADEEP KUMAR							MOTHER'S NAME : REKHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	26	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIND102)
Madhyaakalin Hindi Kavita (HIND103)	27	11	30	42	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	20	11	30	41	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	25	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	21	11	30	40	25	70	-	-	-	-	61	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670112 CAND.NAME : KESHAV GAUTAM REG NO : 24-HM-373			FATHER'S NAME : PRITHI CHAND							MOTHER'S NAME : MADHU BALA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00				
Introduction to Physical Education (PED101TH)	16	11	30	10	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	37	18	50	-	-	-	-	56	32	80	A++	7.50	4	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	30	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	32	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670113 CAND.NAME : KHUSHBOO REG NO : 24-HM-706			FATHER'S NAME : RAMESH KUMAR							MOTHER'S NAME : NEENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	18	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Principles of Microeconomics-II (ECONA102)	18	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Hindi Sahitya ka Itihas (HIND102)	20	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Madhyaakalin Hindi Kavita (HIND103)	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	4	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	27	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670114 CAND.NAME : MAHAK MANKOTIA REG NO : 24-HM-683			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : NEHA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	16	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhyaqaalin Hindi Kavita (HIND103)	20	11	30	33	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	23	11	30	31	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	19	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670115 CAND.NAME : MOHIT REG NO : 23-HM-312			FATHER'S NAME : MAN SINGH							MOTHER'S NAME : SUMAN DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	28	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	39	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	15	11	30	15	18	50	-	-	-	-	32	80	F	0.00	4	0.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	34	18	50	-	-	-	-	49	32	80	A	6.50	4	26.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	27	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	30	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	18	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670116 CAND.NAME : MUSKAN REG NO : 24-HM-559			FATHER'S NAME : PARMIL KUMAR							MOTHER'S NAME : MEENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	29	11	30	51	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00	6.93	-	A+	PASS
Madhyaqaalin Hindi Kavita (HIND103)	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	36	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Society in INdia (SOCL-A 102)	21	11	30	43	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	24	11	30	39	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	4	30.00				
										-	MO/MM- 529 / 800					TC-44	TCP - 305.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670117 CAND.NAME : NAKSHATRA REG NO : 23-HM-302			FATHER'S NAME : AJAY KUMAR							MOTHER'S NAME : RAMANA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	18	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	20	11	30	34	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	22	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	14	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670118 CAND.NAME : NANCY REG NO : 24-HM-702			FATHER'S NAME : RAKESH KUMAR KATTNA							MOTHER'S NAME : ANITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	16	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	23	11	30	46	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	23	11	30	43	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	30	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670120 CAND.NAME : NEELAM THAKUR REG NO : 23-HM-651			FATHER'S NAME : RAMESH CHAND							MOTHER'S NAME : VEENA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	24	11	30	33	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	16	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670121 CAND.NAME : NIKHIL MANDHOTRA REG NO : 23-HM-282			FATHER'S NAME : BIAS DEV							MOTHER'S NAME : PRAVEEN KUMARI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Principles of Communication (BJMCPAC101)	25	11	30	26	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	FAIL		
Introduction to Radio and TV (BJMCPAC102)	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00						
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00						
Introduction to Physical Education (PED101TH)	15	11	30	14	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00						
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00						
Olympic Movement and Organisation of Tournaments (PED102TH)	17	11	30	36	18	50	-	-	-	-	53	32	80	A+	7.00	4	28.00						
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00						
Prayojanmoolak Hindi (HIND101)	12	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
Environment Science (ENV52AECC2)	-	-	-	18	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00						
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -					
UNIV ROLL NO : 1242670122 CAND.NAME : NITESH KUMAR REG NO : 24-HM-593			FATHER'S NAME : ROHIT KUMAR							MOTHER'S NAME : ANITA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Hindi Sahitya ka Itihas (HIND102)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00	5.89	-	B+	PASS		
Madhyaqaalin Hindi Kavita (HIND103)	23	11	30	39	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00						
Administrative Theory (PUBA101A)	24	11	30	27	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00						
Indian Administration (PUBA102A)	20	11	30	37	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00						
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00						
Prayojanmoolak Hindi (HIND101)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00						
Environment Science (ENV52AECC2)	-	-	-	52	40	100	-	-	-	-	52	40	100	B	5.50	4	22.00						
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00						
										-	MO/MM- 437 / 800					TC-44	TCP - 259.00	Dis. -					
UNIV ROLL NO : 1242670124 CAND.NAME : PALAK REG NO : 24-HM-728			FATHER'S NAME : VIKRAM SINGH							MOTHER'S NAME : SEEMA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Hindi Sahitya ka Itihas (HIND102)	16	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL		
Madhyaqaalin Hindi Kavita (HIND103)	20	11	30	41	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00						
Introduction to Sociology (SOCL-A 101)	22	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
Society in India (SOCL-A 102)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00						
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
Prayojanmoolak Hindi (HIND101)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00						
Environment Science (ENV52AECC2)	-	-	-	22	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00						
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00						
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -					

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670125 CAND.NAME : PALAK JASWAL REG NO : 24-HM-701			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : LATA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	28	11	30	25	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				COMPAR TMENT TILL APRIL 2026 Paper Code (SOCL-A 101,ENVS 2AECC2)
Madhya kaalin Hindi Kavita (HIND103)	27	11	30	36	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	28	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	39	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670126 CAND.NAME : PALAK PATHANIA REG NO : 23-HM-707			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : PUSHPA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				FAIL
Madhya kaalin Hindi Kavita (HIND103)	24	11	30	33	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	23	11	30	39	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	37	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	22	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670127 CAND.NAME : PALAVI REG NO : 24-HM-956			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : SUSHMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	23	11	30	39	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Madhya kaalin Hindi Kavita (HIND103)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in INdia (SOCL-A 102)	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	27	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	35	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670128 CAND.NAME : PAYAL REG NO : 24-HM-648			FATHER'S NAME : DESH RAJ							MOTHER'S NAME : PUSHPA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	20	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	22	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	20	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	26	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670129 CAND.NAME : PAYAL THAKUR REG NO : 24-HM-674			FATHER'S NAME : NANAK CHAND							MOTHER'S NAME : NISHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	27	11	30	49	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00	6.55	-	A+	PASS
Madhya kaalin Hindi Kavita (HIND103)	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	27	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Society in INdia (SOCL-A 102)	21	11	30	48	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	47	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
										-	MO/MM- 500 / 800					TC-44	TCP - 288.00	Dis. -			
UNIV ROLL NO : 1242670130 CAND.NAME : POOJA DEVI REG NO : 24-HM-615			FATHER'S NAME : SURESH KUMAR							MOTHER'S NAME : ASHA RANI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,SOCL -A 101)
Madhya kaalin Hindi Kavita (HIND103)	25	11	30	29	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	22	11	30	37	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	38	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	31	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670131 CAND.NAME : POONAM REG NO : 23-HM-648			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : TRIPTA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	18	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	20	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	24	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670132 CAND.NAME : PRACHI SHARMA REG NO : 22-HM-1152			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : VEENA SHARMA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	19	11	30	27	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Madhya kaalin Hindi Kavita (HIND103)	20	11	30	34	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	29	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670133 CAND.NAME : PRANAV CHANDEL REG NO : 24-HM-1049			FATHER'S NAME : PARVEEN SINGH							MOTHER'S NAME : NEERAJ RANA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00	6.18	-	A	PASS
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Introduction to Physical Education (PED101TH)	15	11	30	25	18	50	-	-	-	-	40	32	80	B	5.50	4	22.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	32	18	50	-	-	-	-	47	32	80	B+	6.00	4	24.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	45	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Writing Skills (ENG AECC 104)	27	11	30	39	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
										-	MO/MM- 438 / 800					TC-44	TCP - 272.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670134 CAND.NAME : RITIKA REG NO : 24-HM-655			FATHER'S NAME : HEM RAJ							MOTHER'S NAME : KESRI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	26	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Hindi Sahitya ka Itihas (HIND102)	17	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Madhyaqaalin Hindi Kavita (HIND103)	17	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	21	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670135 CAND.NAME : RITIKA REG NO : 24-HM-985			FATHER'S NAME : RAVI KUMAR							MOTHER'S NAME : RAMILA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	23	11	30	28	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ECONA1 02)
Principles of Microeconomics-II (ECONA102)	24	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Hindi Sahitya ka Itihas (HIND102)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Madhyaqaalin Hindi Kavita (HIND103)	21	11	30	38	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	35	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	56	40	100	-	-	-	-	56	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	32	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670136 CAND.NAME : RITIKA THAKUR REG NO : 24-HM-590			FATHER'S NAME : RAVI KUMAR							MOTHER'S NAME : KAVITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	25	11	30	35	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00	-	-	-	FAIL
Principles of Microeconomics-II (ECONA102)	25	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Hindi Sahitya ka Itihas (HIND102)	23	11	30	4	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Madhyaqaalin Hindi Kavita (HIND103)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670137 CAND.NAME : RIYA REG NO : 24-HM-602				FATHER'S NAME : SATISH KUMAR						MOTHER'S NAME : KIRAN BALA						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	27	11	30	32	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	6.02	-	A	PASS
Introduction to Radio and TV (BJMCPAC102)	26	11	30	43	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Hindi Sahitya ka Itihas (HIND102)	22	11	30	35	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Madhyaalin Hindi Kavita (HIND103)	28	11	30	45	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- 442 / 800					TC-44	TCP - 265.00	Dis. -			
UNIV ROLL NO : 1242670138 CAND.NAME : RIYA REG NO : 24-HM-585				FATHER'S NAME : RANBIR SINGH						MOTHER'S NAME : HEMLATA						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	27	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	25	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Hindi Sahitya ka Itihas (HIND102)	20	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Madhyaalin Hindi Kavita (HIND103)	24	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	24	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670139 CAND.NAME : RIYA GATHANIA REG NO : 24-HM-611				FATHER'S NAME : SUNIL KUMAR						MOTHER'S NAME : REETA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	25	11	30	28	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	6.16	-	A	PASS
Introduction to Radio and TV (BJMCPAC102)	25	11	30	35	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Introduction to Physical Education (PED101TH)	15	11	30	26	18	50	-	-	-	-	41	32	80	B	5.50	4	22.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	20	11	30	31	18	50	-	-	-	-	51	32	80	A	6.50	4	26.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25*	25	70	-	-	-	5	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	25	11	30	38	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	26	11	30	26	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										5	MO/MM- 447 / 800					TC-44	TCP - 271.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670140 CAND.NAME : RIYA THAKUR REG NO : 24-HM-710	FATHER'S NAME : SANJAY KUMAR									MOTHER'S NAME : SUNITA DEVI									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	Paper Name	IA			TE			PR			GR	Tot.							Grd.	GP	CR	CP (CR*GP)
M.O		M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O		M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	22	11	30	39	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	7.20	-	A++	PASS	
History of India from C. 300 - 1206 (HIST(A)102)	23	11	30	39	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Introduction to Physical Education (PED101TH)	20	11	30	37	18	50	-	-	-	-	57	32	80	A++	7.50	4	30.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	24	11	30	34	18	50	-	-	-	-	58	32	80	A++	7.50	4	30.00					
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00					
Prayojanmoolak Hindi (HIND101)	30	11	30	43	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00					
Environment Science (ENV52AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00					
										-	MO/MM- 539 / 800					TC-44	TCP - 317.00	Dis. -				
UNIV ROLL NO : 1242670141 CAND.NAME : ROHAN KUMAR REG NO : 24-HM-390	FATHER'S NAME : SUBHASH CHAND									MOTHER'S NAME : MANJU DEVI									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	Paper Name	IA			TE			PR			GR	Tot.							Grd.	GP	CR	CP (CR*GP)
M.O		M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O		M.P.M	M.M									
Principles of Communication (BJMCPAC101)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	-	-	-	FAIL	
Introduction to Radio and TV (BJMCPAC102)	23	11	30	41	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00					
Introduction to Physical Education (PED101TH)	16	11	30	8	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	29	18	50	-	-	-	-	48	32	80	A	6.50	4	26.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Environment Science (ENV52AECC2)	-	-	-	29	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	4	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				
UNIV ROLL NO : 1242670142 CAND.NAME : RUCHITA SHARMA REG NO : 24-HM-1108	FATHER'S NAME : ASHOK KUMAR									MOTHER'S NAME : ANJNA SHARMA									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	Paper Name	IA			TE			PR			GR	Tot.							Grd.	GP	CR	CP (CR*GP)
M.O		M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O		M.P.M	M.M									
Principles of Communication (BJMCPAC101)	23	11	30	30	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	-	-	-	FAIL	
Introduction to Radio and TV (BJMCPAC102)	23	11	30	44	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00					
Hindi Sahitya ka Itihas (HIND102)	17	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Madhyaqaalin Hindi Kavita (HIND103)	21	11	30	38	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00					
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	19	11	30	34	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00					
Environment Science (ENV52AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00					
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670143 CAND.NAME : SACHIN KUMAR REG NO : 24-HM-310			FATHER'S NAME : RANJEET KUMAR							MOTHER'S NAME : SUMAN BALA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	16	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhyaqaalin Hindi Kavita (HIND103)	16	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	21	11	30	38	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670144 CAND.NAME : SAHIL KUMAR REG NO : 24-HM-1006			FATHER'S NAME : HAWA SINGH							MOTHER'S NAME : SUSHMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (PED101T H,ENG CE 101)
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	31	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Introduction to Physical Education (PED101TH)	22	11	30	12	18	50	-	-	-	-	32	80	F	0.00	4	0.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	29	18	50	-	-	-	-	47	32	80	B+	6.00	4	24.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	13	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670145 CAND.NAME : SAKSHI REG NO : 24-HM-1024			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : SATYA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	37	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,HIND1 01)
Introduction to Radio and TV (BJMCPAC102)	23	11	30	47	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Hindi Sahitya ka Itihas (HIND102)	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Madhyaqaalin Hindi Kavita (HIND103)	28	11	30	33	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	14	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	16	11	30	19	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670146 CAND.NAME : SAKSHI SHARMA REG NO : 24-HM-542			FATHER'S NAME : JAI KUMAR							MOTHER'S NAME : SUNITA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	29	11	30	41	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00	8.16	-	O+	PASS
Principles of Microeconomics-II (ECONA102)	29	11	30	41	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Hindi Sahitya ka Itihas (HIND102)	29	11	30	56	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
Madhyaalin Hindi Kavita (HIND103)	29	11	30	66	25	70	-	-	-	-	95	40	100	S+	10.00	6	60.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	30	11	30	50	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Environment Science (ENVS2AECC2)	-	-	-	79	40	100	-	-	-	-	79	40	100	O	8.00	4	32.00				
Hindi Bhasha aur Sampreshan (HIND104)	25	11	30	49	25	70	-	-	-	-	74	40	100	A++	7.50	4	30.00				
										-	MO/MM- 618 / 800					TC-44	TCP - 359.00	Dis. -			
UNIV ROLL NO : 1242670147 CAND.NAME : SAMIKSHA REG NO : 24-HM-719			FATHER'S NAME : SUSHIL KUMAR							MOTHER'S NAME : RACHNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	34	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00	6.43	-	A	PASS
Introduction to Radio and TV (BJMCPAC102)	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Hindi Sahitya ka Itihas (HIND102)	28	11	30	40	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Madhyaalin Hindi Kavita (HIND103)	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	32	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	37	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	52	40	100	-	-	-	-	52	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	37	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
										-	MO/MM- 486 / 800					TC-44	TCP - 283.00	Dis. -			
UNIV ROLL NO : 1242670148 CAND.NAME : SANJANA KUMARI REG NO : 24-HM-736			FATHER'S NAME : SURESH KUMAR							MOTHER'S NAME : VEENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00	6.86	-	A+	PASS
Introduction to Radio and TV (BJMCPAC102)	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Hindi Sahitya ka Itihas (HIND102)	29	11	30	48	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Madhyaalin Hindi Kavita (HIND103)	27	11	30	49	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	39	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	61	40	100	-	-	-	-	61	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
										-	MO/MM- 520 / 800					TC-44	TCP - 302.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670149 CAND.NAME : SANTOSH KUMARI REG NO : 24-HM-570			FATHER'S NAME : RAGHUBIR SINGH							MOTHER'S NAME : SUMNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Hindi Sahitya ka Itihas (HIND102)	18	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Madhykaalin Hindi Kavita (HIND103)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	16	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670150 CAND.NAME : SAPNA REG NO : 24-HM-652			FATHER'S NAME : GOPAL							MOTHER'S NAME : ANITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	28	11	30	53	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00	6.18	-	A	PASS
Madhykaalin Hindi Kavita (HIND103)	26	11	30	44	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	27	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	21	11	30	35	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- 456 / 800					TC-44	TCP - 272.00	Dis. -			
UNIV ROLL NO : 1242670151 CAND.NAME : SAPNA BHATIA REG NO : 24-HM-628			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : SIMARO DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	20	11	30	32	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	-	-	-	FAIL
Madhykaalin Hindi Kavita (HIND103)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	20	11	30	37	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	16	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670152 CAND.NAME : SEEMA SHARMA REG NO : 24-HM-1043			FATHER'S NAME : RAJENDER KUMAR							MOTHER'S NAME : REENU SHAMRA							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	28	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00	6.14	-	A	PASS		
History of India from C. 300 - 1206 (HIST(A)102)	16	11	30	41	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00						
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00						
Introduction to Physical Education (PED101TH)	16	11	30	19	18	50	-	-	-	-	35	32	80	C	5.00	4	20.00						
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00						
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	41	18	50	-	-	-	-	59	32	80	A++	7.50	4	30.00						
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	34	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00						
Prayojanmoolak Hindi (HIND101)	12	11	30	45	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00						
Environment Science (ENV2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	15	11	30	44	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00						
										-	MO/MM- 444 / 800					TC-44	TCP - 270.00	Dis. -					
UNIV ROLL NO : 1242670153 CAND.NAME : SHAILJA KUMARI REG NO : 24-HM-1118			FATHER'S NAME : SUBHASH CHAND							MOTHER'S NAME : SHEELA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Principles of Communication (BJMCPAC101)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	-	-	-	FAIL		
Introduction to Radio and TV (BJMCPAC102)	24	11	30	41	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00						
Hindi Sahitya ka Itihas (HIND102)	18	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
Madhyaqaalin Hindi Kavita (HIND103)	23	11	30	26	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00						
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	25	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00						
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00						
Environment Science (ENV2AECC2)	-	-	-	30	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00						
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00						
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -					
UNIV ROLL NO : 1242670154 CAND.NAME : SHANVI THAKUR REG NO : 24-HM-556			FATHER'S NAME : MANOJ KUMAR							MOTHER'S NAME : SUSHMA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
History of India from the Earliest Times up to 300 CE (HIST(A)101)	23	11	30	35	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	6.25	-	A	PASS		
History of India from C. 300 - 1206 (HIST(A)102)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00						
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00						
Introduction to Physical Education (PED101TH)	20	11	30	23	18	50	-	-	-	-	43	32	80	B	5.50	4	22.00						
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00						
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	36	18	50	-	-	-	-	55	32	80	A+	7.00	4	28.00						
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00						
Prayojanmoolak Hindi (HIND101)	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00						
Environment Science (ENV2AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	21	11	30	43	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00						
										-	MO/MM- 470 / 800					TC-44	TCP - 275.00	Dis. -					

UNIV ROLL NO : 1242670155 CAND.NAME : SHIVANG REG NO : 24-HM-446				FATHER'S NAME : RAJESH KUMAR						MOTHER'S NAME : SEEMA KUMARI						Exam Type : FRESH								
Paper Name				IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
				M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)				15	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				FAIL
History of India from C. 300 - 1206 (HIST(A)102)				15	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)				-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)				15	11	30	8	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)				-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00				
Olympic Movement and Organisation of Tournaments (PED102TH)				20	11	30	28	18	50	-	-	-	-	48	32	80	A	6.50	4	26.00				
English-1 Core English (Compulsory) (ENG CE 101)				25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)				15	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENV2AECC2)				-	-	-	23	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)				21	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
											-	MO/MM- - / 800					TC-44	TCP --	Dis. -					
UNIV ROLL NO : 1242670156 CAND.NAME : SHIVANI REG NO : 24-HM-573				FATHER'S NAME : RAJ KUMAR						MOTHER'S NAME : RACHNA DEVI						Exam Type : FRESH								
Paper Name				IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
				M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)				23	11	30	31	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				COMPARTMENT TILL APRIL 2026 Paper Code (PED101TH)
Introduction to Radio and TV (BJMCPAC102)				23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Athletics and Games-1 (PED101PR)				-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Introduction to Physical Education (PED101TH)				25	11	30	A	18	50	-	-	-	-	-	32	80	ABS	0.00	4	0.00				
Athletics and Game-2 (PED102PR)				-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)				25	11	30	33	18	50	-	-	-	-	58	32	80	A++	7.50	4	30.00				
English-1 Core English (Compulsory) (ENG CE 101)				26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)				26	11	30	30	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENV2AECC2)				-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)				18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
											-	MO/MM- - / 800					TC-44	TCP --	Dis. -					
UNIV ROLL NO : 1242670157 CAND.NAME : SHIVANI REG NO : 24-HM-1026				FATHER'S NAME : SURESH KUMAR						MOTHER'S NAME : REENA DEVI						Exam Type : FRESH								
Paper Name				IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
				M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)				16	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				FAIL
Madhya kaal in Hindi Kavita (HIND103)				19	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)				23	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)				21	11	30	36	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)				27	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)				15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENV2AECC2)				-	-	-	30	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)				18	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
											-	MO/MM- - / 800					TC-44	TCP --	Dis. -					

UNIV ROLL NO : 1242670158 CAND.NAME : SHIVANI KUMARI REG NO : 24-HM-349			FATHER'S NAME : BHUMI DEV							MOTHER'S NAME : SUNITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMPAC101)	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (PED101T H)
Introduction to Radio and TV (BJMPAC102)	25	11	30	44	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Introduction to Physical Education (PED101TH)	23	11	30	A	18	50	-	-	-	-	-	32	80	ABS	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	31	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	36	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670159 CAND.NAME : SHIVANI SHARMA REG NO : 24-HM-637			FATHER'S NAME : ANUP SHARMA							MOTHER'S NAME : SEEMA SHARMA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	16	11	30	2	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhyaalin Hindi Kavita (HIND103)	19	11	30	26	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	11	5	15	12	12	35	-	-	-	-	23	20	50	C	5.00	3	15.00				
Practical(Stage Performance) (MUSA 102PR)	11	5	15	-	-	-	28	14	35	-	39	20	50	O	8.00	3	24.00				
Theory of Indian Music General & Biographies (MUSA 103TH)	11	5	15	6	12	35	-	-	-	-	-	20	50	F	0.00	3	0.00				
Practical(Viva-Voice) (MUSA 104PR)	11	5	15	-	-	-	28	14	35	-	39	20	50	O	8.00	3	24.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670160 CAND.NAME : SHRUTI REG NO : 24-HM-1009			FATHER'S NAME : SANJEEV BAKSHI							MOTHER'S NAME : ARTI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIND101, SKT- AECC- 104)
Introduction to Physical Education (PED101TH)	15	11	30	18	18	50	-	-	-	-	33	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	28	18	50	-	-	-	-	47	32	80	B+	6.00	4	24.00				
Administrative Theory (PUBA101A)	22	11	30	36	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Indian Administration (PUBA102A)	22	11	30	33	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	29	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	16	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670161 CAND.NAME : SHUBHAM REG NO : 24-HM-600			FATHER'S NAME : SANTOSH KUMAR							MOTHER'S NAME : RAJNI KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Introduction to Physical Education (PED101TH)	13	11	30	5	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	14	11	30	22	18	50	-	-	-	-	36	32	80	C	5.00	4	20.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	16	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENV2AECC2)	-	-	-	27	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670162 CAND.NAME : SNEHA REG NO : 24-HM-369			FATHER'S NAME : AVDESH SINGH							MOTHER'S NAME : TASHI DOLMA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	29	11	30	36	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	7.51	-	O	PASS
Madhyaqaalin Hindi Kavita (HIND103)	29	11	30	65	25	70	-	-	-	-	94	40	100	S	9.50	6	57.00				
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	14	5	15	24	12	35	-	-	-	-	38	20	50	O	8.00	3	24.00				
Practical(Stage Performance) (MUSA 102PR)	13	5	15	-	-	-	31	14	35	-	44	20	50	O++	9.00	3	27.00				
Theory of Indian Music General & Biographies (MUSA 103TH)	14	5	15	18	12	35	-	-	-	-	32	20	50	A	6.50	3	19.50				
Practical(Viva-Voice) (MUSA 104PR)	13	5	15	-	-	-	31	14	35	-	44	20	50	O++	9.00	3	27.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENV2AECC2)	-	-	-	67	40	100	-	-	-	-	67	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	45	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
										-	MO/MM- 577 / 800					TC-44	TCP - 330.50	Dis. -			
UNIV ROLL NO : 1242670163 CAND.NAME : SNEHA REG NO : 24-HM-724			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : ANJU RANI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	29	11	30	57	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00	8.86	-	O++	PASS
Madhyaqaalin Hindi Kavita (HIND103)	28	11	30	67	25	70	-	-	-	-	95	40	100	S+	10.00	6	60.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	62	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
Society in INDIA (SOCL-A 102)	23	11	30	64	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	30	11	30	52	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Environment Science (ENV2AECC2)	-	-	-	80	40	100	-	-	-	-	80	40	100	O+	8.50	4	34.00				
Hindi Bhasha aur Sampreshan (HIND104)	30	11	30	60	25	70	-	-	-	-	90	40	100	S	9.50	4	38.00				
										-	MO/MM- 682 / 800					TC-44	TCP - 390.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670164 CAND.NAME : SOURABH THAKUR REG NO : 24-HM-616			FATHER'S NAME : SURINDER KUMAR							MOTHER'S NAME : MANORMA DEVI							Exam Type : FRESH					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL	
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00					
Introduction to Physical Education (PED101TH)	14	11	30	6	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	28	18	50	-	-	-	-	47	32	80	B+	6.00	4	24.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Environment Science (ENV52AECC2)	-	-	-	40	40	100	-	-	-	-	-	40	40	100	C	5.00	4					20.00
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	20	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670165 CAND.NAME : SUHANI LAGWAL REG NO : 24-HM-1116			FATHER'S NAME : KAMLESH LAGWAL							MOTHER'S NAME : NIRMALA LAGWAL							Exam Type : FRESH					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Hindi Sahitya ka Itihas (HIND102)	15	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL	
Madhyaalin Hindi Kavita (HIND103)	20	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	12	5	15	10	12	35	-	-	-	-	-	20	50	F	0.00	3	0.00					
Practical(Stage Performance) (MUSA 102PR)	11	5	15	-	-	-	29	14	35	-	40	20	50	O+	8.50	3	25.50					
Theory of Indian Music General & Biographies (MUSA 103TH)	12	5	15	13	12	35	-	-	-	-	25	20	50	B	5.50	3	16.50					
Practical(Viva-Voice) (MUSA 104PR)	12	5	15	-	-	-	28	14	35	-	40	20	50	O+	8.50	3	25.50					
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Environment Science (ENV52AECC2)	-	-	-	8	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00					
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670166 CAND.NAME : SUMAN KUMAR REG NO : 23-HM-1235			FATHER'S NAME : SUSHIL KUMAR							MOTHER'S NAME : BANDNA KUMARI							Exam Type : FRESH					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Principles of Communication (BJMCPAC101)	23	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL	
Introduction to Radio and TV (BJMCPAC102)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00					
Introduction to Physical Education (PED101TH)	15	11	30	6	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	22	11	30	30	18	50	-	-	-	-	52	32	80	A+	7.00	4	28.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Environment Science (ENV52AECC2)	-	-	-	25	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	18	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				

UNIV ROLL NO : 1242670167 CAND.NAME : SUMIT KUMAR REG NO : 24-HM-347			FATHER'S NAME : DALIP RAM							MOTHER'S NAME : PAWNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	31	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	14	11	30	5	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	16	11	30	36	18	50	-	-	-	-	52	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670168 CAND.NAME : SURYA THAKUR REG NO : 23-HM-1003			FATHER'S NAME : VIRENDER SINGH THAKUR							MOTHER'S NAME : KIRAN THAKUR							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	28	11	30	29	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (PED101T H,ENVS2A ECC2)
Introduction to Radio and TV (BJMCPAC102)	28	11	30	35	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Introduction to Physical Education (PED101TH)	20	11	30	12	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	35	18	50	-	-	-	-	53	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	33	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Writing Skills (ENG AECC 104)	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
Environment Science (ENVS2AECC2)	-	-	-	29	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670169 CAND.NAME : SURYANSH SINGH NARYA REG NO : 24-HM-1137			FATHER'S NAME : SOMESHWAR SINGH NARYAL							MOTHER'S NAME : SUSHEELA NARYAL							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	18	11	30	28	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	5.43	-	B	PASS
General Cartography (GEOGP102CC)	22	11	30	19	18	50	10	8	20	-	51	40	100	B	5.50	6	33.00				
Administrative Theory (PUBA101A)	23	11	30	26	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Indian Administration (PUBA102A)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	42	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	25*	25	70	-	-	-	7	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	37	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										7	MO/MM- 399 / 800					TC-44	TCP - 239.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670170 CAND.NAME : TANZIN NORDEN REG NO : 24-HM-721			FATHER'S NAME : THUKTAN KALZANG							MOTHER'S NAME : KALZANG MENTOK							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	15	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	20	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670171 CAND.NAME : TUSHAR REG NO : 24-HM-665			FATHER'S NAME : KAVI CHAND							MOTHER'S NAME : CHANCHAL DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	26	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	15	11	30	4	18	50	-	-	-	-	32	80	F	0.00	4	0.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	17	11	30	14	18	50	-	-	-	-	32	80	F	0.00	4	0.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	9	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	18	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Environment Science (ENVS2AECC2)	-	-	-	19	40	100	-	-	-	-	40	100	F	0.00	4	0.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	17	11	30	11	25	70	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670172 CAND.NAME : UPMANYU REG NO : 24-HM-667			FATHER'S NAME : KISHOR KUMAR							MOTHER'S NAME : SARITA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (SKT- AECC- 104)
History of India from C. 300 - 1206 (HIST(A)102)	17	11	30	34	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	16	11	30	29	18	50	-	-	-	-	45	32	80	B+	6.00	4	24.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	33	18	50	-	-	-	-	52	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	15	25	70	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670173 CAND.NAME : VANSHIKA SHARMA REG NO : 24-HM-312			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : NEELAM KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	27	11	30	27	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (HIND102, ENVS2AEC CC2)
Introduction to Radio and TV (BJMCPAC102)	27	11	30	34	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	-	-	-	
Hindi Sahitya ka Itihas (HIND102)	16	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Madhyaalin Hindi Kavita (HIND103)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	-	-	-	
Prayojanmoolak Hindi (HIND101)	20	11	30	34	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	-	-	-	
Environment Science (ENVS2AECC2)	-	-	-	30	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00	-	-	-	
Hindi Bhasha aur Sampreshan (HIND104)	17	11	30	45	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00	-	-	-	
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670174 CAND.NAME : VISHAL THAKUR REG NO : 24-HM-657			FATHER'S NAME : JAGJIT SINGH							MOTHER'S NAME : KANCHAN KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (SKT- AECC- 104)
Introduction to Radio and TV (BJMCPAC102)	25	11	30	36	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	-	-	-	
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00	-	-	-	
Introduction to Physical Education (PED101TH)	15	11	30	30	18	50	-	-	-	-	45	32	80	B+	6.00	4	24.00	-	-	-	
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00	-	-	-	
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	37	18	50	-	-	-	-	55	32	80	A+	7.00	4	28.00	-	-	-	
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	
Prayojanmoolak Hindi (HIND101)	12	11	30	34	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00	-	-	-	
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00	-	-	-	
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670175 CAND.NAME : PRIYANKA REG NO : 24-HM-714			FATHER'S NAME : SHER BHADUR							MOTHER'S NAME : MEENA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	29	11	30	54	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00	6.93	-	A+	PASS
Madhyaalin Hindi Kavita (HIND103)	28	11	30	61	25	70	-	-	-	-	89	40	100	O++	9.00	6	54.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	33	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Society in INdia (SOCL-A 102)	21	11	30	45	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	17	11	30	51	25	70	-	-	-	-	68	40	100	A+	7.00	4	28.00				
										-	MO/MM- 534 / 800					TC-44	TCP - 305.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670176 CAND.NAME : SONAM RANGRA REG NO : 24-HM-984			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : SUMNA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	27	11	30	48	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00	7.14	-	A++	PASS
Introduction to Radio and TV (BJMCPAC102)	27	11	30	40	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Hindi Sahitya ka Itihas (HIND102)	28	11	30	38	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Madhyaalin Hindi Kavita (HIND103)	29	11	30	59	25	70	-	-	-	-	88	40	100	O++	9.00	6	54.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	43	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	24	11	30	39	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	39	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
										-	MO/MM- 532 / 800					TC-44	TCP - 314.00	Dis. -			
UNIV ROLL NO : 1242670177 CAND.NAME : KRITIKA BANYAL REG NO : 24-HM-641			FATHER'S NAME : BAL RAM							MOTHER'S NAME : TRISHLA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00	6.82	-	A+	PASS
Principles of Microeconomics-II (ECONA102)	26	11	30	25*	25	70	-	-	-	5	51	40	100	B	5.50	6	33.00				
Hindi Sahitya ka Itihas (HIND102)	29	11	30	47	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Madhyaalin Hindi Kavita (HIND103)	28	11	30	55	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	27	11	30	44	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	24	11	30	45	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
										5	MO/MM- 511 / 800					TC-44	TCP - 300.00	Dis. -			
UNIV ROLL NO : 1242670178 CAND.NAME : MADHU REG NO : 23-HM-1238			FATHER'S NAME : SUSHIL KUMAR							MOTHER'S NAME : ANJU KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIND101, ECONA10 2)
Principles of Microeconomics-II (ECONA102)	18	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Hindi Sahitya ka Itihas (HIND102)	16	11	30	25	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Madhyaalin Hindi Kavita (HIND103)	18	11	30	54	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	34	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670179 CAND.NAME : KHUSHBU REG NO : 24-HM-311			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : NEELAM KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	17	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhyaqaalin Hindi Kavita (HIND103)	16	11	30	28	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	22	11	30	29	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	29	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670180 CAND.NAME : ARADHNA REG NO : 24-HM-436			FATHER'S NAME : JAMUNA							MOTHER'S NAME : SIRJAVAT							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	18	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhyaqaalin Hindi Kavita (HIND103)	17	11	30	33	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Administrative Theory (PUBA101A)	16	11	30	25	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Indian Administration (PUBA102A)	17	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	32	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670181 CAND.NAME : AANCHAL SHARMA REG NO : 24-HM-543			FATHER'S NAME : JAI PAL							MOTHER'S NAME : BANEETA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	48	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00	7.05	-	A++	PASS
History of India from C. 300 - 1206 (HIST(A)102)	24	11	30	40	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Introduction to Physical Education (PED101TH)	22	11	30	38	18	50	-	-	-	-	60	32	80	O	8.00	4	32.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	22	11	30	35	18	50	-	-	-	-	57	32	80	A++	7.50	4	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	34	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	27	11	30	48	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	43	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
										-	MO/MM- 521 / 800					TC-44	TCP - 310.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670182 CAND.NAME : ABHAY REG NO : 24-HM-391			FATHER'S NAME : SURINDER KUMAR							MOTHER'S NAME : REENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	23	11	30	18	18	50	14	8	20	-	55	40	100	B+	6.00	6	36.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	22	11	30	9	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	31	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	3	25	70	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670183 CAND.NAME : ABHAY VERMA REG NO : 24-HM-682			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : RENU PATIYAL							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG 102)
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	25	11	30	42	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	22	11	30	35	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	33	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	50	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	24	11	30	29	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670184 CAND.NAME : AKANKSHA THAKUR REG NO : 24-HM-694			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : KANCHAN DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	36	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	5.86	-	B+	PASS
Introduction to Radio and TV (BJMCPAC102)	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Introduction to Political Theory (POLS101)	19	11	30	30	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Indian Government and Politics (POLS102)	20	11	30	37	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	29	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	34	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- 438 / 800					TC-44	TCP - 258.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670185 CAND.NAME : AKSHAY REG NO : 24-HM-1040			FATHER'S NAME : DESH RAJ							MOTHER'S NAME : NEELAM DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
History of India from the Earliest Times up to 300 CE (HIST(A)101)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00						
History of India from C. 300 - 1206 (HIST(A)102)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00						
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00						
Introduction to Physical Education (PED101TH)	17	11	30	25	18	50	-	-	-	-	42	32	80	B	5.50	4	22.00						
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00						
Olympic Movement and Organisation of Tournaments (PED102TH)	16	11	30	32	18	50	-	-	-	-	48	32	80	A	6.50	4	26.00				FAIL		
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
Prayojanmoolak Hindi (HIND101)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00						
Environment Science (ENV52AECC2)	-	-	-	23	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	21	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00						
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -					
UNIV ROLL NO : 1242670186 CAND.NAME : AKSHAY KUMAR REG NO : 24-HM-709			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : RIPNA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Principles of Communication (BJMCPAC101)	26	11	30	42	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00						
Introduction to Radio and TV (BJMCPAC102)	25	11	30	32	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00						
Introduction to Political Theory (POLS101)	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00						
Indian Government and Politics (POLS102)	20	11	30	55	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00						
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	32	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00						
Prayojanmoolak Hindi (HIND101)	18	11	30	46	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00						
Environment Science (ENV52AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00						
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	41	25	70	-	-	-	-	60	40	100	A	6.50	4	26.00						
										-	MO/MM- 480 / 800					TC-44	TCP - 280.00	Dis. -					
UNIV ROLL NO : 1242670187 CAND.NAME : AKSHAY KUMAR REG NO : 24-HM-597			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : DEEPMALA							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Principles of Communication (BJMCPAC101)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00						
Introduction to Radio and TV (BJMCPAC102)	26	11	30	48	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00						
Introduction to Political Theory (POLS101)	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00						
Indian Government and Politics (POLS102)	16	11	30	60	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00						
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00						
Prayojanmoolak Hindi (HIND101)	22	11	30	50	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00						
Environment Science (ENV52AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00						
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00						
										-	MO/MM- 539 / 800					TC-44	TCP - 312.00	Dis. -					

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670188 CAND.NAME : AKSHAY KUMAR REG NO : 24-HM-639			FATHER'S NAME : ASHOK KUMAR							MOTHER'S NAME : REENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	14	11	30	23	18	50	-	-	-	-	37	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	16	11	30	23	18	50	-	-	-	-	39	32	80	C	5.00	4	20.00				FAIL
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENV52AECC2)	-	-	-	30	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	21	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670189 CAND.NAME : AMAN BHARTI REG NO : 24-HM-1047			FATHER'S NAME : RAVI KANT BHARTI							MOTHER'S NAME : RAJ RANI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	23	11	30	41	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Indian Government and Politics (POLS102)	16	11	30	57	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Society in INDIA (SOCL-A 102)	23	11	30	39	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	52	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Environment Science (ENV52AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	45	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
										-	MO/MM- 515 / 800					TC-44	TCP - 297.00	Dis. -			
UNIV ROLL NO : 1242670190 CAND.NAME : AMAN KAUSHAL REG NO : 23-HM-658			FATHER'S NAME : AJAY KUMAR							MOTHER'S NAME : VEENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	31	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Introduction to Radio and TV (BJMCPAC102)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00				
Introduction to Physical Education (PED101TH)	20	11	30	27	18	50	-	-	-	-	47	32	80	B+	6.00	4	24.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	32	18	50	-	-	-	-	47	32	80	B+	6.00	4	24.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	44	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Environment Science (ENV52AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	34	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										-	MO/MM- 432 / 800					TC-44	TCP - 256.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670191 CAND.NAME : AMIT REG NO : 24-HM-1021			FATHER'S NAME : AMARJEET							MOTHER'S NAME : ASHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	25*	25	70	-	-	-	4	49	40	100	C	5.00	6	30.00	5.61	-	B+	PASS
General Cartography (GEOGP102CC)	24	11	30	18	18	50	13	8	20	-	55	40	100	B+	6.00	6	36.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	19	11	30	34	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
History of India from C. 300 - 1206 (HIST(A)102)	25	11	30	28	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	42	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	19	11	30	27	25	70	-	-	-	-	46	40	100	C	5.00	4	20.00				
										4	MO/MM- 416 / 800					TC-44	TCP - 247.00	Dis. -			
UNIV ROLL NO : 1242670192 CAND.NAME : ANCHAL CHAUHAN REG NO : 24-HM-382			FATHER'S NAME : AJAY KUMAR							MOTHER'S NAME : JYOTI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	41	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	7.41	-	A++	PASS
General Cartography (GEOGP102CC)	24	11	30	40	18	50	15	8	20	-	79	40	100	O	8.00	6	48.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	23	11	30	55	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
History of India from C. 300 - 1206 (HIST(A)102)	21	11	30	48	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	25	11	30	54	25	70	-	-	-	-	79	40	100	O	8.00	4	32.00				
										-	MO/MM- 567 / 800					TC-44	TCP - 326.00	Dis. -			
UNIV ROLL NO : 1242670193 CAND.NAME : ANCHAL THAKUR REG NO : 23-HM-816			FATHER'S NAME : SANJU RAM							MOTHER'S NAME : GUDDI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00	5.32	-	B	PASS
Sociological Foundations of Education (EDN102CC)	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	17	11	30	32	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	23	11	30	25*	25	70	-	-	-	3	48	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	28	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	32	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										3	MO/MM- 404 / 800					TC-44	TCP - 234.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670194 CAND.NAME : ANJALI KUMARI REG NO : 24-HM-389			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : REKHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	6.57	-	A+	PASS
General Cartography (GEOGP102CC)	25	11	30	24	18	50	13	8	20	-	62	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	52	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
History of India from C. 300 - 1206 (HIST(A)102)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	42	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	40	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	25	11	30	54	25	70	-	-	-	-	79	40	100	O	8.00	4	32.00				
										-	MO/MM- 507 / 800					TC-44	TCP - 289.00	Dis. -			
UNIV ROLL NO : 1242670195 CAND.NAME : ANJALI SHARMA REG NO : 24-HM-642			FATHER'S NAME : BHOLA SHARMA							MOTHER'S NAME : HEM LATA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	24	11	30	29	18	50	-	-	-	-	53	32	80	A+	7.00	4	28.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	30	18	50	-	-	-	-	48	32	80	A	6.50	4	26.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	39	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	29	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	25	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670196 CAND.NAME : ANSH THAKUR REG NO : 24-HM-564			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : ANJU BALA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	25	11	30	39	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	6.09	-	A	PASS
Introduction to Radio and TV (BJMCPAC102)	25	11	30	38	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Introduction to Political Theory (POLS101)	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Indian Government and Politics (POLS102)	25	11	30	44	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	37	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
										-	MO/MM- 465 / 800					TC-44	TCP - 268.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670197 CAND.NAME : ANSHIKA REG NO : 24-HM-563			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : UMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	22	11	30	27	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00	5.57	-	B+	PASS
Indian Government and Politics (POLS102)	20	11	30	45	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	25*	25	70	-	-	-	4	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	32	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
									4	MO/MM- 415 / 800					TC-44	TCP - 245.00	Dis. -				
UNIV ROLL NO : 1242670198 CAND.NAME : ANSHIKA SHARMA REG NO : 24-HM-599			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : MANGLA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	6.57	-	A+	PASS
General Cartography (GEOGP102CC)	27	11	30	24	18	50	14	8	20	-	65	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
History of India from C. 300 - 1206 (HIST(A)102)	22	11	30	45	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25*	25	70	-	-	-	4	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	16	11	30	50	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
									4	MO/MM- 495 / 800					TC-44	TCP - 289.00	Dis. -				
UNIV ROLL NO : 1242670199 CAND.NAME : ANSHIKA SHREE REG NO : 24-HM-575			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : ANJU							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00	6.93	-	A+	PASS
Introduction to Radio and TV (BJMCPAC102)	27	11	30	42	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	30	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	50	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	53	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	21	11	30	50	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
									-	MO/MM- 518 / 800					TC-44	TCP - 305.00	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670200 CAND.NAME : ANSHITA KAUSHAL REG NO : 24-HM-601				FATHER'S NAME : SANTOSH KUMAR						MOTHER'S NAME : RACHNA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	24	11	30	57	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00	8.52	-	O++	PASS
History of India from C. 300 - 1206 (HIST(A)102)	26	11	30	58	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Introduction to Travel & Tourism Management (TTMC101)	26	11	30	65	25	70	-	-	-	-	91	40	100	S	9.50	6	57.00				
Tourism Resources of India (TTMC102)	26	11	30	67	25	70	-	-	-	-	93	40	100	S	9.50	6	57.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	52	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	28	11	30	46	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	27	11	30	64	25	70	-	-	-	-	91	40	100	S	9.50	4	38.00				
										-	MO/MM- 657 / 800					TC-44	TCP - 375.00	Dis. -			
UNIV ROLL NO : 1242670201 CAND.NAME : ANSHUL RANA REG NO : 24-HM-1053				FATHER'S NAME : KARTAR CHAND						MOTHER'S NAME : PUSHPA RANI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	23	11	30	A	18	50	13	8	20	-	-	40	100	ABS	0.00	6	0.00				
Differential Calculus (MATH101TH)	21	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Differential Equations (MATH102TH)	24	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Writing Skills (ENG AECC 104)	26	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
Environment Science (ENVS2AECC2)	-	-	-	A	40	100	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670202 CAND.NAME : ANURAG CHAUHAN REG NO : 24-HM-1052				FATHER'S NAME : ARUN KUMAR						MOTHER'S NAME : POONAM						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	23	11	30	25*	25	70	-	-	-	6	48	40	100	C	5.00	6	30.00	5.91	-	B+	PASS
General Cartography (GEOGP102CC)	23	11	30	25	18	50	15	8	20	-	63	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	32	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	20	11	30	38	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	44	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	30	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
										6	MO/MM- 446 / 800					TC-44	TCP - 260.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670203 CAND.NAME : ANUSHIKA DEVI REG NO : 24-HM-1061			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : MAMTA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	23	11	30	42	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	6.66	-	A+	PASS
Indian Government and Politics (POLS102)	18	11	30	50	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	28	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	23	11	30	37	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	38	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	26	11	30	50	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Environment Science (ENVS2AECC2)	-	-	-	58	40	100	-	-	-	-	58	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	45	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
										-	MO/MM- 505 / 800					TC-44	TCP - 293.00	Dis. -			
UNIV ROLL NO : 1242670204 CAND.NAME : ARCHIT KUMAR SEN REG NO : 24-HM-332			FATHER'S NAME : PARDEEP KUMAR							MOTHER'S NAME : RIPNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	23	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (GEOGP1 01CC,SKT -AECC- 104)
General Cartography (GEOGP102CC)	24	11	30	18	18	50	14	8	20	-	56	40	100	B+	6.00	6	36.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	22	11	30	45	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	35	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	15	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670205 CAND.NAME : ARISHA REG NO : 24-HM-572			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : JANOO							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	24	11	30	31	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00	6.23	-	A	PASS
Sociological Foundations of Education (EDN102CC)	20	11	30	49	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	45	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
History of India from C. 300 - 1206 (HIST(A)102)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25*	25	70	-	-	-	8	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	54	40	100	-	-	-	-	54	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										8	MO/MM- 463 / 800					TC-44	TCP - 274.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670206 CAND.NAME : ARUSHI REG NO : 24-HM-608			FATHER'S NAME : SUBHASH CHAND							MOTHER'S NAME : SARITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	35	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	30	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	4	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	22	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	30	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670207 CAND.NAME : ARYAN NEGI REG NO : 24-HM-331			FATHER'S NAME : BHAGWAN SINGH							MOTHER'S NAME : SURAJ GANGA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	25	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG 102,HIND1 04)
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Society in INdia (SOCL-A 102)	21	11	30	44	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	32	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	16	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670208 CAND.NAME : ASTHA DEVI REG NO : 24-HM-658			FATHER'S NAME : KAMAL KUMAR							MOTHER'S NAME : VANITA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	24	11	30	29	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	5.82	-	B+	PASS
Indian Government and Politics (POLS102)	22	11	30	47	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in INdia (SOCL-A 102)	22	11	30	32	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25*	25	70	-	-	-	5	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	40	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	21	11	30	42	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
										5	MO/MM- 438 / 800					TC-44	TCP - 256.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670209 CAND.NAME : BABITA KUMARI REG NO : 24-HM-596			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : KIRNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	25	11	30	38	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00	6.61	-	A+	PASS
Sociological Foundations of Education (EDN102CC)	25	11	30	46	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Introduction to Political Theory (POLS101)	25	11	30	39	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Indian Government and Politics (POLS102)	24	11	30	51	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25*	25	70	-	-	-	6	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	46	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Environment Science (ENV2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	47	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
										6	MO/MM- 504 / 800					TC-44	TCP - 291.00	Dis. -			
UNIV ROLL NO : 1242670210 CAND.NAME : BHARAT JEET REG NO : 24-HM-1073			FATHER'S NAME : RAJEEV KUMAR							MOTHER'S NAME : USHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (ENG 102,SKT- AECC- 104)
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	42	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	55	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
History of India from C. 300 - 1206 (HIST(A)102)	21	11	30	26	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	40	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Environment Science (ENV2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	24	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670211 CAND.NAME : BHUVNESHWAR REG NO : 24-HM-538			FATHER'S NAME : DEV RAJ							MOTHER'S NAME : BHAGO DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	23	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	-
General Cartography (GEOGP102CC)	23	11	30	20	18	50	-	8	20	-	-	40	100	#	5.00	6	30.00				
Differential Calculus (MATH101TH)	16	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Differential Equations (MATH102TH)	16	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	35	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Writing Skills (ENG AECC 104)	27	11	30	28	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Environment Science (ENV2AECC2)	-	-	-	24	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670212 CAND.NAME : CHHERING CHHODON REG NO : 24-HM-534			FATHER'S NAME : CHHEWANG TOBGE							MOTHER'S NAME : PADMA YOUDON							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	57	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				COMPARTMENT TILL APRIL 2026 Paper Code (SKT- AECC- 104)		
History of India from C. 300 - 1206 (HIST(A)102)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00						
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00						
Introduction to Physical Education (PED101TH)	21	11	30	32	18	50	-	-	-	-	53	32	80	A+	7.00	4	28.00						
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00						
Olympic Movement and Organisation of Tournaments (PED102TH)	20	11	30	33	18	50	-	-	-	-	53	32	80	A+	7.00	4	28.00						
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	33	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00						
Prayojanmoolak Hindi (HIND101)	17	11	30	34	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00						
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	26	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00						
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -					
UNIV ROLL NO : 1242670213 CAND.NAME : DEEKSHA REG NO : 24-HM-549			FATHER'S NAME : KISHAN CHAND							MOTHER'S NAME : KUSHAM LATA							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Physical Geography (GEOGP101CC)	24	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				FAIL		
General Cartography (GEOGP102CC)	24	11	30	18	18	50	13	8	20	-	55	40	100	B+	6.00	6	36.00						
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	38	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00						
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00						
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	19	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00						
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -					
UNIV ROLL NO : 1242670214 CAND.NAME : DIKSHA REG NO : 24-HM-612			FATHER'S NAME : SUNIL KUMAR							MOTHER'S NAME : VANDNA KUMARI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Philosophical Foundations of Education (EDN101CC)	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				6.77		
Sociological Foundations of Education (EDN102CC)	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00						
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	57	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00						
History of India from C. 300 - 1206 (HIST(A)102)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00						
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00						
Prayojanmoolak Hindi (HIND101)	20	11	30	38	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00						
Environment Science (ENVS2AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	24	11	30	53	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00						
										-	MO/MM- 506 / 800					TC-44	TCP - 298.00	Dis. -					

UNIV ROLL NO : 1242670215 CAND.NAME : DIKSHA REG NO : 24-HM-1100			FATHER'S NAME : DEEP KUMAR							MOTHER'S NAME : BIASAN DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	14	5	15	26	12	35	-	-	-	-	40	20	50	O+	8.50	3	25.50	7.43	-	A++	PASS		
Practical(Stage Performance) (MUSA 102PR)	14	5	15	-	-	-	33	14	35	-	47	20	50	S	9.50	3	28.50						
Theory of Indian Music General & Biographies (MUSA 103TH)	14	5	15	23	12	35	-	-	-	-	37	20	50	A++	7.50	3	22.50						
Practical(Viva-Voice) (MUSA 104PR)	14	5	15	-	-	-	32	14	35	-	46	20	50	S	9.50	3	28.50						
Introduction to Political Theory (POLS101)	27	11	30	42	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00						
Indian Government and Politics (POLS102)	22	11	30	60	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00						
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	29	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00						
Prayojanmoolak Hindi (HIND101)	18	11	30	48	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00						
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00						
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	50	25	70	-	-	-	-	68	40	100	A+	7.00	4	28.00						
										-	MO/MM- 569 / 800					TC-44	TCP - 327.00	Dis. -					
UNIV ROLL NO : 1242670216 CAND.NAME : DIKSHA REG NO : 24-HM-374			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : MANGLESH KUMARI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Philosophical Foundations of Education (EDN101CC)	29	11	30	35	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	6.59	-	A+	PASS		
Sociological Foundations of Education (EDN102CC)	29	11	30	52	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00						
History of India from the Earliest Times up to 300 CE (HIST(A)101)	22	11	30	52	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00						
History of India from C. 300 - 1206 (HIST(A)102)	26	11	30	26	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00						
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	32	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00						
Prayojanmoolak Hindi (HIND101)	21	11	30	38	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00						
Environment Science (ENVS2AECC2)	-	-	-	52	40	100	-	-	-	-	52	40	100	B	5.50	4	22.00						
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	47	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00						
										-	MO/MM- 507 / 800					TC-44	TCP - 290.00	Dis. -					
UNIV ROLL NO : 1242670217 CAND.NAME : DIKSHA KUMARI REG NO : 24-HM-690			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : RINKU DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG 102,HIST (A)102)		
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	42	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00						
History of India from the Earliest Times up to 300 CE (HIST(A)101)	17	11	30	43	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00						
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00						
Prayojanmoolak Hindi (HIND101)	22	11	30	48	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00						
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	27	11	30	41	25	70	-	-	-	-	68	40	100	A+	7.00	4	28.00						
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -					

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670218 CAND.NAME : DIKSHA THAKUR REG NO : 22-HM-311				FATHER'S NAME : ASHOK KUMAR						MOTHER'S NAME : SUMAN LATA						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	20	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Sociological Foundations of Education (EDN102CC)	15	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
History of India from C. 300 - 1206 (HIST(A)102)	16	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	46	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	51	40	100	-	-	-	-	51	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670219 CAND.NAME : GARIMA REG NO : 24-HM-554				FATHER'S NAME : MANGAT RAM ATWAL						MOTHER'S NAME : SUMAN ATWAL						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	25	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	25	11	30	26	18	50	14	8	20	-	65	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	37	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	50	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	63	40	100	-	-	-	-	63	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670220 CAND.NAME : GEETANJALI SHARMA REG NO : 24-HM-921				FATHER'S NAME : KANSHI RAM						MOTHER'S NAME : NEELAM KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	22	11	30	41	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00	6.59	-	A+	PASS
History of India from C. 300 - 1206 (HIST(A)102)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Introduction to Physical Education (PED101TH)	24	11	30	34	18	50	-	-	-	-	58	32	80	A++	7.50	4	30.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	23	11	30	31	18	50	-	-	-	-	54	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	26	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	28	11	30	45	25	70	-	-	-	-	73	40	100	A++	7.50	4	30.00				
										-	MO/MM- 502 / 800					TC-44	TCP - 290.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670221 CAND.NAME : GURMEET SINGH REG NO : 24-HM-1022			FATHER'S NAME : BALJEET SINGH							MOTHER'S NAME : ANITA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	18	11	30	28	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	5.66	-	B+	PASS
Sociological Foundations of Education (EDN102CC)	15	11	30	42	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Introduction to Political Theory (POLS101)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Indian Government and Politics (POLS102)	22	11	30	50	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25*	25	70	-	-	-	7	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	26	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	31	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
										7	MO/MM- 411 / 800					TC-44	TCP - 249.00	Dis. -			
UNIV ROLL NO : 1242670222 CAND.NAME : HIMANSHU REG NO : 24-HM-1095			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : SUSHMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	34	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	-	-	-	-
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00				
Introduction to Physical Education (PED101TH)	17	11	30	26	18	50	-	-	-	-	43	32	80	B	5.50	4	22.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	21	11	30	31	18	50	-	-	-	-	52	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	22	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670223 CAND.NAME : HISHE LAMO REG NO : 24-HM-525			FATHER'S NAME : AMARJEEET SINGH							MOTHER'S NAME : CHHERING DOLMA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	6.77	-	A+	PASS
Principles of Microeconomics-II (ECONA102)	27	11	30	38	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Differential Calculus (MATH101TH)	17	11	30	52	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Differential Equations (MATH102TH)	27	11	30	37	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	40	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	54	25	70	-	-	-	-	72	40	100	A++	7.50	4	30.00				
										-	MO/MM- 521 / 800					TC-44	TCP - 298.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670224 CAND.NAME : ISHA REG NO : 24-HM-685			FATHER'S NAME : PRAVEEN KUMAR							MOTHER'S NAME : SUMNA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	6.86	-	A+	PASS
Sociological Foundations of Education (EDN102CC)	26	11	30	54	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	58	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
History of India from C. 300 - 1206 (HIST(A)102)	27	11	30	30	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	27	11	30	37	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paarineey Shiksha (SKT-AECC-104)	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- 517 / 800					TC-44	TCP - 302.00	Dis. -			
UNIV ROLL NO : 1242670225 CAND.NAME : JATIN KUMAR REG NO : 24-HM-659			FATHER'S NAME : KAMLESH KUMAR							MOTHER'S NAME : RANJU DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	27	11	30	27	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Introduction to Radio and TV (BJMCPAC102)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Introduction to Political Theory (POLS101)	19	11	30	33	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Indian Government and Politics (POLS102)	16	11	30	53	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670226 CAND.NAME : KAMNI REG NO : 24-HM-1044			FATHER'S NAME : RAKESH							MOTHER'S NAME : JAMNA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	25	11	30	31	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	6.77	-	A+	PASS
Indian Government and Politics (POLS102)	23	11	30	60	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	43	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Society in India (SOCL-A 102)	21	11	30	47	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	32	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	40	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	51	40	100	-	-	-	-	51	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	51	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
										-	MO/MM- 513 / 800					TC-44	TCP - 298.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670227 CAND.NAME : KARTIK REG NO : 24-HM-726			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : POONAM KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	21	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	17	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670228 CAND.NAME : KARTIK JASWAL REG NO : 24-HM-729			FATHER'S NAME : VINOD KUMAR							MOTHER'S NAME : SUMAN BALA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	43	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00	7.57	-	O	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	49	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	25	11	30	59	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
History of India from C. 300 - 1206 (HIST(A)102)	26	11	30	55	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	50	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	19	11	30	58	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
										-	MO/MM- 582 / 800					TC-44	TCP - 333.00	Dis. -			
UNIV ROLL NO : 1242670229 CAND.NAME : KASHISH REG NO : 24-HM-565			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : NEELAM KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	6.52	-	A+	PASS
Indian Government and Politics (POLS102)	19	11	30	60	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	39	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Society in INdia (SOCL-A 102)	22	11	30	37	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	37	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	34	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	53	40	100	-	-	-	-	53	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	62	25	70	-	-	-	-	82	40	100	O+	8.50	4	34.00				
										-	MO/MM- 512 / 800					TC-44	TCP - 287.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670230 CAND.NAME : KASHISH BANYAL REG NO : 24-HM-386			FATHER'S NAME : MUKESH BANYAL							MOTHER'S NAME : KIRAN BANYAL							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPC101)	26	11	30	53	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00	7.20	-	A++	PASS
Introduction to Radio and TV (BJMCPC102)	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Introduction to Political Theory (POLS101)	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Indian Government and Politics (POLS102)	22	11	30	60	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
										-	MO/MM- 550 / 800					TC-44	TCP - 317.00	Dis. -			
UNIV ROLL NO : 1242670231 CAND.NAME : KASHISH DHIMAN REG NO : 24-HM-1010			FATHER'S NAME : SURENDER KUMAR							MOTHER'S NAME : BANDNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	26	11	30	49	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00	7.64	-	O	PASS
Sociological Foundations of Education (EDN102CC)	26	11	30	58	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Introduction to Political Theory (POLS101)	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Indian Government and Politics (POLS102)	26	11	30	60	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	41	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	51	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
										-	MO/MM- 574 / 800					TC-44	TCP - 336.00	Dis. -			
UNIV ROLL NO : 1242670232 CAND.NAME : KHUSHI DOGRA REG NO : 24-HM-1067			FATHER'S NAME : SONU KUMAR							MOTHER'S NAME : PARVINDER KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG 102)
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	48	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
History of India from C. 300 - 1206 (HIST(A)102)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	46	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670233 CAND.NAME : KOMAL REG NO : 24-HM-692			FATHER'S NAME : RAJEEV KUMAR							MOTHER'S NAME : JYOTI DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
History of India from the Earliest Times up to 300 CE (HIST(A)101)	27	11	30	64	25	70	-	-	-	-	91	40	100	S	9.50	6	57.00	8.55	-	O++	PASS		
History of India from C. 300 - 1206 (HIST(A)102)	29	11	30	62	25	70	-	-	-	-	91	40	100	S	9.50	6	57.00						
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00						
Introduction to Physical Education (PED101TH)	27	11	30	44	18	50	-	-	-	-	71	32	80	O++	9.00	4	36.00						
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00						
Olympic Movement and Organisation of Tournaments (PED102TH)	24	11	30	42	18	50	-	-	-	-	66	32	80	O+	8.50	4	34.00						
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00						
Prayojanmoolak Hindi (HIND101)	23	11	30	42	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00						
Environment Science (ENV52AECC2)	-	-	-	76	40	100	-	-	-	-	76	40	100	O	8.00	4	32.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	28	11	30	59	25	70	-	-	-	-	87	40	100	O++	9.00	4	36.00						
										-	MO/MM- 656 / 800					TC-44	TCP - 376.00	Dis. -					
UNIV ROLL NO : 1242670234 CAND.NAME : KOMAL KUMARI REG NO : 24-HM-656			FATHER'S NAME : JAGDISH CHAND							MOTHER'S NAME : ANJU							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Principles of Communication (BJMCPAC101)	26	11	30	48	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	6.98	-	A+	PASS		
Introduction to Radio and TV (BJMCPAC102)	27	11	30	46	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00						
Introduction to Political Theory (POLS101)	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00						
Indian Government and Politics (POLS102)	25	11	30	60	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00						
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	40	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00						
Prayojanmoolak Hindi (HIND101)	18	11	30	40	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00						
Environment Science (ENV52AECC2)	-	-	-	58	40	100	-	-	-	-	58	40	100	B+	6.00	4	24.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	46	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00						
										-	MO/MM- 532 / 800					TC-44	TCP - 307.00	Dis. -					
UNIV ROLL NO : 1242670235 CAND.NAME : KONIKA SANKHYAN REG NO : 24-HM-388			FATHER'S NAME : RAJU RAM							MOTHER'S NAME : LALITA KUMARI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (ENG 102)		
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00						
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	54	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00						
History of India from C. 300 - 1206 (HIST(A)102)	22	11	30	51	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00						
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00						
Prayojanmoolak Hindi (HIND101)	20	11	30	37	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00						
Environment Science (ENV52AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	31	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00						
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -					

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670236 CAND.NAME : KRITIKA REG NO : 24-HM-1106			FATHER'S NAME : ARJUN SINGH							MOTHER'S NAME : SARLA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	40	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	23	11	30	35	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	28	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670237 CAND.NAME : KRITIKA CHAUHAN REG NO : 24-HM-555			FATHER'S NAME : MANOHAR LAL							MOTHER'S NAME : LATA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	6.20	-	A	PASS
Sociological Foundations of Education (EDN102CC)	21	11	30	54	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Introduction to Political Theory (POLS101)	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Indian Government and Politics (POLS102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	37	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- 460 / 800					TC-44	TCP - 273.00	Dis. -			
UNIV ROLL NO : 1242670238 CAND.NAME : KRITIKA PATIYAL REG NO : 24-HM-1064			FATHER'S NAME : RAMESH CHAND							MOTHER'S NAME : REENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMPAC101)	27	11	30	35	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Introduction to Radio and TV (BJMPAC102)	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Introduction to Political Theory (POLS101)	23	11	30	36	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Indian Government and Politics (POLS102)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	27	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670239 CAND.NAME : KUMARI JYOTI REG NO : 24-HM-621			FATHER'S NAME : VIKRAM CHAND							MOTHER'S NAME : MEENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	18	11	30	22	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Sociological Foundations of Education (EDN102CC)	20	11	30	41	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	2	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670240 CAND.NAME : KUSHAL KUMAR REG NO : 20-HM-765			FATHER'S NAME : BABU RAM							MOTHER'S NAME : SHAKUNTLA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	6.18	-	A	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	46	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	54	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
History of India from C. 300 - 1206 (HIST(A)102)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	39	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	56	40	100	-	-	-	-	56	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	28	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- 465 / 800					TC-44	TCP - 272.00	Dis. -			
UNIV ROLL NO : 1242670241 CAND.NAME : LAXMI REG NO : 24-HM-704			FATHER'S NAME : RAMESH CHAND							MOTHER'S NAME : MAMTA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	23	11	30	29	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	5.73	-	B+	PASS
Indian Government and Politics (POLS102)	15	11	30	32	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in INdia (SOCL-A 102)	21	11	30	48	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	25	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	25	11	30	41	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
										-	MO/MM- 430 / 800					TC-44	TCP - 252.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670242 CAND.NAME : MAMTA KUMARI REG NO : 24-HM-1028	FATHER'S NAME : RANJEET TANTE									MOTHER'S NAME : INDU DEVI									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	37	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)	
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00					
Introduction to Physical Education (PED101TH)	15	11	30	33	18	50	-	-	-	-	48	32	80	A	6.50	4	26.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	21	11	30	29	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	41	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00					
Environment Science (ENVS2AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670243 CAND.NAME : MAMTA SHARMA REG NO : 24-HM-623	FATHER'S NAME : VINEET KUMAR									MOTHER'S NAME : ANJU BALA									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	43	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	FAIL	
History of India from C. 300 - 1206 (HIST(A)102)	20	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00					
Introduction to Physical Education (PED101TH)	15	11	30	24	18	50	-	-	-	-	39	32	80	C	5.00	4	20.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	20	11	30	32	18	50	-	-	-	-	52	32	80	A+	7.00	4	28.00					
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	47	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00					
Environment Science (ENVS2AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	24	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670244 CAND.NAME : MANISH SHUKLA REG NO : 24-HM-1051	FATHER'S NAME : SANTOSH KUMAR									MOTHER'S NAME : REENA DEVI									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Introduction to Political Theory (POLS101)	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	6.30	-	A	PASS	
Indian Government and Politics (POLS102)	25	11	30	44	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00					
Introduction to Sociology (SOCL-A 101)	21	11	30	26	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00					
Society in INdia (SOCL-A 102)	23	11	30	47	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	49	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00					
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00					
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00					
										-	MO/MM- 469 / 800					TC-44	TCP - 277.00	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670245 CAND.NAME : MANSI BHARDWAJ REG NO : 24-HM-624			FATHER'S NAME : VIRENDER SINGH							MOTHER'S NAME : LATA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	25	11	30	39	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (SKT- AECC- 104,POLS 102)
Introduction to Radio and TV (BJMCPAC102)	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Introduction to Political Theory (POLS101)	19	11	30	33	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Indian Government and Politics (POLS102)	15	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	34	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	45	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670246 CAND.NAME : MAYANK REG NO : 24-HM-733			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : MEERA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Sociological Foundations of Education (EDN102CC)	20	11	30	40	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	41	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
History of India from C. 300 - 1206 (HIST(A)102)	17	11	30	26	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	41	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	30	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670247 CAND.NAME : MOHAMMAD JAMSED REG NO : 24-HM-672			FATHER'S NAME : MOHAMMAD JAKIR ALAM							MOTHER'S NAME : SABROON							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	17	11	30	53	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00	6.57	-	A+	PASS
History of India from C. 300 - 1206 (HIST(A)102)	21	11	30	47	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00				
Introduction to Physical Education (PED101TH)	18	11	30	31	18	50	-	-	-	-	49	32	80	A	6.50	4	26.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	22	11	30	33	18	50	-	-	-	-	55	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	51	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- 492 / 800					TC-44	TCP - 289.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670248 CAND.NAME : MOHIT KUMAR REG NO : 24-HM-1041				FATHER'S NAME : JOGINDER SINGH						MOTHER'S NAME : SHAKUNTLA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	16	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	26	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	22	11	30	46	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	28	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670249 CAND.NAME : MOHIT SHARMA REG NO : 24-HM-584				FATHER'S NAME : RAMESH CHAND SHARMA						MOTHER'S NAME : SURESHNA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	19	11	30	22	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	16	11	30	30	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	24	11	30	32	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	32	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	52	40	100	-	-	-	-	52	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670250 CAND.NAME : MUNISH SHARMA REG NO : 24-HM-1112				FATHER'S NAME : SUBHASH CHAND						MOTHER'S NAME : NEELAM DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (GEOGP1 01CC)
General Cartography (GEOGP102CC)	24	11	30	18	18	50	12	8	20	-	54	40	100	B	5.50	6	33.00				
Differential Calculus (MATH101TH)	17	11	30	30	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Differential Equations (MATH102TH)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Writing Skills (ENG AECC 104)	27	11	30	25	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670251 CAND.NAME : MUSKAN REG NO : 24-HM-1065			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : MEENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	61	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00	8.89	-	O++	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	49	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	29	11	30	57	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
History of India from C. 300 - 1206 (HIST(A)102)	29	11	30	64	25	70	-	-	-	-	93	40	100	S	9.50	6	57.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	61	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Prayojanmoolak Hindi (HIND101)	29	11	30	59	25	70	-	-	-	-	88	40	100	O++	9.00	6	54.00				
Environment Science (ENVS2AECC2)	-	-	-	80	40	100	-	-	-	-	80	40	100	O+	8.50	4	34.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	28	11	30	61	25	70	-	-	-	-	89	40	100	O++	9.00	4	36.00				
										-	MO/MM- 684 / 800					TC-44	TCP - 391.00	Dis. -			
UNIV ROLL NO : 1242670252 CAND.NAME : MUSKAN REG NO : 24-HM-688			FATHER'S NAME : PRITAM CHAND							MOTHER'S NAME : NISHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	53	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	6.61	-	A+	PASS
History of India from C. 300 - 1206 (HIST(A)102)	22	11	30	31	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Introduction to Physical Education (PED101TH)	18	11	30	33	18	50	-	-	-	-	51	32	80	A	6.50	4	26.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	22	11	30	33	18	50	-	-	-	-	55	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	45	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	52	40	100	-	-	-	-	52	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	26	11	30	29	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- 498 / 800					TC-44	TCP - 291.00	Dis. -			
UNIV ROLL NO : 1242670253 CAND.NAME : MUSKAN REG NO : 24-HM-553			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : MEENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Sociological Foundations of Education (EDN102CC)	16	11	30	43	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Introduction to Political Theory (POLS101)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Indian Government and Politics (POLS102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670254 CAND.NAME : NAINA DEVI REG NO : 24-HM-581		FATHER'S NAME : RAKESH KUMAR									MOTHER'S NAME : RAJO DEVI									Exam Type : FRESH			
Paper Name		Paper Detail														GPA	CGPA	Grade	Result/ Status				
		IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Principles of Communication (BJMCPAC101)		24	11	30	26	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	5.80	-	B+	PASS	
Introduction to Radio and TV (BJMCPAC102)		23	11	30	30	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00					
Introduction to Political Theory (POLS101)		19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00					
Indian Government and Politics (POLS102)		24	11	30	46	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00					
English-1 Core English (Compulsory) (ENG CE 101)		25	11	30	25*	25	70	-	-	-	5	50	40	100	B	5.50	6	33.00					
Prayojanmoolak Hindi (HIND101)		18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00					
Environment Science (ENVS2AECC2)		-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00					
Hindi Bhasha aur Sampreshan (HIND104)		18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00					
											5	MO/MM- 419 / 800					TC-44	TCP - 255.00	Dis. -				
UNIV ROLL NO : 1242670255 CAND.NAME : NANCY CHANDEL REG NO : 24-HM-567		FATHER'S NAME : PRITAM SINGH									MOTHER'S NAME : ANITA DEVI									Exam Type : FRESH			
Paper Name		Paper Detail														GPA	CGPA	Grade	Result/ Status				
		IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Principles of Communication (BJMCPAC101)		24	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL	
Introduction to Radio and TV (BJMCPAC102)		25	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Introduction to Political Theory (POLS101)		16	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Indian Government and Politics (POLS102)		22	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
English-1 Core English (Compulsory) (ENG CE 101)		27	11	30	25	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00					
Prayojanmoolak Hindi (HIND101)		18	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Environment Science (ENVS2AECC2)		-	-	-	4	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00					
Hindi Bhasha aur Sampreshan (HIND104)		18	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
											-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				
UNIV ROLL NO : 1242670256 CAND.NAME : NANDNI REG NO : 24-HM-636		FATHER'S NAME : ANOOP KUMAR									MOTHER'S NAME : SEEMA DEVI									Exam Type : FRESH			
Paper Name		Paper Detail														GPA	CGPA	Grade	Result/ Status				
		IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
English Literature-1 (Essays, Stories and Poems) (ENG 102)		26	11	30	54	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00	6.93	-	A+	PASS	
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)		27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)		17	11	30	56	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00					
History of India from C. 300 - 1206 (HIST(A)102)		15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00					
English-1 Core English (Compulsory) (ENG CE 101)		24	11	30	42	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00					
Prayojanmoolak Hindi (HIND101)		21	11	30	56	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00					
Environment Science (ENVS2AECC2)		-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00					
Hindi Bhasha aur Sampreshan (HIND104)		18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00					
											-	MO/MM- 508 / 800					TC-44	TCP - 305.00	Dis. -				

UNIV ROLL NO : 1242670257 CAND.NAME : NARGIS REG NO : 24-HM-569			FATHER'S NAME : RAFIQ MUHAMMAD							MOTHER'S NAME : GAURAN BIBI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	54	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	6.73	-	A+	PASS
History of India from C. 300 - 1206 (HIST(A)102)	20	11	30	37	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Introduction to Physical Education (PED101TH)	16	11	30	34	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	22	11	30	34	18	50	-	-	-	-	56	32	80	A++	7.50	4	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	43	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	48	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Environment Science (ENV52AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paarineey Shiksha (SKT-AECC-104)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- 493 / 800					TC-44	TCP - 296.00	Dis. -			

UNIV ROLL NO : 1242670258 CAND.NAME : NATASHA THAKUR REG NO : 24-HM-544			FATHER'S NAME : JAI PAL CHAND							MOTHER'S NAME : MENKA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	29	11	30	45	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (SOCL-A 102)
Indian Government and Politics (POLS102)	29	11	30	54	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	55	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Society in India (SOCL-A 102)	23	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	55	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	61	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Environment Science (ENV52AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	48	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

UNIV ROLL NO : 1242670259 CAND.NAME : NEELAM KUMARI REG NO : 24-HM-444			FATHER'S NAME : PRAMIL KUMAR							MOTHER'S NAME : SOMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (ENG CE 101,POLS 102)
Introduction to Radio and TV (BJMCPAC102)	24	11	30	37	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to Political Theory (POLS101)	21	11	30	32	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Indian Government and Politics (POLS102)	15	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	49	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Environment Science (ENV52AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670260 CAND.NAME : NEHA REG NO : 24-HM-687			FATHER'S NAME : PRITAM CHAND							MOTHER'S NAME : SEEMA DEVI							Exam Type : FRESH						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)			15	11	30	0	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
History of India from C. 300 - 1206 (HIST(A)102)			15	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)			-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Introduction to Physical Education (PED101TH)			15	11	30	20	18	50	-	-	-	-	35	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)			-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)			24	11	30	34	18	50	-	-	-	-	58	32	80	A++	7.50	4	30.00	-	-	-	FAIL
English-1 Core English (Compulsory) (ENG CE 101)			27	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)			15	11	30	40	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)			-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)			24	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
											-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				
UNIV ROLL NO : 1242670261 CAND.NAME : NEHA SHARMA REG NO : 24-HM-695			FATHER'S NAME : RAJESH PAL							MOTHER'S NAME : RADHA DEVI							Exam Type : FRESH						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)			26	11	30	50	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Sociological Foundations of Education (EDN102CC)			28	11	30	53	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)			15	11	30	42	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
History of India from C. 300 - 1206 (HIST(A)102)			22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)			26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00	6.68	-	A+	PASS
Prayojanmoolak Hindi (HIND101)			18	11	30	45	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)			-	-	-	70	40	100	-	-	-	-	70	40	100	A++	7.50	4	30.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)			24	11	30	33	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
											-	MO/MM- 508 / 800					TC-44	TCP - 294.00	Dis. -				
UNIV ROLL NO : 1242670262 CAND.NAME : NEHA SHARMA REG NO : 24-HM-1132			FATHER'S NAME : JEET CHAND							MOTHER'S NAME : RADHA RANI							Exam Type : FRESH						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)			15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Sociological Foundations of Education (EDN102CC)			15	11	30	33	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)			16	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
History of India from C. 300 - 1206 (HIST(A)102)			18	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)			25	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)			18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)			-	-	-	14	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)			18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
											-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670263 CAND.NAME : NIHARIKA SHARMA REG NO : 24-HM-379			FATHER'S NAME : SUNIL KUMAR							MOTHER'S NAME : REENA							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	47	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	6.45	-	A	PASS		
History of India from C. 300 - 1206 (HIST(A)102)	23	11	30	25*	25	70	-	-	-	5	48	40	100	C	5.00	6	30.00						
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00						
Introduction to Physical Education (PED101TH)	16	11	30	27	18	50	-	-	-	-	43	32	80	B	5.50	4	22.00						
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00						
Olympic Movement and Organisation of Tournaments (PED102TH)	21	11	30	32	18	50	-	-	-	-	53	32	80	A+	7.00	4	28.00						
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00						
Prayojanmoolak Hindi (HIND101)	23	11	30	52	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00						
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	28	11	30	25	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00						
										5	MO/MM- 469 / 800					TC-44	TCP - 284.00	Dis. -					
UNIV ROLL NO : 1242670264 CAND.NAME : NIKHIL REG NO : 24-HM-1042			FATHER'S NAME : MADAN LAL SHARMA							MOTHER'S NAME : POOJA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
History of India from the Earliest Times up to 300 CE (HIST(A)101)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	FAIL		
History of India from C. 300 - 1206 (HIST(A)102)	22	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00						
Introduction to Physical Education (PED101TH)	20	11	30	22	18	50	-	-	-	-	42	32	80	B	5.50	4	22.00						
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00						
Olympic Movement and Organisation of Tournaments (PED102TH)	25	11	30	30	18	50	-	-	-	-	55	32	80	A+	7.00	4	28.00						
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
Prayojanmoolak Hindi (HIND101)	15	11	30	44	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00						
Environment Science (ENVS2AECC2)	-	-	-	27	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	28	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00						
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -					
UNIV ROLL NO : 1242670265 CAND.NAME : NIKHIL REG NO : 23-HM-665			FATHER'S NAME : BIR SINGH							MOTHER'S NAME : SUSHILA							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	39	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	-		
History of India from C. 300 - 1206 (HIST(A)102)	18	11	30	28	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00						
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00						
Introduction to Physical Education (PED101TH)	20	11	30	25	18	50	-	-	-	-	45	32	80	B+	6.00	4	24.00						
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00						
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	35	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00						
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00						
Prayojanmoolak Hindi (HIND101)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00						
Writing Skills (ENG AECC 104)	25	11	30	30	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00						
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00						
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -					

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670266 CAND.NAME : NIKHIL KUMAR REG NO : 24-HM-548			FATHER'S NAME : KARAM CHAND							MOTHER'S NAME : SEEMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	19	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	16	11	30	28	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	23	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	9	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670267 CAND.NAME : NIKHIL SHARMA REG NO : 23-HM-924			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : RAJ DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	27	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Introduction to Radio and TV (BJMCPAC102)	24	11	30	33	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	14	11	30	25	18	50	-	-	-	-	39	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	22	11	30	27	18	50	-	-	-	-	49	32	80	A	6.50	4	26.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	46	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670268 CAND.NAME : NITIKA KUMARI REG NO : 24-HM-453			FATHER'S NAME : SUNIL KUMAR							MOTHER'S NAME : KAVITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00	-	-	-	FAIL
Sociological Foundations of Education (EDN102CC)	15	11	30	53	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Introduction to Political Theory (POLS101)	25	11	30	32	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Indian Government and Politics (POLS102)	15	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670269 CAND.NAME : NITIN DHIMAN REG NO : 24-HM-711			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : ANJU BALA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	19	11	30	29	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	24	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	20	11	30	26	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670270 CAND.NAME : NITIN THAKUR REG NO : 24-HM-547			FATHER'S NAME : KAMLESH THAKUR							MOTHER'S NAME : LATA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	17	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	38	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	43	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	31	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670271 CAND.NAME : NORBU KHANDO REG NO : 24-HM-540			FATHER'S NAME : DORJE DANDUP							MOTHER'S NAME : LOBJUNG DOLMA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	22	11	30	22	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (POLS101, POLS102)
Indian Government and Politics (POLS102)	22	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	27	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	21	11	30	32	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	50	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	39	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

UNIV ROLL NO : 1242670272 CAND.NAME : PALAK REG NO : 24-HM-1117				FATHER'S NAME : RAKESH KUMAR						MOTHER'S NAME : CHAMPA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	12	5	15	A	12	35	-	-	-	-	-	20	50	ABS	0.00	3	0.00	-	-	-	FAIL
Practical(Stage Performance) (MUSA 102PR)	11	5	15	-	-	-	30	14	35	-	41	20	50	O+	8.50	3	25.50				
Theory of Indian Music General & Biographies (MUSA 103TH)	12	5	15	A	12	35	-	-	-	-	-	20	50	ABS	0.00	3	0.00				
Practical(Viva-Voice) (MUSA 104PR)	11	5	15	-	-	-	29	14	35	-	40	20	50	O+	8.50	3	25.50				
Introduction to Political Theory (POLS101)	23	11	30	35	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Indian Government and Politics (POLS102)	24	11	30	37	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	48	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	A	40	100	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
										-	MO/MM- / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670273 CAND.NAME : PALAK SHARMA REG NO : 24-HM-335				FATHER'S NAME : PAWAN KUMAR						MOTHER'S NAME : ARCHANA SHARMA						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPC101)	23	11	30	48	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00	6.91	-	A+	PASS
Introduction to Radio and TV (BJMCPC102)	24	11	30	48	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Writing Skills (ENG AECC 104)	25	11	30	39	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
Environment Science (ENVS2AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- 527 / 800					TC-44	TCP - 304.00	Dis. -			
UNIV ROLL NO : 1242670274 CAND.NAME : PALAK THAKUR REG NO : 24-HM-1115				FATHER'S NAME : KAKA RAM						MOTHER'S NAME : PUSHAP LATA						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	25*	25	70	-	-	-	5	52	40	100	B	5.50	6	33.00	7.18	-	A++	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	41	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	23	11	30	45	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
History of India from C. 300 - 1206 (HIST(A)102)	20	11	30	45	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	30	11	30	56	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Environment Science (ENVS2AECC2)	-	-	-	80	40	100	-	-	-	-	80	40	100	O+	8.50	4	34.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	28	11	30	42	25	70	-	-	-	-	70	40	100	A++	7.50	4	30.00				
										5	MO/MM- 551 / 800					TC-44	TCP - 316.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670275 CAND.NAME : PALAK THAKUR REG NO : 24-HM-431			FATHER'S NAME : ASHWANI KUMAR							MOTHER'S NAME : REENA RANA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	23	11	30	28	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	30	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	24	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670276 CAND.NAME : PALAK THAKUR REG NO : 24-HM-669			FATHER'S NAME : MADAN SINGH							MOTHER'S NAME : KIRAN KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	28	11	30	38	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	-	-	-	-
History of India from C. 300 - 1206 (HIST(A)102)	28	11	30	30	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	23	11	30	28	18	50	-	-	-	-	51	32	80	A	6.50	4	26.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	38	18	50	-	-	-	-	57	32	80	A++	7.50	4	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	38	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	28	11	30	28	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670277 CAND.NAME : PARTH SHARMA REG NO : 24-HM-1113			FATHER'S NAME : VINOD KUMAR							MOTHER'S NAME : SEEMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	23	11	30	14	18	50	14	8	20	-	-	40	100	F	0.00	6	0.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	25	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670278 CAND.NAME : PAYAL SHARMA REG NO : 24-HM-693				FATHER'S NAME : RAJESH KUMAR						MOTHER'S NAME : NISHA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	25	11	30	43	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00	7.80	-	O	PASS
General Cartography (GEOGP102CC)	25	11	30	31	18	50	13	8	20	-	69	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	25	11	30	52	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
History of India from C. 300 - 1206 (HIST(A)102)	21	11	30	59	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	40	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	24	11	30	62	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Environment Science (ENVS2AECC2)	-	-	-	70	40	100	-	-	-	-	70	40	100	A++	7.50	4	30.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	28	11	30	56	25	70	-	-	-	-	84	40	100	O+	8.50	4	34.00				
										-	MO/MM- 599 / 800					TC-44	TCP - 343.00	Dis. -			
UNIV ROLL NO : 1242670279 CAND.NAME : POONAM KUMARI REG NO : 24-HM-1050				FATHER'S NAME : RANJEET MAHTO						MOTHER'S NAME : LAXMI DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	6.82	-	A+	PASS
Indian Government and Politics (POLS102)	21	11	30	50	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Society in India (SOCL-A 102)	25	11	30	38	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	28	11	30	49	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	21	11	30	46	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
										-	MO/MM- 522 / 800					TC-44	TCP - 300.00	Dis. -			
UNIV ROLL NO : 1242670280 CAND.NAME : PRINCE KUMAR REG NO : 24-HM-535				FATHER'S NAME : DALIP SINGH						MOTHER'S NAME : SHEELA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	26	11	30	29	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	26	11	30	29	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Hindi Sahitya ka Itihas (HIND102)	17	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Madhyaalin Hindi Kavita (HIND103)	20	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	23	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670281 CAND.NAME : PRITI SHARMA REG NO : 24-HM-1092			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : SHEELA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPCAC101)	26	11	30	52	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00	7.43	-	A++	PASS
Introduction to Radio and TV (BJMCPCAC102)	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Introduction to Political Theory (POLS101)	22	11	30	43	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Indian Government and Politics (POLS102)	20	11	30	51	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	49	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	57	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Environment Science (ENVS2AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	23	11	30	45	25	70	-	-	-	-	68	40	100	A+	7.00	4	28.00				
										-	MO/MM- 568 / 800					TC-44	TCP - 327.00	Dis. -			
UNIV ROLL NO : 1242670282 CAND.NAME : PRIYA REG NO : 24-HM-594			FATHER'S NAME : SANDEEP KUMAR							MOTHER'S NAME : RITISHA DOGRA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	31	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (SKT- AECC- 104,HIST (A)102)
History of India from C. 300 - 1206 (HIST(A)102)	23	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Travel & Tourism Management (TTMC101)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Tourism Resources of India (TTMC102)	24	11	30	39	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	54	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	48	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	26	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670283 CAND.NAME : PRIYA KUMARI REG NO : 24-HM-684			FATHER'S NAME : PRADEEP KUMAR							MOTHER'S NAME : KANCHAN KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	26	11	30	34	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00	6.86	-	A+	PASS
Indian Government and Politics (POLS102)	26	11	30	52	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	34	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Society in India (SOCL-A 102)	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	51	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	67	40	100	-	-	-	-	67	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	45	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
										-	MO/MM- 525 / 800					TC-44	TCP - 302.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670284 CAND.NAME : PRIYA THAKUR REG NO : 24-HM-532			FATHER'S NAME : BAM DEV SINGH							MOTHER'S NAME : MEENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	23	11	30	35	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	5.73	-	B+	PASS
Indian Government and Politics (POLS102)	15	11	30	33	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	23	11	30	49	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	25*	25	70	-	-	-	7	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	40	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
									7	MO/MM- 430 / 800					TC-44	TCP - 252.00	Dis. -				
UNIV ROLL NO : 1242670285 CAND.NAME : RADHIKA REG NO : 24-HM-1099			FATHER'S NAME : AJAY KUMAR							MOTHER'S NAME : KALPANA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	5.68	-	B+	PASS
General Cartography (GEOGP102CC)	25	11	30	18	18	50	13	8	20	-	56	40	100	B+	6.00	6	36.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	29	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	16	11	30	25*	25	70	-	-	-	5	41	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	34	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	23	11	30	46	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	29	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
									5	MO/MM- 414 / 800					TC-44	TCP - 250.00	Dis. -				
UNIV ROLL NO : 1242670286 CAND.NAME : RAJNEESH KUMAR NAROT REG NO : 24-HM-586			FATHER'S NAME : RASILA RAM							MOTHER'S NAME : SEENU KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	16	11	30	30	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	5.75	-	B+	PASS
Indian Government and Politics (POLS102)	21	11	30	29	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	31	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	43	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
									-	MO/MM- 429 / 800					TC-44	TCP - 253.00	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670287 CAND.NAME : RAKSHIT THAKUR REG NO : 24-HM-990				FATHER'S NAME : MANOJ KUMAR						MOTHER'S NAME : REKHA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	26	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	7.02	-	A++	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	32	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Society in INdia (SOCL-A 102)	21	11	30	48	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	52	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	29	11	30	51	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Environment Science (ENV2AECC2)	-	-	-	64	40	100	-	-	-	-	64	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	28	11	30	54	25	70	-	-	-	-	82	40	100	O+	8.50	4	34.00				
										-	MO/MM- 549 / 800					TC-44	TCP - 309.00	Dis. -			
UNIV ROLL NO : 1242670288 CAND.NAME : RAZIA BEGUM REG NO : 23-HM-674				FATHER'S NAME : AMEER DEEN						MOTHER'S NAME : SUMANA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00	6.05	-	A	PASS
History of India from C. 300 - 1206 (HIST(A)102)	21	11	30	25*	25	70	-	-	-	6	46	40	100	C	5.00	6	30.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Introduction to Physical Education (PED101TH)	16	11	30	32	18	50	-	-	-	-	48	32	80	A	6.50	4	26.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	17	11	30	37	18	50	-	-	-	-	54	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	32	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENV2AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
										6	MO/MM- 435 / 800					TC-44	TCP - 266.00	Dis. -			
UNIV ROLL NO : 1242670289 CAND.NAME : REETIKA REG NO : 24-HM-583				FATHER'S NAME : RAM SINGH						MOTHER'S NAME : JAYTRI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Introduction to Political Theory (POLS101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Indian Government and Politics (POLS102)	16	11	30	2	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENV2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670290 CAND.NAME : RIMZHIM REG NO : 24-HM-378			FATHER'S NAME : RAMESH CHAND							MOTHER'S NAME : MAMTA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00	7.93	-	O	PASS
Indian Government and Politics (POLS102)	29	11	30	59	25	70	-	-	-	-	88	40	100	O++	9.00	6	54.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	55	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Society in India (SOCL-A 102)	23	11	30	45	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	52	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	25	11	30	59	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Environment Science (ENVS2AECC2)	-	-	-	64	40	100	-	-	-	-	64	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	54	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- 611 / 800					TC-44	TCP - 349.00	Dis. -			
UNIV ROLL NO : 1242670291 CAND.NAME : RISHABH DHIMAN REG NO : 24-HM-675			FATHER'S NAME : NARESH KUMAR							MOTHER'S NAME : KUMARI POOJA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
History of India from C. 300 - 1206 (HIST(A)102)	16	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00				
Introduction to Physical Education (PED101TH)	15	11	30	18	18	50	-	-	-	-	33	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	26	18	50	-	-	-	-	44	32	80	B+	6.00	4	24.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	16	11	30	30	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	22	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670292 CAND.NAME : RITIKA REG NO : 24-HM-666			FATHER'S NAME : KIRAN PAL SAKLANI							MOTHER'S NAME : SUMANA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG 102)
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	39	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	17	11	30	30	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	16	11	30	25	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	26	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670293 CAND.NAME : RITIKA REG NO : 24-HM-718				FATHER'S NAME : SUNIL KUMAR						MOTHER'S NAME : MANDLA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	25*	25	70	-	-	-	7	51	40	100	B	5.50	6	33.00	6.07	-	A	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	28	11	30	42	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	38	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	48	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	44	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										7	MO/MM- 447 / 800					TC-44	TCP - 267.00	Dis. -			
UNIV ROLL NO : 1242670294 CAND.NAME : RITIKA CHAUHAN REG NO : 24-HM-450				FATHER'S NAME : SANJEEV KUMAR						MOTHER'S NAME : USHA CHAUHAN						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	25	11	30	28	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	25	11	30	30	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Introduction to Political Theory (POLS101)	16	11	30	30	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Indian Government and Politics (POLS102)	15	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	22	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	52	40	100	-	-	-	-	52	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670295 CAND.NAME : RIYA REG NO : 24-HM-545				FATHER'S NAME : JEEVAN PRAKASH						MOTHER'S NAME : VANDANA						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	25	11	30	54	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00	7.16	-	A++	PASS
History of India from C. 300 - 1206 (HIST(A)102)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00				
Introduction to Physical Education (PED101TH)	17	11	30	39	18	50	-	-	-	-	56	32	80	A++	7.50	4	30.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	24	11	30	32	18	50	-	-	-	-	56	32	80	A++	7.50	4	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	43	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	26	11	30	56	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Environment Science (ENVS2AECC2)	-	-	-	66	40	100	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	26	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- 533 / 800					TC-44	TCP - 315.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670296 CAND.NAME : RIYA THAKUR REG NO : 24-HM-723				FATHER'S NAME : VIJAY KUMAR						MOTHER'S NAME : KANCHAN BALA						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	15	11	30	31	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	22	11	30	32	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	54	40	100	-	-	-	-	54	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670297 CAND.NAME : RIYA THAKUR REG NO : 24-HM-576				FATHER'S NAME : RAJESH KUMAR						MOTHER'S NAME : AMNA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	22	11	30	35	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00	6.09	-	A	PASS
Sociological Foundations of Education (EDN102CC)	21	11	30	42	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Introduction to Political Theory (POLS101)	24	11	30	27	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Indian Government and Politics (POLS102)	22	11	30	46	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	32	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	40	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
										-	MO/MM- 460 / 800					TC-44	TCP - 268.00	Dis. -			
UNIV ROLL NO : 1242670298 CAND.NAME : RIYA THAKUR REG NO : 24-HM-649				FATHER'S NAME : DESH RAJ						MOTHER'S NAME : SAMITA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	-
Indian Government and Politics (POLS102)	22	11	30	30	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Society in India (SOCL-A 102)	23	11	30	37	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	39	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	53	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	-	40	100	-	-	-	-	-	40	100	**	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670299 CAND.NAME : RUCHI DEVI REG NO : 24-HM-699			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : MAMTA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	27	11	30	37	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	7.05	-	A++	PASS
Indian Government and Politics (POLS102)	29	11	30	45	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	57	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Society in INdia (SOCL-A 102)	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	48	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	52	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	21	11	30	43	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
										-	MO/MM- 545 / 800					TC-44	TCP - 310.00	Dis. -			
UNIV ROLL NO : 1242670300 CAND.NAME : RUCHI DHIMAN REG NO : 24-HM-614			FATHER'S NAME : SURESH KUMAR							MOTHER'S NAME : DIMPLE DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	20	11	30	45	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	6.09	-	A	PASS
Indian Government and Politics (POLS102)	19	11	30	47	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	27	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Society in INdia (SOCL-A 102)	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	39	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	53	40	100	-	-	-	-	53	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	39	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
										-	MO/MM- 462 / 800					TC-44	TCP - 268.00	Dis. -			
UNIV ROLL NO : 1242670301 CAND.NAME : RUNJHUN REG NO : 24-HM-1027			FATHER'S NAME : VINOD GOSWAMI							MOTHER'S NAME : KAMLA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	24	11	30	36	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00	6.77	-	A+	PASS
Indian Government and Politics (POLS102)	27	11	30	46	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Society in INdia (SOCL-A 102)	22	11	30	40	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	42	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	44	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
										-	MO/MM- 509 / 800					TC-44	TCP - 298.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670302 CAND.NAME : RUPALI REG NO : 24-HM-1039			FATHER'S NAME : ANIL KUMAR							MOTHER'S NAME : SARIKA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	23	11	30	41	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	6.25	-	A	PASS
Indian Government and Politics (POLS102)	19	11	30	29	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Sanskrit Kavya (SKT-DSC-101)	28	11	30	39	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Sanskrit Gadya Kaavya (SKT-DSC-102)	28	11	30	30	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	52	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										-	MO/MM- 467 / 800					TC-44	TCP - 275.00	Dis. -			
UNIV ROLL NO : 1242670303 CAND.NAME : SAKSHI REG NO : 24-HM-469			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : SAPNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPCAC101)	25	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPCAC102)	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Introduction to Political Theory (POLS101)	19	11	30	29	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Indian Government and Politics (POLS102)	15	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670304 CAND.NAME : SAMIKSHA THAKUR REG NO : 24-HM-691			FATHER'S NAME : RAJEEV KUMAR							MOTHER'S NAME : URBASHI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPCAC101)	29	11	30	52	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00	7.73	-	O	PASS
Introduction to Radio and TV (BJMCPCAC102)	29	11	30	54	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	37	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	48	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	50	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	51	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	81	40	100	-	-	-	-	81	40	100	O+	8.50	4	34.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	52	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
										-	MO/MM- 598 / 800					TC-44	TCP - 340.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670305 CAND.NAME : SANCHIT KUMAR REG NO : 24-HM-681			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : SHAKUNTLA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00	5.57	-	B+	PASS
Indian Government and Politics (POLS102)	15	11	30	38	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	23	11	30	41	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	29	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										-	MO/MM- 424 / 800					TC-44	TCP - 245.00	Dis. -			
UNIV ROLL NO : 1242670306 CAND.NAME : SANDHYA REG NO : 24-HM-557			FATHER'S NAME : NARESH KUMAR							MOTHER'S NAME : KRANTI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	25	11	30	28	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	6.32	-	A	PASS
General Cartography (GEOGP102CC)	26	11	30	20	18	50	14	8	20	-	60	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	18	11	30	50	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
History of India from C. 300 - 1206 (HIST(A)102)	21	11	30	37	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	41	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	29	11	30	40	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	27	25	70	-	-	-	-	46	40	100	C	5.00	4	20.00				
										-	MO/MM- 475 / 800					TC-44	TCP - 278.00	Dis. -			
UNIV ROLL NO : 1242670307 CAND.NAME : SANGAM SHARMA REG NO : 24-HM-661			FATHER'S NAME : KARAM CHAND							MOTHER'S NAME : MAN KALI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	25	11	30	40	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	7.05	-	A++	PASS
General Cartography (GEOGP102CC)	25	11	30	26	18	50	16	8	20	-	67	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	24	11	30	50	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
History of India from C. 300 - 1206 (HIST(A)102)	20	11	30	44	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	56	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	66	40	100	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	38	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
										-	MO/MM- 538 / 800					TC-44	TCP - 310.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670308 CAND.NAME : SANIA THAKUR REG NO : 24-HM-662			FATHER'S NAME : KARTAR SINGH							MOTHER'S NAME : SAPNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	23	11	30	28	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	6.27	-	A	PASS
Indian Government and Politics (POLS102)	16	11	30	37	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	33	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Society in India (SOCL-A 102)	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	52	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	59	40	100	-	-	-	-	59	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- 477 / 800					TC-44	TCP - 276.00	Dis. -			
UNIV ROLL NO : 1242670309 CAND.NAME : SANIYA BEGAM REG NO : 24-HM-1136			FATHER'S NAME : MUSTAK MOHAMMAD							MOTHER'S NAME : SAEIYA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	37	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	-	-	-	FAIL
History of India from C. 300 - 1206 (HIST(A)102)	17	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Introduction to Physical Education (PED101TH)	16	11	30	27	18	50	-	-	-	-	43	32	80	B	5.50	4	22.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	17	11	30	20	18	50	-	-	-	-	37	32	80	C	5.00	4	20.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	23	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670310 CAND.NAME : SAURBH SHARMA REG NO : 24-HM-368			FATHER'S NAME : ASHWANI KUMAR							MOTHER'S NAME : SUSHMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	21	11	30	35	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	6.23	-	A	PASS
Indian Government and Politics (POLS102)	21	11	30	38	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	23	11	30	36	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	49	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	63	40	100	-	-	-	-	63	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	4	26.00				
										-	MO/MM- 478 / 800					TC-44	TCP - 274.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670311 CAND.NAME : SAZIA REG NO : 24-HM-1046			FATHER'S NAME : NASEER MOHAMMAD							MOTHER'S NAME : SEEMA BIBI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	6.16	-	A	PASS
General Cartography (GEOGP102CC)	24	11	30	20	18	50	14	8	20	-	58	40	100	B+	6.00	6	36.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	40	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
History of India from C. 300 - 1206 (HIST(A)102)	23	11	30	38	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	30	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	49	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	58	40	100	-	-	-	-	58	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paarineey Shiksha (SKT-AECC-104)	25	11	30	29	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
										-	MO/MM- 469 / 800					TC-44	TCP - 271.00	Dis. -			
UNIV ROLL NO : 1242670312 CAND.NAME : SHAGUN THAKUR REG NO : 24-HM-622			FATHER'S NAME : VIKRANT THAKUR							MOTHER'S NAME : REENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00	6.30	-	A	PASS
Sociological Foundations of Education (EDN102CC)	25	11	30	53	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Introduction to Political Theory (POLS101)	21	11	30	31	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Indian Government and Politics (POLS102)	17	11	30	36	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	24	11	30	46	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	4	26.00				
										-	MO/MM- 478 / 800					TC-44	TCP - 277.00	Dis. -			
UNIV ROLL NO : 1242670313 CAND.NAME : SHAINA THAKUR REG NO : 24-HM-654			FATHER'S NAME : HARVINDER SINGH							MOTHER'S NAME : SUSHMA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	20	11	30	36	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	6.25	-	A	PASS
Indian Government and Politics (POLS102)	17	11	30	44	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	21	11	30	39	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	35	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	43	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	64	40	100	-	-	-	-	64	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- 469 / 800					TC-44	TCP - 275.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670314 CAND.NAME : SHAKSHI PARMAR REG NO : 24-HM-644				FATHER'S NAME : BIR SINGH						MOTHER'S NAME : MANJU DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMPAC101)	24	11	30	45	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00	6.95	-	A+	PASS
Introduction to Radio and TV (BJMPAC102)	24	11	30	41	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	47	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	23	11	30	49	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	47	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
										-	MO/MM- 528 / 800					TC-44	TCP - 306.00	Dis. -			
UNIV ROLL NO : 1242670315 CAND.NAME : SHAKSHI SHARMA REG NO : 24-HM-731				FATHER'S NAME : VINOD KUMAR						MOTHER'S NAME : NEELAM KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	7.09	-	A++	PASS
Sociological Foundations of Education (EDN102CC)	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	25	11	30	51	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
History of India from C. 300 - 1206 (HIST(A)102)	26	11	30	43	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	36	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	54	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	69	40	100	-	-	-	-	69	40	100	A+	7.00	4	28.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	28	11	30	36	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
										-	MO/MM- 550 / 800					TC-44	TCP - 312.00	Dis. -			
UNIV ROLL NO : 1242670316 CAND.NAME : SHIKHA THAKUR REG NO : 24-HM-632				FATHER'S NAME : SUNIL KUMAR						MOTHER'S NAME : VEENA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	21	11	30	27	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00	5.98	-	B+	PASS
Indian Government and Politics (POLS102)	20	11	30	31	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	33	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Society in India (SOCL-A 102)	23	11	30	35	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	35	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	39	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	53	40	100	-	-	-	-	53	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	19	11	30	47	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
										-	MO/MM- 454 / 800					TC-44	TCP - 263.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670317 CAND.NAME : SHIVANI REG NO : 24-HM-526			FATHER'S NAME : ANIL KUMAR							MOTHER'S NAME : SANTOSH							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	7.89	-	O	PASS
Indian Government and Politics (POLS102)	28	11	30	53	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	51	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Society in INdia (SOCL-A 102)	22	11	30	48	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	53	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	27	11	30	55	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Environment Science (ENVS2AECC2)	-	-	-	70	40	100	-	-	-	-	70	40	100	A++	7.50	4	30.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	59	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
										-	MO/MM- 603 / 800					TC-44	TCP - 347.00	Dis. -			
UNIV ROLL NO : 1242670318 CAND.NAME : SHIVANI REG NO : 24-HM-727			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : NISHA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	23	11	30	43	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	6.43	-	A	PASS
Indian Government and Politics (POLS102)	23	11	30	38	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Society in INdia (SOCL-A 102)	21	11	30	42	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	30	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	47	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- 487 / 800					TC-44	TCP - 283.00	Dis. -			
UNIV ROLL NO : 1242670319 CAND.NAME : SHIVANI THAKUR REG NO : 24-HM-700			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : ANJNA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	6.59	-	A+	PASS
Indian Government and Politics (POLS102)	23	11	30	44	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	35	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Society in INdia (SOCL-A 102)	20	11	30	40	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	48	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	63	40	100	-	-	-	-	63	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	40	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- 496 / 800					TC-44	TCP - 290.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670320 CAND.NAME : SHIYA KUMARI REG NO : 24-HM-447			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : SOMA DEVI							Exam Type : FRESH					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Principles of Communication (BJMCPAC101)	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				FAIL	
Introduction to Radio and TV (BJMCPAC102)	27	11	30	25	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00					
Introduction to Political Theory (POLS101)	22	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Indian Government and Politics (POLS102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00					
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	35	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00					
Environment Science (ENVS2AECC2)	-	-	-	27	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	4	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670321 CAND.NAME : SHRALI THAKUR REG NO : 23-HM-584			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : SUBHDRA							Exam Type : FRESH					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				-	
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00					
Introduction to Physical Education (PED101TH)	17	11	30	24	18	50	-	-	-	-	41	32	80	B	5.50	4	22.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	20	11	30	31	18	50	-	-	-	-	51	32	80	A	6.50	4	26.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00					
Prayojanmoolak Hindi (HIND101)	30	11	30	34	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00					
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00					
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	25	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670323 CAND.NAME : SIYA THAKUR REG NO : 24-HM-716			FATHER'S NAME : SUBHASH CHAND							MOTHER'S NAME : SUNITA DEVI							Exam Type : FRESH					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Principles of Communication (BJMCPAC101)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				FAIL	
Introduction to Radio and TV (BJMCPAC102)	27	11	30	26	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00					
Introduction to Political Theory (POLS101)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00					
Indian Government and Politics (POLS102)	22	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Environment Science (ENVS2AECC2)	-	-	-	51	40	100	-	-	-	-	51	40	100	B	5.50	4	22.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	24	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670324 CAND.NAME : SOHANI REG NO : 24-HM-568				FATHER'S NAME : PYAR CHAND						MOTHER'S NAME : VEENA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	29	11	30	43	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	6.89	-	A+	PASS
Sociological Foundations of Education (EDN102CC)	22	11	30	50	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	28	11	30	53	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
History of India from C. 300 - 1206 (HIST(A)102)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	25*	25	70	-	-	-	3	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	47	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	56	40	100	-	-	-	-	56	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
									3	MO/MM- 517 / 800					TC-44	TCP - 303.00	Dis. -				
UNIV ROLL NO : 1242670325 CAND.NAME : SOHIL SHARMA REG NO : 24-HM-697				FATHER'S NAME : RAKESH KUMAR						MOTHER'S NAME : REENA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	23	11	30	55	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00	7.66	-	O	PASS
History of India from C. 300 - 1206 (HIST(A)102)	27	11	30	40	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Introduction to Physical Education (PED101TH)	22	11	30	37	18	50	-	-	-	-	59	32	80	A++	7.50	4	30.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	25	11	30	42	18	50	-	-	-	-	67	32	80	O+	8.50	4	34.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	49	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	28	11	30	49	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Environment Science (ENVS2AECC2)	-	-	-	63	40	100	-	-	-	-	63	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
									-	MO/MM- 582 / 800					TC-44	TCP - 337.00	Dis. -				
UNIV ROLL NO : 1242670326 CAND.NAME : SONALI REG NO : 24-HM-385				FATHER'S NAME : GURSEWAK BASSI						MOTHER'S NAME : RAMA RANI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	25*	25	70	-	-	-	7	52	40	100	B	5.50	6	33.00	7.16	-	A++	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	48	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Administrative Theory (PUBA101A)	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Indian Administration (PUBA102A)	24	11	30	51	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	54	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	45	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	69	40	100	-	-	-	-	69	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	43	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
									7	MO/MM- 550 / 800					TC-44	TCP - 315.00	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670327 CAND.NAME : SONAM REG NO : 24-HM-1110			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : SUSHMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	6.66	-	A+	PASS
Indian Government and Politics (POLS102)	21	11	30	50	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	31	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	40	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	48	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	67	40	100	-	-	-	-	67	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	51	25	70	-	-	-	-	69	40	100	A+	7.00	4	28.00				
										-	MO/MM- 510 / 800					TC-44	TCP - 293.00	Dis. -			
UNIV ROLL NO : 1242670328 CAND.NAME : SOURABH SHARMA REG NO : 24-HM-552			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : RAJ DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (POLS102, ENG CE 101)
Introduction to Radio and TV (BJMCPAC102)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Introduction to Political Theory (POLS101)	21	11	30	29	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Indian Government and Politics (POLS102)	15	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Writing Skills (ENG AECC 104)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670329 CAND.NAME : SUHANI REG NO : 24-HM-604			FATHER'S NAME : SATPAL SINGH							MOTHER'S NAME : SUNITA YADAV							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	28	11	30	46	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	6.91	-	A+	PASS
Introduction to Radio and TV (BJMCPAC102)	27	11	30	39	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Introduction to Political Theory (POLS101)	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Indian Government and Politics (POLS102)	23	11	30	51	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	40	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	47	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- 522 / 800					TC-44	TCP - 304.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670330 CAND.NAME : SUHANI THAKUR REG NO : 24-HM-574	FATHER'S NAME : RAJESH KUMAR									MOTHER'S NAME : SUNITA KUMARI									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	25*	25	70	-	-	-	7	52	40	100	B	5.50	6	33.00	7.23	-	A++	PASS	
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	25	11	30	49	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00					
History of India from C. 300 - 1206 (HIST(A)102)	26	11	30	54	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00					
Prayojanmoolak Hindi (HIND101)	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00					
Environment Science (ENVS2AECC2)	-	-	-	71	40	100	-	-	-	-	71	40	100	A++	7.50	4	30.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	4	30.00					
										7	MO/MM- 557 / 800					TC-44	TCP - 318.00	Dis. -				

UNIV ROLL NO : 1242670331 CAND.NAME : SUMANTEE DEVI REG NO : 24-HM-384	FATHER'S NAME : DHANI ORAON									MOTHER'S NAME : JUBLO DEVI									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Physical Geography (GEOGP101CC)	25	11	30	28	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (SKT-AECC-104,HIST(A)101)	
General Cartography (GEOGP102CC)	26	11	30	26	18	50	14	8	20	-	66	40	100	A+	7.00	6	42.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00					
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	32	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00					
Prayojanmoolak Hindi (HIND101)	19	11	30	33	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00					
Environment Science (ENVS2AECC2)	-	-	-	61	40	100	-	-	-	-	61	40	100	A	6.50	4	26.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	28	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				

UNIV ROLL NO : 1242670332 CAND.NAME : SUNNY KUMAR REG NO : 24-HM-708	FATHER'S NAME : SANJAY JHA									MOTHER'S NAME : DAZY DEVI									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Principles of Communication (BJMCPAC101)	29	11	30	50	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00	7.27	-	A++	PASS	
Introduction to Radio and TV (BJMCPAC102)	29	11	30	42	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00					
Introduction to Political Theory (POLS101)	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00					
Indian Government and Politics (POLS102)	27	11	30	55	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00					
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	45	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	46	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00					
Environment Science (ENVS2AECC2)	-	-	-	64	40	100	-	-	-	-	64	40	100	A	6.50	4	26.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	40	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00					
										-	MO/MM- 558 / 800					TC-44	TCP - 320.00	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670333 CAND.NAME : SURAJ SHARMA REG NO : 24-HM-580	FATHER'S NAME : RAKESH KUMAR									MOTHER'S NAME : KAMLESH KUMARI									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	19	11	30	36	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00	6.25	-	A	PASS	
History of India from C. 300 - 1206 (HIST(A)102)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Introduction to Physical Education (PED101TH)	21	11	30	31	18	50	-	-	-	-	52	32	80	A+	7.00	4	28.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	31	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00					
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	34	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00					
Prayojanmoolak Hindi (HIND101)	14	11	30	45	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00					
Environment Science (ENV2AECC2)	-	-	-	52	40	100	-	-	-	-	52	40	100	B	5.50	4	22.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00					
										-	MO/MM- 459 / 800					TC-44	TCP - 275.00	Dis. -				
UNIV ROLL NO : 1242670334 CAND.NAME : TAMANA CHOPRA REG NO : 24-HM-435	FATHER'S NAME : HARISH KUMAR									MOTHER'S NAME : SAVITA CHOPRA									Exam Type : FRESH			
Paper Detail														GPA	CGPA	Grade	Result/ Status					
IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)		
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Principles of Communication (BJMCPAC101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	-	-	-	FAIL	
Introduction to Radio and TV (BJMCPAC102)	26	11	30	28	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Introduction to Physical Education (PED101TH)	15	11	30	20	18	50	-	-	-	-	35	32	80	C	5.00	4	20.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	17	11	30	20	18	50	-	-	-	-	37	32	80	C	5.00	4	20.00					
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Environment Science (ENV2AECC2)	-	-	-	22	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	2	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				
UNIV ROLL NO : 1242670335 CAND.NAME : TAMANNA KUMARI REG NO : 24-HM-383	FATHER'S NAME : ASHOK URAV									MOTHER'S NAME : LALITA DEVI									Exam Type : FRESH			
Paper Detail														GPA	CGPA	Grade	Result/ Status					
IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)		
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Physical Geography (GEOGP101CC)	24	11	30	25*	25	70	-	-	-	8	49	40	100	C	5.00	6	30.00	5.86	-	B+	PASS	
General Cartography (GEOGP102CC)	24	11	30	18	18	50	16	8	20	-	58	40	100	B+	6.00	6	36.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	38	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00					
History of India from C. 300 - 1206 (HIST(A)102)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00					
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00					
Prayojanmoolak Hindi (HIND101)	19	11	30	44	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00					
Environment Science (ENV2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00					
										8	MO/MM- 456 / 800					TC-44	TCP - 258.00	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670336 CAND.NAME : TANIYA SHARMA REG NO : 24-HM-550				FATHER'S NAME : KULDEEP KUMAR						MOTHER'S NAME : KRISHNA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	25	11	30	53	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00	8.02	-	O+	PASS
History of India from C. 300 - 1206 (HIST(A)102)	24	11	30	52	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Introduction to Travel & Tourism Management (TTMC101)	27	11	30	60	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00				
Tourism Resources of India (TTMC102)	25	11	30	52	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	26	11	30	59	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
Environment Science (ENVS2AECC2)	-	-	-	61	40	100	-	-	-	-	61	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	28	11	30	42	25	70	-	-	-	-	70	40	100	A++	7.50	4	30.00				
										-	MO/MM- 604 / 800					TC-44	TCP - 353.00	Dis. -			
UNIV ROLL NO : 1242670337 CAND.NAME : TANU REG NO : 24-HM-314				FATHER'S NAME : SUNIL KUMAR						MOTHER'S NAME : MEERAN DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	29	11	30	50	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00	8.50	-	O++	PASS
Indian Government and Politics (POLS102)	29	11	30	60	25	70	-	-	-	-	89	40	100	O++	9.00	6	54.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	60	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Society in India (SOCL-A 102)	23	11	30	59	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	54	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Prayojanmoolak Hindi (HIND101)	27	11	30	55	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Environment Science (ENVS2AECC2)	-	-	-	78	40	100	-	-	-	-	78	40	100	O	8.00	4	32.00				
Hindi Bhasha aur Sampreshan (HIND104)	26	11	30	60	25	70	-	-	-	-	86	40	100	O++	9.00	4	36.00				
										-	MO/MM- 656 / 800					TC-44	TCP - 374.00	Dis. -			
UNIV ROLL NO : 1242670338 CAND.NAME : TANUJA REG NO : 24-HM-722				FATHER'S NAME : TRILOK CHAND						MOTHER'S NAME : REETA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	25	11	30	32	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIST(A)1 02)
General Cartography (GEOGP102CC)	25	11	30	22	18	50	12	8	20	-	59	40	100	B+	6.00	6	36.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	41	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
History of India from C. 300 - 1206 (HIST(A)102)	25	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670339 CAND.NAME : TANZIN DOLKER REG NO : 24-HM-955			FATHER'S NAME : ANGDUI CHERING							MOTHER'S NAME : KALZANG YURZOM							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	19	11	30	30	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				COMPAR TMENT TILL APRIL 2026 Paper Code (HIND104)
Indian Government and Politics (POLS102)	16	11	30	31	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	27	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)	21	11	30	43	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	36	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENV2AECC2)	-	-	-	53	40	100	-	-	-	-	53	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670340 CAND.NAME : TANZIN MUNKIT REG NO : 24-HM-380			FATHER'S NAME : TANZIN DORJE							MOTHER'S NAME : LOBZANG LAMO							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	29	11	30	40	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00	7.25	-	A++	PASS
Introduction to Radio and TV (BJMCPAC102)	29	11	30	51	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Introduction to Political Theory (POLS101)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Indian Government and Politics (POLS102)	28	11	30	55	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	47	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	42	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENV2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	21	11	30	42	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
										-	MO/MM- 552 / 800					TC-44	TCP - 319.00	Dis. -			
UNIV ROLL NO : 1242670341 CAND.NAME : TANZIN WANGCHEN REG NO : 24-HM-738			FATHER'S NAME : TASHI CHHOPAL							MOTHER'S NAME : SONAM CHHOMO							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00	-	-	-	FAIL
History of India from C. 300 - 1206 (HIST(A)102)	20	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Introduction to Physical Education (PED101TH)	15	11	30	25	18	50	-	-	-	-	40	32	80	B	5.50	4	22.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	20	11	30	28	18	50	-	-	-	-	48	32	80	A	6.50	4	26.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENV2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	25	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670342 CAND.NAME : VANSH RANA REG NO : 24-HM-1119	FATHER'S NAME : VIPIN KUMAR RANA									MOTHER'S NAME : KRISHNA RANA									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00	6.20	-	A	PASS	
History of India from C. 300 - 1206 (HIST(A)102)	19	11	30	32	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Introduction to Physical Education (PED101TH)	18	11	30	31	18	50	-	-	-	-	49	32	80	A	6.50	4	26.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	22	11	30	28	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00					
Prayojanmoolak Hindi (HIND101)	21	11	30	30	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00					
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	25	11	30	25*	25	70	-	-	-	6	50	40	100	B	5.50	4	22.00					
										6	MO/MM- 454 / 800					TC-44	TCP - 273.00	Dis. -				
UNIV ROLL NO : 1242670343 CAND.NAME : VANSHIKA DHIMAN REG NO : 24-HM-640	FATHER'S NAME : ASHWANI KUMAR									MOTHER'S NAME : ANITA DEVI									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	17	11	30	29	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (ENG CE 101,SKT- AECC- 104)	
History of India from C. 300 - 1206 (HIST(A)102)	22	11	30	26	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Introduction to Physical Education (PED101TH)	17	11	30	25	18	50	-	-	-	-	42	32	80	B	5.50	4	22.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	21	11	30	26	18	50	-	-	-	-	47	32	80	B+	6.00	4	24.00					
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00					
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	19	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670344 CAND.NAME : VANSHIKA THAKUR REG NO : 24-HM-592	FATHER'S NAME : RAVINDER SINGH									MOTHER'S NAME : REENA									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Principles of Communication (BJMCPC101)	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (POL102)	
Introduction to Radio and TV (BJMCPC102)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00					
Introduction to Political Theory (POLS101)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00					
Indian Government and Politics (POLS102)	19	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	41	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00					
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00					
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670345 CAND.NAME : VARSHA REG NO : 24-HM-620				FATHER'S NAME : VIJAY KUMAR						MOTHER'S NAME : MONIKA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	23	11	30	51	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	7.64	-	O	PASS
History of India from C. 300 - 1206 (HIST(A)102)	24	11	30	39	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Introduction to Travel & Tourism Management (TTMC101)	26	11	30	59	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
Tourism Resources of India (TTMC102)	25	11	30	60	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	46	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	72	40	100	-	-	-	-	72	40	100	A++	7.50	4	30.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paarineey Shiksha (SKT-AECC-104)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
										-	MO/MM- 580 / 800					TC-44	TCP - 336.00	Dis. -			
UNIV ROLL NO : 1242670346 CAND.NAME : VARSHA RANI REG NO : 24-HM-1057				FATHER'S NAME : RIKHI RAM						MOTHER'S NAME : KAMLA DEV						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	24	11	30	42	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	6.55	-	A+	PASS
Indian Government and Politics (POLS102)	21	11	30	46	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	38	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Society in INdia (SOCL-A 102)	23	11	30	48	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	61	40	100	-	-	-	-	61	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										-	MO/MM- 494 / 800					TC-44	TCP - 288.00	Dis. -			
UNIV ROLL NO : 1242670347 CAND.NAME : VISHAL REG NO : 23-GW-567				FATHER'S NAME : SHRI RAM						MOTHER'S NAME : RAJ KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00	-	-	-	FAIL
Sociological Foundations of Education (EDN102CC)	15	11	30	46	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to Political Theory (POLS101)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Indian Government and Politics (POLS102)	15	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Writing Skills (ENG AECC 104)	25	11	30	22	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670348 CAND.NAME : VISHESH REG NO : 24-HM-1025			FATHER'S NAME : SAUDAN SINGH							MOTHER'S NAME : RAM DULARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,HIST (A)102)
Sociological Foundations of Education (EDN102CC)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	44	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	18	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	12	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670349 CAND.NAME : VIVEK RANA REG NO : 24-HM-643			FATHER'S NAME : BINTU RANA							MOTHER'S NAME : MEENA RANA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	16	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Sociological Foundations of Education (EDN102CC)	16	11	30	34	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Introduction to Political Theory (POLS101)	19	11	30	20	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Indian Government and Politics (POLS102)	18	11	30	3	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	28	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	27	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670350 CAND.NAME : VRINDA REG NO : 24-HM-635			FATHER'S NAME : ANIL KUMAR							MOTHER'S NAME : SONIA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPC101)	29	11	30	32	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	5.89	-	B+	PASS
Introduction to Radio and TV (BJMCPC102)	29	11	30	31	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Introduction to Political Theory (POLS101)	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Indian Government and Politics (POLS102)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25*	25	70	-	-	-	3	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	61	40	100	-	-	-	-	61	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										3	MO/MM- 438 / 800					TC-44	TCP - 259.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670351 CAND.NAME : YUVRAJ RANA REG NO : 24-HM-309			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : VEENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	23	11	30	36	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	6.27	-	A	PASS
Indian Government and Politics (POLS102)	29	11	30	39	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	37	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Society in INdia (SOCL-A 102)	23	11	30	46	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	26	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	40	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	64	40	100	-	-	-	-	64	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- 483 / 800					TC-44	TCP - 276.00	Dis. -			
UNIV ROLL NO : 1242670352 CAND.NAME : ADITI THAKUR REG NO : 24-HM-1129			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : RAKSHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00	7.84	-	O	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	49	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	43	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Society in INdia (SOCL-A 102)	24	11	30	53	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	52	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	53	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Writing Skills (ENG AECC 104)	28	11	30	55	25	70	-	-	-	-	83	40	100	O+	8.50	4	34.00				
Environment Science (ENVS2AECC2)	-	-	-	77	40	100	-	-	-	-	77	40	100	O	8.00	4	32.00				
										-	MO/MM- 605 / 800					TC-44	TCP - 345.00	Dis. -			
UNIV ROLL NO : 1242670354 CAND.NAME : AKSHANTHAKUR REG NO : 24-HM-1023			FATHER'S NAME : DINESH KUMAR							MOTHER'S NAME : NISHA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	14	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Principles of Microeconomics-II (ECONA102)	14	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Hindi Sahitya ka Itihas (HIND102)	18	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Madhykaalin Hindi Kavita (HIND103)	17	11	30	30	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670355 CAND.NAME : ANANYA KUMARI REG NO : 24-HM-696				FATHER'S NAME : RAKESH KUMAR						MOTHER'S NAME : MALKA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00	7.30	-	A++	PASS
Introduction to Radio and TV (BJMCPAC102)	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	37	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	43	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	51	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Writing Skills (ENG AECC 104)	25	11	30	42	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
Environment Science (ENVS2AECC2)	-	-	-	76	40	100	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- 564 / 800					TC-44	TCP - 321.00	Dis. -			
UNIV ROLL NO : 1242670356 CAND.NAME : ANCHAL MANKOTIA REG NO : 24-HM-1002				FATHER'S NAME : SURINDER KUMAR						MOTHER'S NAME : SUNITA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,SOCL -A 101)
Madhyaalain Hindi Kavita (HIND103)	16	11	30	33	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	18	25	70	-	-	-	-	40	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	17	25	70	-	-	-	-	40	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670357 CAND.NAME : ANISH KUMAR REG NO : 24-HM-1069				FATHER'S NAME : SURESH KUMAR						MOTHER'S NAME : NIMMO DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	18	11	30	20	25	70	-	-	-	-	40	40	100	F	0.00	6	0.00	-	-	-	FAIL
Sociological Foundations of Education (EDN102CC)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	21	11	30	19	25	70	-	-	-	-	40	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	20	11	30	34	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	11	25	70	-	-	-	-	40	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	18	25	70	-	-	-	-	40	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670358 CAND.NAME : ANKIT KUMAR CHEEDA REG NO : 24-HM-619			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : SONIYA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	26	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	29	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670359 CAND.NAME : ANMOL KOUNDAL REG NO : 24-HM-589			FATHER'S NAME : RAVI KUMAR							MOTHER'S NAME : MEENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	28	11	30	43	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00	7.70	-	O	PASS
Principles of Microeconomics-II (ECONA102)	28	11	30	48	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	51	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	56	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	55	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	66	40	100	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- 586 / 800					TC-44	TCP - 339.00	Dis. -			
UNIV ROLL NO : 1242670360 CAND.NAME : ARPITA SHARMA REG NO : 24-HM-617			FATHER'S NAME : SURINDER PAL							MOTHER'S NAME : SANJNA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	7.14	-	A++	PASS
Principles of Microeconomics-II (ECONA102)	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	47	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	54	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	52	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Environment Science (ENVS2AECC2)	-	-	-	69	40	100	-	-	-	-	69	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
										-	MO/MM- 542 / 800					TC-44	TCP - 314.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670361 CAND.NAME : ARYAN RATHOUR REG NO : 24-HM-539			FATHER'S NAME : DINESH KUMAR							MOTHER'S NAME : REENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	20	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Principles of Microeconomics-II (ECONA102)	21	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Differential Calculus (MATH101TH)	16	11	30	4	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Differential Equations (MATH102TH)	16	11	30	0	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	30	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	16	11	30	41	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670362 CAND.NAME : DEVINDER GAUTAM REG NO : 23-HM-451			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : REENA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	23	11	30	34	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	25	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670363 CAND.NAME : DIKSHA KUMARI REG NO : 24-HM-1128			FATHER'S NAME : HANS RAJ							MOTHER'S NAME : SUNITA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	17	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00	-	-	-	FAIL
Principles of Microeconomics-II (ECONA102)	17	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	25	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Writing Skills (ENG AECC 104)	25	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
Environment Science (ENVS2AECC2)	-	-	-	A	40	100	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670364 CAND.NAME : DIPESH REG NO : 24-HM-442			FATHER'S NAME : MEHAR CHAND							MOTHER'S NAME : RATTAN DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Administrative Theory (PUBA101A)	15	11	30	33	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIND104)
Indian Administration (PUBA102A)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00	-	-	-	
Introduction to Travel & Tourism Management (TTMC101)	23	11	30	34	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00	-	-	-	
Tourism Resources of India (TTMC102)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00	-	-	-	
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	25	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	-	-	-	
Prayojanmoolak Hindi (HIND101)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00	-	-	-	
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00	-	-	-	
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00	-	-	-	
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670365 CAND.NAME : DOLLY THAKUR REG NO : 24-HM-1001			FATHER'S NAME : RAKESH THAKUR							MOTHER'S NAME : SALONIA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	15	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	16	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Introduction to Sociology (SOCL-A 101)	20	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Society in India (SOCL-A 102)	19	11	30	32	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Prayojanmoolak Hindi (HIND101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00	-	-	-	
Environment Science (ENVS2AECC2)	-	-	-	23	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00	-	-	-	
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00	-	-	-	
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670366 CAND.NAME : HARISH KUMAR REG NO : 24-HM-381			FATHER'S NAME : TEK CHAND							MOTHER'S NAME : CHAMPA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00	-	-	-	FAIL
Principles of Microeconomics-II (ECONA102)	18	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Hindi Sahitya ka Itihas (HIND102)	15	11	30	2	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Madhya kaalin Hindi Kavita (HIND103)	16	11	30	25	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00	-	-	-	
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Prayojanmoolak Hindi (HIND101)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00	-	-	-	
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00	-	-	-	
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00	-	-	-	
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670367 CAND.NAME : INDU REG NO : 24-HM-1000				FATHER'S NAME : JEEVAN KUMAR						MOTHER'S NAME : SUMAN DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	11	5	15	13	12	35	-	-	-	-	24	20	50	C	5.00	3	15.00	5.90	-	B+	PASS
Practical(Stage Performance) (MUSA 102PR)	9	5	15	-	-	-	22	14	35	-	31	20	50	A	6.50	3	19.50				
Theory of Indian Music General & Biographies (MUSA 103TH)	8	5	15	23	12	35	-	-	-	-	31	20	50	A	6.50	3	19.50				
Practical(Viva-Voice) (MUSA 104PR)	8	5	15	-	-	-	23	14	35	-	31	20	50	A	6.50	3	19.50				
Introduction to Political Theory (POLS101)	20	11	30	25*	25	70	-	-	-	5	45	40	100	C	5.00	6	30.00				
Indian Government and Politics (POLS102)	19	11	30	31	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	42	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
										5	MO/MM- 440 / 800					TC-44	TCP - 259.50	Dis. -			
UNIV ROLL NO : 1242670368 CAND.NAME : JIYA DHIMAN REG NO : 23-HM-317				FATHER'S NAME : MANJEET SINGH						MOTHER'S NAME : SEEMA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	24	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG 102,ENG 103)
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	23	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Society in INDia (SOCL-A 102)	20	11	30	38	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	28	25	70	-	-	-	-	46	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670369 CAND.NAME : JYOTI SHARMA REG NO : 24-HM-1045				FATHER'S NAME : RATTAN CHAND						MOTHER'S NAME : ROMA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	16	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,HIND1 02)
Madhykaalin Hindi Kavita (HIND103)	17	11	30	35	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	27	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Society in INDia (SOCL-A 102)	23	11	30	44	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670370 CAND.NAME : KARAN REG NO : 24-HM-315			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : REKHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	23	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	22	11	30	39	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	56	40	100	-	-	-	-	56	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	17	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670371 CAND.NAME : KULDEEP KUMAR REG NO : 24-HM-449			FATHER'S NAME : ROSHAN LAL							MOTHER'S NAME : RAM PIYARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	14	5	15	30	12	35	-	-	-	-	44	20	50	O++	9.00	3	27.00	8.68	-	O++	PASS
Practical(Stage Performance) (MUSA 102PR)	14	5	15	-	-	-	33	14	35	-	47	20	50	S	9.50	3	28.50				
Theory of Indian Music General & Biographies (MUSA 103TH)	14	5	15	29	12	35	-	-	-	-	43	20	50	O++	9.00	3	27.00				
Practical(Viva-Voice) (MUSA 104PR)	14	5	15	-	-	-	33	14	35	-	47	20	50	S	9.50	3	28.50				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Introduction to Physical Education (PED101TH)	25	11	30	39	18	50	-	-	-	-	64	32	80	O+	8.50	4	34.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	25	11	30	45	18	50	-	-	-	-	70	32	80	O++	9.00	4	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	47	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	29	11	30	56	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
Environment Science (ENVS2AECC2)	-	-	-	70	40	100	-	-	-	-	70	40	100	A++	7.50	4	30.00				
Hindi Bhasha aur Sampreshan (HIND104)	28	11	30	63	25	70	-	-	-	-	91	40	100	S	9.50	4	38.00				
										-	MO/MM- 666 / 800					TC-44	TCP - 382.00	Dis. -			
UNIV ROLL NO : 1242670372 CAND.NAME : KUMARI SHABNAM REG NO : 24-HM-377			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : NEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	6.07	-	A	PASS
General Cartography (GEOGP102CC)	24	11	30	18	18	50	13	8	20	-	55	40	100	B+	6.00	6	36.00				
Differential Calculus (MATH101TH)	16	11	30	40	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Differential Equations (MATH102TH)	21	11	30	25*	25	70	-	-	-	6	46	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	45	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	49	40	100	-	-	-	-	49	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	47	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
										6	MO/MM- 458 / 800					TC-44	TCP - 267.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670373 CAND.NAME : LOVELY KUMARI REG NO : 24-HM-630				FATHER'S NAME : SANJAY KUMAR						MOTHER'S NAME : VEENA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	13	5	15	24	12	35	-	-	-	-	37	20	50	A++	7.50	3	22.50	6.19	-	A	PASS
Practical(Stage Performance) (MUSA 102PR)	13	5	15	-	-	-	30	14	35	-	43	20	50	O++	9.00	3	27.00				
Theory of Indian Music General & Biographies (MUSA 103TH)	13	5	15	22	12	35	-	-	-	-	35	20	50	A++	7.50	3	22.50				
Practical(Viva-Voice) (MUSA 104PR)	12	5	15	-	-	-	29	14	35	-	41	20	50	O+	8.50	3	25.50				
Introduction to Political Theory (POLS101)	21	11	30	35	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Indian Government and Politics (POLS102)	15	11	30	25*	25	70	-	-	-	5	40	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	37	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENV2AECC2)	-	-	-	51	40	100	-	-	-	-	51	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	37	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										5	MO/MM- 459 / 800					TC-44	TCP - 272.50	Dis. -			
UNIV ROLL NO : 1242670374 CAND.NAME : MEHAK VERMA REG NO : 24-HM-562				FATHER'S NAME : PAVINDER KUMAR						MOTHER'S NAME : SAPNA KUMARI THAKUR						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	28	11	30	36	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	7.50	-	O	PASS
Principles of Microeconomics-II (ECONA102)	29	11	30	40	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	38	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	53	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	60	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	59	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Environment Science (ENV2AECC2)	-	-	-	71	40	100	-	-	-	-	71	40	100	A++	7.50	4	30.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
										-	MO/MM- 570 / 800					TC-44	TCP - 330.00	Dis. -			
UNIV ROLL NO : 1242670375 CAND.NAME : NANCY REG NO : 24-HM-998				FATHER'S NAME : AJAY KUMAR						MOTHER'S NAME : KAMLESH KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	10	5	15	7	12	35	-	-	-	-	-	20	50	F	0.00	3	0.00	-	-	-	FAIL
Practical(Stage Performance) (MUSA 102PR)	9	5	15	-	-	-	23	14	35	-	32	20	50	A	6.50	3	19.50				
Theory of Indian Music General & Biographies (MUSA 103TH)	8	5	15	15	12	35	-	-	-	-	23	20	50	C	5.00	3	15.00				
Practical(Viva-Voice) (MUSA 104PR)	8	5	15	-	-	-	22	14	35	-	30	20	50	A	6.50	3	19.50				
Introduction to Political Theory (POLS101)	16	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Indian Government and Politics (POLS102)	15	11	30	0	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENV2AECC2)	-	-	-	23	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

UNIV ROLL NO : 1242670376 CAND.NAME : NEERAJ KUMAR REG NO : 24-HM-1125				FATHER'S NAME : JANAK RAM						MOTHER'S NAME : NEELA DEVI						Exam Type : FRESH								
Paper Name				IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
				M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)				14	5	15	18	12	35	-	-	-	-	32	20	50	A	6.50	3	19.50	6.36	-	A	PASS
Practical(Stage Performance) (MUSA 102PR)				13	5	15	-	-	-	33	14	35	-	46	20	50	S	9.50	3	28.50				
Theory of Indian Music General & Biographies (MUSA 103TH)				13	5	15	22	12	35	-	-	-	-	35	20	50	A++	7.50	3	22.50				
Practical(Viva-Voice) (MUSA 104PR)				13	5	15	-	-	-	33	14	35	-	46	20	50	S	9.50	3	28.50				
Introduction to Political Theory (POLS101)				19	11	30	35	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Indian Government and Politics (POLS102)				19	11	30	43	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)				25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)				18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENV2AECC2)				-	-	-	47	40	100	-	-	-	-	47	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)				18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
											-	MO/MM- 475 / 800					TC-44	TCP - 280.00	Dis. -					
UNIV ROLL NO : 1242670377 CAND.NAME : NEHA REG NO : 24-HM-1074				FATHER'S NAME : SURESH KUMAR						MOTHER'S NAME : NISHA KUMARI						Exam Type : FRESH								
Paper Name				IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
				M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)				25	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)				25	11	30	36	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)				15	11	30	9	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
History of India from C. 300 - 1206 (HIST(A)102)				16	11	30	9	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
English-1 Core English (Compulsory) (ENG CE 101)				27	11	30	27	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)				20	11	30	26	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Environment Science (ENV2AECC2)				-	-	-	53	40	100	-	-	-	-	53	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)				18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
											-	MO/MM- - / 800					TC-44	TCP - -	Dis. -					
UNIV ROLL NO : 1242670378 CAND.NAME : NEHA REG NO : 24-HM-1072				FATHER'S NAME : MUKESH KUMAR						MOTHER'S NAME : OM WATTI						Exam Type : FRESH								
Paper Name				IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
				M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)				21	11	30	32	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101)
Indian Government and Politics (POLS102)				15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)				22	11	30	27	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Society in India (SOCL-A 102)				20	11	30	47	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)				26	11	30	13	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)				18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENV2AECC2)				-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)				18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
											-	MO/MM- - / 800					TC-44	TCP - -	Dis. -					

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670379 CAND.NAME : PALAK THAKUR REG NO : 24-HM-603			FATHER'S NAME : SATISH THAKUR							MOTHER'S NAME : KUNTA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	25	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIST(A)1 01,HIST(A)102)
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	18	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
History of India from C. 300 - 1206 (HIST(A)102)	17	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	43	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	47	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	58	40	100	-	-	-	-	58	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	17	11	30	41	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670381 CAND.NAME : PRASHANTVEER THAKUR REG NO : 24-HM-703			FATHER'S NAME : RAMESH CHAND							MOTHER'S NAME : CHAMPA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	27	11	30	28	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (POLLS101, POLLS102)
Introduction to Radio and TV (BJMCPAC102)	27	11	30	29	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Introduction to Political Theory (POLS101)	15	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Indian Government and Politics (POLS102)	15	11	30	2	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	17	11	30	30	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670382 CAND.NAME : PRINCE RANA REG NO : 24-HM-1062			FATHER'S NAME : MUKESH RANA							MOTHER'S NAME : NEELAM							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Introduction to Political Theory (POLS101)	16	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Indian Government and Politics (POLS102)	15	11	30	2	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670383 CAND.NAME : PRITI REG NO : 24-HM-372			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : PINKI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Administrative Theory (PUBA101A)	16	11	30	36	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	-	-	-	FAIL
Indian Administration (PUBA102A)	17	11	30	26	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Introduction to Travel & Tourism Management (TTMC101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Tourism Resources of India (TTMC102)	19	11	30	12	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	14	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	26	40	100	-	-	-	-	40	100	F	0.00	4	0.00					
Hindi Bhasha aur Sampreshan (HIND104)	17	11	30	8	25	70	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1242670384 CAND.NAME : PRIYANKA REG NO : 24-HM-698			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : PHOOLAN DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	27	11	30	38	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	5.61	-	B+	PASS
Introduction to Radio and TV (BJMCPAC102)	26	11	30	28	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Introduction to Travel & Tourism Management (TTMC101)	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Tourism Resources of India (TTMC102)	23	11	30	29	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	26	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- 417 / 800					TC-44	TCP - 247.00	Dis. -			
UNIV ROLL NO : 1242670385 CAND.NAME : RITIK KUMAR REG NO : 24-HM-613			FATHER'S NAME : SURESH KUMAR							MOTHER'S NAME : KUSHLA RANI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	23	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (GEOGP1 01CC)
General Cartography (GEOGP102CC)	23	11	30	18	18	50	10	8	20	-	51	40	100	B	5.50	6	33.00				
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)	13	5	15	20	12	35	-	-	-	-	33	20	50	A+	7.00	3	21.00				
Practical(Stage Performance) (MUSA 102PR)	14	5	15	-	-	-	34	14	35	-	48	20	50	S+	10.00	3	30.00				
Theory of Indian Music General & Biographies (MUSA 103TH)	14	5	15	22	12	35	-	-	-	-	36	20	50	A++	7.50	3	22.50				
Practical(Viva-Voice) (MUSA 104PR)	14	5	15	-	-	-	34	14	35	-	48	20	50	S+	10.00	3	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670386 CAND.NAME : RIYA REG NO : 24-HM-430			FATHER'S NAME : AJEET KUMAR							MOTHER'S NAME : LAJWANTI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (SKT- AECC- 104)
Introduction to Physical Education (PED101TH)	19	11	30	26	18	50	-	-	-	-	45	32	80	B+	6.00	4	24.00	-	-	-	
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00	-	-	-	
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	39	18	50	-	-	-	-	58	32	80	A++	7.50	4	30.00	-	-	-	
Administrative Theory (PUBA101A)	22	11	30	50	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	-	-	-	
Indian Administration (PUBA102A)	22	11	30	32	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	-	-	-	
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	
Prayojanmoolak Hindi (HIND101)	12	11	30	47	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00	-	-	-	
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00	-	-	-	
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670387 CAND.NAME : RIYA REG NO : 24-HM-439			FATHER'S NAME : KEWAL KRISHAN							MOTHER'S NAME : BIMLA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	21	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	15	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Introduction to Sociology (SOCL-A 101)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	
Society in INdia (SOCL-A 102)	21	11	30	41	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	-	-	-	
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Prayojanmoolak Hindi (HIND101)	12	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00	-	-	-	
Hindi Bhasha aur Sampreshan (HIND104)	16	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00	-	-	-	
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670388 CAND.NAME : RIYA KUMARI REG NO : 24-HM-638			FATHER'S NAME : ASHOK KUMAR							MOTHER'S NAME : RADHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	6.91	-	A+	PASS
Introduction to Radio and TV (BJMCPAC102)	27	11	30	55	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	50	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	47	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	43	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	66	40	100	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	40	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
										-	MO/MM- 524 / 800					TC-44	TCP - 304.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670389 CAND.NAME : RUPALI REG NO : 24-HM-1094			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : BINDU BALA							Exam Type : FRESH						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)			23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00	6.75	-	A+	PASS
Introduction to Radio and TV (BJMCPAC102)			24	11	30	51	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)			27	11	30	34	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)			27	11	30	41	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)			25	11	30	40	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi (HIND101)			25	11	30	39	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENV2AECC2)			-	-	-	68	40	100	-	-	-	-	68	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)			18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
											-	MO/MM- 508 / 800					TC-44	TCP - 297.00	Dis. -				
UNIV ROLL NO : 1242670390 CAND.NAME : SACHIN DHIMAN REG NO : 24-HM-735			FATHER'S NAME : SHASHI KUMAR							MOTHER'S NAME : RADHA KUMARI							Exam Type : FRESH						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)			16	11	30	27	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00	6.38	-	A	PASS
Madhyaalini Hindi Kavita (HIND103)			17	11	30	36	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)			13	5	15	21	12	35	-	-	-	-	34	20	50	A+	7.00	3	21.00				
Practical(Stage Performance) (MUSA 102PR)			13	5	15	-	-	-	32	14	35	-	45	20	50	S	9.50	3	28.50				
Theory of Indian Music General & Biographies (MUSA 103TH)			13	5	15	24	12	35	-	-	-	-	37	20	50	A++	7.50	3	22.50				
Practical(Viva-Voice) (MUSA 104PR)			13	5	15	-	-	-	32	14	35	-	45	20	50	S	9.50	3	28.50				
English-1 Core English (Compulsory) (ENG CE 101)			26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)			18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENV2AECC2)			-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)			18	11	30	39	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
											-	MO/MM- 480 / 800					TC-44	TCP - 280.50	Dis. -				
UNIV ROLL NO : 1242670392 CAND.NAME : SANIYA RANA REG NO : 24-HM-999			FATHER'S NAME : BIRBAL RANA							MOTHER'S NAME : TRIPTA DEVI							Exam Type : FRESH						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music, Basic principals of Indian music & Biographies of Musicians, Composers and Musicologists (MUSA 101TH)			10	5	15	12	12	35	-	-	-	-	22	20	50	C	5.00	3	15.00	-	-	-	FAIL
Practical(Stage Performance) (MUSA 102PR)			8	5	15	-	-	-	22	14	35	-	30	20	50	A	6.50	3	19.50				
Theory of Indian Music General & Biographies (MUSA 103TH)			8	5	15	8	12	35	-	-	-	-	-	20	50	F	0.00	3	0.00				
Practical(Viva-Voice) (MUSA 104PR)			8	5	15	-	-	-	22	14	35	-	30	20	50	A	6.50	3	19.50				
Introduction to Political Theory (POLS101)			15	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Indian Government and Politics (POLS102)			15	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)			28	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)			18	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENV2AECC2)			-	-	-	3	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)			18	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
											-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670393 CAND.NAME : SANJNA REG NO : 24-HM-588				FATHER'S NAME : RATTAN CHAND						MOTHER'S NAME : SARASWATI DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	21	11	30	40	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	5.98	-	B+	PASS
Principles of Microeconomics-II (ECONA102)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	25*	25	70	-	-	-	7	51	40	100	B	5.50	6	33.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	37	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										7	MO/MM- 443 / 800					TC-44	TCP - 263.00	Dis. -			
UNIV ROLL NO : 1242670394 CAND.NAME : SHASHI KANT REG NO : 24-HM-441				FATHER'S NAME : LEKH RAJ						MOTHER'S NAME : ANITA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	32	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	6.66	-	A+	PASS
Introduction to Radio and TV (BJMCPAC102)	24	11	30	32	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	27	11	30	34	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	50	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	30	11	30	28	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
										-	MO/MM- 499 / 800					TC-44	TCP - 293.00	Dis. -			
UNIV ROLL NO : 1242670395 CAND.NAME : SHAURYA CHAUHAN REG NO : 24-HM-470				FATHER'S NAME : SANJEEV KUMAR						MOTHER'S NAME : BABITA KUMARI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIND104)
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Administrative Theory (PUBA101A)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Indian Administration (PUBA102A)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	35	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670396 CAND.NAME : SHIVANI REG NO : 23-HM-341			FATHER'S NAME : PARTAP SINGH							MOTHER'S NAME : ROSHNI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Administrative Theory (PUBA101A)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00	5.41	-	B	PASS
Indian Administration (PUBA102A)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Introduction to Travel & Tourism Management (TTMC101)	25	11	30	30	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Tourism Resources of India (TTMC102)	24	11	30	39	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	25*	25	70	-	-	-	6	52	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	33	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	47	40	100	-	-	-	-	47	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	4	20.00				
									6	MO/MM- 394 / 800					TC-44	TCP - 238.00	Dis. -				
UNIV ROLL NO : 1242670399 CAND.NAME : SHUBHAM KUMAR REG NO : 22-HM-631			FATHER'S NAME : DHIAN CHAND							MOTHER'S NAME : SUMAN							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Administrative Theory (PUBA101A)	15	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Indian Administration (PUBA102A)	16	11	30	25	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	26	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
									-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670400 CAND.NAME : SONALIKA REG NO : 24-HM-433			FATHER'S NAME : BIR KISHOR NIHIL							MOTHER'S NAME : URMILA NIHAL							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (MATH102 TH,ECON A102)
Principles of Microeconomics-II (ECONA102)	16	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Differential Calculus (MATH101TH)	20	11	30	54	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Differential Equations (MATH102TH)	20	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	30	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Writing Skills (ENG AECC 104)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
Environment Science (ENVS2AECC2)	-	-	-	49	40	100	-	-	-	-	49	40	100	C	5.00	4	20.00				
									-	MO/MM- - / 800					TC-44	TCP --	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670401 CAND.NAME : SUMIT KUMAR REG NO : 24-HM-371			FATHER'S NAME : LALAN DASS							MOTHER'S NAME : MANTUN DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,SKT- AECC- 104)
Introduction to Physical Education (PED101TH)	21	11	30	26	18	50	-	-	-	-	47	32	80	B+	6.00	4	24.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	21	11	30	32	18	50	-	-	-	-	53	32	80	A+	7.00	4	28.00				
Administrative Theory (PUBA101A)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Indian Administration (PUBA102A)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENV2AECC2)	-	-	-	47	40	100	-	-	-	-	47	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	17	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670402 CAND.NAME : SWATI REG NO : 24-HM-650			FATHER'S NAME : DEV RAJ							MOTHER'S NAME : NISHA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	27	11	30	42	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
History of India from C. 300 - 1206 (HIST(A)102)	16	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	24	11	30	41	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Environment Science (ENV2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670403 CAND.NAME : TAMANNA REG NO : 24-HM-618			FATHER'S NAME : TEJ KUMAR							MOTHER'S NAME : RAJESH KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG 102,ENG 103)
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	22	11	30	31	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Society in INdia (SOCL-A 102)	24	11	30	40	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	28	11	30	25	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	43	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Environment Science (ENV2AECC2)	-	-	-	54	40	100	-	-	-	-	54	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670404 CAND.NAME : TANZIN KUNZANG REG NO : 24-HM-678				FATHER'S NAME : NORBU TANDUP						MOTHER'S NAME : CHHERING DIKIT						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPC101)	27	11	30	31	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				COMPAR TMENT TILL APRIL 2026 Paper Code (ENG 102)
Introduction to Radio and TV (BJMCPC102)	27	11	30	37	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	34	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670405 CAND.NAME : TANZIN LAKIT REG NO : 24-HM-607				FATHER'S NAME : SONAM TASHI						MOTHER'S NAME : CHHERING YANGZOM						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00	5.95	-	B+	PASS
History of India from C. 300 - 1206 (HIST(A)102)	21	11	30	32	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Introduction to Physical Education (PED101TH)	18	11	30	27	18	50	-	-	-	-	45	32	80	B+	6.00	4	24.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	36	18	50	-	-	-	-	55	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	27	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	25*	25	70	-	-	-	5	43	40	100	C	5.00	4	20.00				
										5	MO/MM- 440 / 800					TC-44	TCP - 262.00	Dis. -			
UNIV ROLL NO : 1242670406 CAND.NAME : VIJAY NISHAD REG NO : 23-HM-696				FATHER'S NAME : NATHU NISHAD						MOTHER'S NAME : SALAMTI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	20	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	20	11	30	18	18	50	10	8	20	-	48	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	19	11	30	32	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	44	40	100	-	-	-	-	44	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670407 CAND.NAME : VIPAN KUMAR REG NO : 23-HM-1028	FATHER'S NAME : JAGDISH CHAND									MOTHER'S NAME : GIANO DEVI									Exam Type : FRESH			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	Paper Name	IA			TE			PR			GR	Tot.							Grd.	GP	CR	CP (CR*GP)
M.O		M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O		M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	1	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	-	
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	2	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00					
Introduction to Physical Education (PED101TH)	18	11	30	21	18	50	-	-	-	-	39	32	80	C	5.00	4	20.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	16	11	30	31	18	50	-	-	-	-	47	32	80	B+	6.00	4	24.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00					
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00					
Hindi Bhasha aur Sampreshan (HIND104)	18	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670408 CAND.NAME : NEHA REG NO : 23-HM-1333	FATHER'S NAME : NAGEEN CHAND									MOTHER'S NAME : SUSHMA DEVI									Exam Type : FRESH			
Paper Detail														GPA	CGPA	Grade	Result/ Status					
Paper Name	IA			TE			PR			GR	Tot.							Grd.	GP	CR	CP (CR*GP)	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	43	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	COMPARTMENT TILL APRIL 2026 Paper Code (ENG CE 101,SKT- AECC- 104)	
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	15	8	20	-	15	8	20	O	8.00	2	16.00					
Introduction to Physical Education (PED101TH)	16	11	30	21	18	50	-	-	-	-	37	32	80	C	5.00	4	20.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	19	11	30	21	18	50	-	-	-	-	40	32	80	B	5.50	4	22.00					
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	14	11	30	35	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00					
Environment Science (ENVS2AECC2)	-	-	-	49	40	100	-	-	-	-	49	40	100	C	5.00	4	20.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	23	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670409 CAND.NAME : RIYA REG NO : 24-HM-587	FATHER'S NAME : RATTAN CHAND									MOTHER'S NAME : REENA DEVI									Exam Type : FRESH			
Paper Detail														GPA	CGPA	Grade	Result/ Status					
Paper Name	IA			TE			PR			GR	Tot.							Grd.	GP	CR	CP (CR*GP)	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Philosophical Foundations of Education (EDN101CC)	26	11	30	43	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00	6.61	-	A+	PASS	
Sociological Foundations of Education (EDN102CC)	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	47	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00					
History of India from C. 300 - 1206 (HIST(A)102)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00					
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	28	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00					
Prayojanmoolak Hindi (HIND101)	19	11	30	41	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00					
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	23	11	30	39	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00					
										-	MO/MM- 503 / 800					TC-44	TCP - 291.00	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670411 CAND.NAME : AKHIL SHARMA REG NO : 24-HM-1139			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : NEELAM SHARMA							Exam Type : FRESH						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)			23	11	30	34	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Introduction to Radio and TV (BJMCPAC102)			22	11	30	33	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)			-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00				
Introduction to Physical Education (PED101TH)			19	11	30	23	18	50	-	-	-	-	42	32	80	B	5.50	4	22.00				
Athletics and Game-2 (PED102PR)			-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00				
Olympic Movement and Organisation of Tournaments (PED102TH)			20	11	30	28	18	50	-	-	-	-	48	32	80	A	6.50	4	26.00	-	-	-	-
English-1 Core English (Compulsory) (ENG CE 101)			24	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)			12	11	30	22	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)			-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)			20	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
											-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670412 CAND.NAME : SONIKA SHARMA REG NO : 24-HM-598			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : ANITA DEVI							Exam Type : FRESH						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)			17	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
History of India from C. 300 - 1206 (HIST(A)102)			20	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)			-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00				
Introduction to Physical Education (PED101TH)			23	11	30	27	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00				
Athletics and Game-2 (PED102PR)			-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00				
Olympic Movement and Organisation of Tournaments (PED102TH)			21	11	30	30	18	50	-	-	-	-	51	32	80	A	6.50	4	26.00	-	-	-	-
English-1 Core English (Compulsory) (ENG CE 101)			22	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)			20	11	30	34	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)			-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)			20	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
											-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1242670413 CAND.NAME : KRISH KUMAR REG NO : 24-HM-1120			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : NEERU							Exam Type : FRESH						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)			15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Introduction to Radio and TV (BJMCPAC102)			15	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Athletics and Games-1 (PED101PR)			-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00				
Introduction to Physical Education (PED101TH)			20	11	30	A	18	50	-	-	-	-	-	32	80	ABS	0.00	4	0.00				
Athletics and Game-2 (PED102PR)			-	-	-	-	-	-	-	8	20	-	-	8	20	#	0.00	2	0.00				
Olympic Movement and Organisation of Tournaments (PED102TH)			20	11	30	A	18	50	-	-	-	-	-	32	80	ABS	0.00	4	0.00	-	-	-	-
English-1 Core English (Compulsory) (ENG CE 101)			22	11	30	26	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)			12	11	30	22	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)			-	-	-	A	40	100	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)			12	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
											-	MO/MM- - / 800					TC-44	TCP --	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1242670414 CAND.NAME : PRIYANSHU REG NO : 24-HM-1142				FATHER'S NAME : JAI CHAND						MOTHER'S NAME : VEENA						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	15	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	18	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	20	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	15	11	30	29	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	16	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENV2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1242670415 CAND.NAME : DIKSHA REG NO : 24-HM-1141				FATHER'S NAME : VIJAY KUMAR						MOTHER'S NAME : REENA DEVI						Exam Type : FRESH					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	15	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIND102, HIND104)
Madhyaqaalin Hindi Kavita (HIND103)	15	11	30	42	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Society in INdia (SOCL-A 102)	24	11	30	37	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	34	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENV2AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	25	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670002 CAND.NAME : AARTI REG NO : 23-HM-654				FATHER'S NAME : RAMESH CHAND						MOTHER'S NAME : SUNITA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00	-	-	-	FAIL
Madhyaqaalin Hindi Kavita (HIND103)	13	11	30	31	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	20^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	25	11	30	32	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	22	11	30	34	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENV2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	39	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670003 CAND.NAME : AKSHIT KUMAR REG NO : 23-HM-355				FATHER'S NAME : MOHINDER SINGH						MOTHER'S NAME : RINKU DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	28^	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	22	11	30	32	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Hindi Sahitya ka Itihas (HIND102)	15	11	30	37	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Madhykaalin Hindi Kavita (HIND103)	12	11	30	29	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	A^	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	28	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	47	40	100	-	-	-	-	47	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	45	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670018 CAND.NAME : KAJAL REG NO : 23-HM-377				FATHER'S NAME : RAJENDER SINGH						MOTHER'S NAME : RANJANA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	23	11	30	36	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	FAIL
Madhykaalin Hindi Kavita (HIND103)	23	11	30	38	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	A^	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Society in India (SOCL-A 102)	25	11	30	44^	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	22	11	30	28	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	24	11	30	26	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	13	11	30	29	25	70	-	-	-	-	42	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670022 CAND.NAME : KHUSHBU SHARMA REG NO : 23-HM-345				FATHER'S NAME : PAWAN KUMAR						MOTHER'S NAME : PUSHPA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	19	11	30	29	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00	-	-	-	FAIL
Madhykaalin Hindi Kavita (HIND103)	22	11	30	27^	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	17^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	31	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670034 CAND.NAME : PAYAL REG NO : 23-HM-352				FATHER'S NAME : JYOTI PRAKASH						MOTHER'S NAME : RAJO DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	32	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Hindi Sahitya ka Itihas (HIND102)	20	11	30	41	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Madhykaalin Hindi Kavita (HIND103)	19	11	30	32	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	22	11	30	8^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	20	11	30	29	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	14	11	30	47	25	70	-	-	-	-	61	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1232670036 CAND.NAME : POOJA DEVI REG NO : 23-HM-691				FATHER'S NAME : RANJEET SINGH						MOTHER'S NAME : KARMI DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	23	11	30	34	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00	5.73	-	B+	PASS
Madhykaalin Hindi Kavita (HIND103)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	25^	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	25	11	30	31	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	27	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	25	11	30	29	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	42^	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	38	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- 426 / 800					TC-44	TCP - 252.00	Dis. -			
UNIV ROLL NO : 1232670040 CAND.NAME : PURNIMA SHARMA REG NO : 23-HM-986				FATHER'S NAME : VIKRAM KUMAR						MOTHER'S NAME : SANTOSH KUMARI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	-	-	-	FAIL
Madhykaalin Hindi Kavita (HIND103)	19	11	30	29	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	33^	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Society in India (SOCL-A 102)	25	11	30	29	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	35	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670065 CAND.NAME : VISHAKHA CHAUDHARY REG NO : 23-HM-332			FATHER'S NAME : JOGESH KUMAR							MOTHER'S NAME : GULHSAN DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	23	11	30	31	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	17^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	25	11	30	32	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	33	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	54	40	100	-	-	-	-	54	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	46	25	70	-	-	-	-	61	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670069 CAND.NAME : ADITYA PATIAL REG NO : 23-HM-943			FATHER'S NAME : SUNIL PATIAL							MOTHER'S NAME : REENA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	15	11	30	47	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	-	-	-	FAIL
Sociological Foundations of Education (EDN102CC)	15	11	30	46	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	29	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	24	11	30	40	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	20	11	30	39	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	38^	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	14	11	30	12^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670077 CAND.NAME : ANURADHA REG NO : 23-HM-653			FATHER'S NAME : RAMESH CHAND							MOTHER'S NAME : POONAM KUMARI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	-	-	-	FAIL
Principles of Microeconomics-II (ECONA102)	25	11	30	10^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Hindi Sahitya ka Itihas (HIND102)	19	11	30	31	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Madhya kaalin Hindi Kavita (HIND103)	21	11	30	32	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	23	11	30	38	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	40	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670080 CAND.NAME : DEEKSHA THAKUR REG NO : 23-HM-861			FATHER'S NAME : RAMESH CHAND							MOTHER'S NAME : SEEMA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	25	11	30	36	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	5.93	-	B+	PASS
Madhyaqaalin Hindi Kavita (HIND103)	25	11	30	44	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	33^	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Society in INdia (SOCL-A 102)	25	11	30	39	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	19	11	30	29	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	34	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	54^	40	100	-	-	-	-	54	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	14	11	30	30	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										-	MO/MM- 449 / 800					TC-44	TCP - 261.00	Dis. -			
UNIV ROLL NO : 1232670082 CAND.NAME : DIKSHA CHAUHAN REG NO : 23-HM-833			FATHER'S NAME : SANDEEP SINGH							MOTHER'S NAME : SUNITA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	16	11	30	32	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00	-	-	-	FAIL
Madhyaqaalin Hindi Kavita (HIND103)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	17^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	25	11	30	40	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	13	11	30	28	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	14	11	30	3^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1232670094 CAND.NAME : KIRAN SHARMA REG NO : 23-HM-805			FATHER'S NAME : PRITAM CHAND							MOTHER'S NAME : REEMA KUMARI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	16	11	30	42	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	17	11	30	36	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	19^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	25	11	30	26	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	28	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	28	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	11^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670096 CAND.NAME : KUMARI SALONI REG NO : 23-HM-846				FATHER'S NAME : RAM MURTI MAURYA						MOTHER'S NAME : GEETA MAURYA						Exam Type : COMPARTMENT							
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Hindi Sahitya ka Itihas (HIND102)	13	11	30	28	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				FAIL		
Madhyaqaalin Hindi Kavita (HIND103)	17	11	30	52^	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00						
Introduction to Sociology (SOCL-A 101)	25	11	30	18^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00						
Society in INdia (SOCL-A 102)	25	11	30	36	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00						
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00						
Prayojanmoolak Hindi (HIND101)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00						
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	4	20.00						
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -					
UNIV ROLL NO : 1232670099 CAND.NAME : MAMTA REG NO : 23-HM-484				FATHER'S NAME : JOGINDER SINGH						MOTHER'S NAME : RAJNI DEVI						Exam Type : COMPARTMENT							
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Hindi Sahitya ka Itihas (HIND102)	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				PASS		
Madhyaqaalin Hindi Kavita (HIND103)	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00						
Introduction to Sociology (SOCL-A 101)	25	11	30	30^	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00						
Society in INdia (SOCL-A 102)	25	11	30	29	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00						
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00		5.77	-		B+	
Prayojanmoolak Hindi (HIND101)	17	11	30	26	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00						
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	14	11	30	37	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00						
										-	MO/MM- 437 / 800					TC-44	TCP - 254.00	Dis. -					
UNIV ROLL NO : 1232670101 CAND.NAME : MOHIT SHARMA REG NO : 23-HM-978				FATHER'S NAME : VIJAY KUMAR						MOTHER'S NAME : NISHA DEVI						Exam Type : COMPARTMENT							
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Introduction to Political Theory (POLS101)	16	11	30	31	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				PASS		
Indian Government and Politics (POLS102)	21	11	30	38	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00						
Introduction to Sociology (SOCL-A 101)	24	11	30	25^	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00						
Society in INdia (SOCL-A 102)	24	11	30	36	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00						
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	29	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00		5.34	-		B	
Prayojanmoolak Hindi (HIND101)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00						
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00						
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	4	20.00						
										-	MO/MM- 385 / 800					TC-44	TCP - 235.00	Dis. -					

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670106 CAND.NAME : NEHA DHIMAN REG NO : 22-HM-258			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : SHAKUNTLA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	16	11	30	10^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	24	11	30	21	18	50	14	8	20	-	59	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	43	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Society in INdia (SOCL-A 102)	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	46	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	61	40	100	-	-	-	-	61	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1232670108 CAND.NAME : PALAK REG NO : 23-HM-920			FATHER'S NAME : SUNIL KUMAR							MOTHER'S NAME : BALA KUMARI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	24	11	30	29	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	6.30	-	A	PASS
Principles of Microeconomics-II (ECONA102)	24	11	30	25^	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Hindi Sahitya ka Itihas (HIND102)	25	11	30	32	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Madhyaalin Hindi Kavita (HIND103)	29	11	30	44	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	40	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	27	11	30	32	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	28	11	30	48	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- 491 / 800					TC-44	TCP - 277.00	Dis. -			
UNIV ROLL NO : 1232670112 CAND.NAME : PALAK KUMARI REG NO : 23-HM-879			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : SAPNA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	20	11	30	40	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	16	11	30	34	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	30	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Society in INdia (SOCL-A 102)	25	11	30	36	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	20	11	30	13^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	30	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670115 CAND.NAME : PALAK THAKUR REG NO : 23-HM-1309				FATHER'S NAME : MADAN SINGH						MOTHER'S NAME : ANJU DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	12	11	30	44	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	-	-	-	FAIL
Madhyaqaalin Hindi Kavita (HIND103)	13	11	30	44	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	16^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	25	11	30	40	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	19	11	30	28	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	33	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	53	40	100	-	-	-	-	53	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	14	11	30	17^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670131 CAND.NAME : RIYA KUMARI REG NO : 23-HM-456				FATHER'S NAME : BIRBAL RANA						MOTHER'S NAME : TRIPTA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	FAIL
Madhyaqaalin Hindi Kavita (HIND103)	19	11	30	31	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	17^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in INdia (SOCL-A 102)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	29	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	55	40	100	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	17	11	30	2^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670132 CAND.NAME : RIYA KUMARI REG NO : 23-HM-969				FATHER'S NAME : VIJAY KUMAR						MOTHER'S NAME : KALPANA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	16	11	30	10^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	16	11	30	23	18	50	11	8	20	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Society in INdia (SOCL-A 102)	25	11	30	39	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	28	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	27	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	58	40	100	-	-	-	-	58	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	36^	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670154 CAND.NAME : TANIYA REG NO : 23-HM-989				FATHER'S NAME : VINOD KUMAR						MOTHER'S NAME : MANJU DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	17^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	23^	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670157 CAND.NAME : VARSHA CHAUHAN REG NO : 23-HM-853				FATHER'S NAME : RAMESH KUMAR						MOTHER'S NAME : SUSHMA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	16	11	30	43	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	16	11	30	28	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	19^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	19	11	30	30	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	16	11	30	10^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670164 CAND.NAME : ADITI THAKUR REG NO : 23-HM-942				FATHER'S NAME : SUNIL KUMAR						MOTHER'S NAME : VEENA VERMA						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	21	11	30	3^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	22	11	30	30	18	50	13	8	20	-	65	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	20	11	30	6^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	63	40	100	-	-	-	-	63	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	20	11	30	31	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670166 CAND.NAME : AKANKSHA REG NO : 23-HM-897				FATHER'S NAME : CHAMAN LAL						MOTHER'S NAME : BABLI DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	19	11	30	29^	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00	5.59	-	B+	PASS
General Cartography (GEOGP102CC)	20	11	30	38	18	50	11	8	20	-	69	40	100	A+	7.00	6	42.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	40	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
History of India from C. 300 - 1206 (HIST(A)102)	18	11	30	28	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	29	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	26	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	36	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- 419 / 800					TC-44	TCP - 246.00	Dis. -			
UNIV ROLL NO : 1232670170 CAND.NAME : ANIKET REG NO : 22-HM-640				FATHER'S NAME : JITENDER KUMAR						MOTHER'S NAME : PUNAMA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	17	11	30	A^	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	17	11	30	22	18	50	11	8	20	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Society in INdia (SOCL-A 102)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	35	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	30	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	35	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670171 CAND.NAME : ANJALI REG NO : 23-HM-910				FATHER'S NAME : RAMEL SINGH						MOTHER'S NAME : SURINDERA						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	16	11	30	6^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	15	11	30	24	18	50	11	8	20	-	50	40	100	B	5.50	6	33.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	19	11	30	26	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	16	11	30	29	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	26	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	31	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670174 CAND.NAME : ANURADHA REG NO : 23-HM-1005				FATHER'S NAME : WATTAN SINGH						MOTHER'S NAME : BABLI DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	21	11	30	28^	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00	5.07	-	B	PASS
General Cartography (GEOGP102CC)	22	11	30	18	18	50	12	8	20	-	52	40	100	B	5.50	6	33.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	26	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	29	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										-	MO/MM- 375 / 800					TC-44	TCP - 223.00	Dis. -			
UNIV ROLL NO : 1232670184 CAND.NAME : GUDDU KUMAR NISHAD REG NO : 23-HM-944				FATHER'S NAME : SURAJ NISHAD						MOTHER'S NAME : MANJU DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	20	11	30	17^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	21	11	30	19	18	50	11	8	20	-	51	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Society in INdia (SOCL-A 102)	25	11	30	29	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	23	11	30	30	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	38^	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670186 CAND.NAME : ISHA THAKUR REG NO : 23-HM-912				FATHER'S NAME : SANJAY KUMAR						MOTHER'S NAME : SUDESH KUMARI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	19	11	30	20^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	20	11	30	25	18	50	11	8	20	-	56	40	100	B+	6.00	6	36.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	19	11	30	30	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	16	11	30	29	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	33	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40^	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	13	11	30	36	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670192 CAND.NAME : KHUSHBU REG NO : 23-HM-928				FATHER'S NAME : RAJESH KUMAR						MOTHER'S NAME : NEELAM KUMARI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Microeconomics-I (ECONA101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00	5.57	-	B+	PASS
Principles of Microeconomics-II (ECONA102)	20	11	30	38	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Physical Geography (GEOGP101CC)	18	11	30	28^	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
General Cartography (GEOGP102CC)	17	11	30	30	18	50	11	8	20	-	58	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	28	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	22	11	30	26	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	57	40	100	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	45	25	70	-	-	-	-	60	40	100	A	6.50	4	26.00				
										-	MO/MM- 425 / 800					TC-44	TCP - 245.00	Dis. -			
UNIV ROLL NO : 1232670197 CAND.NAME : MUSKAN REG NO : 23-HM-783				FATHER'S NAME : SANTOSH KUMAR						MOTHER'S NAME : MEENA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	17	11	30	10^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
General Cartography (GEOGP102CC)	18	11	30	32	18	50	11	8	20	-	61	40	100	A	6.50	6	39.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	25^	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	25	11	30	31	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	39	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	32	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1232670217 CAND.NAME : SHREYA KUMARI REG NO : 23-HM-914				FATHER'S NAME : SATISH KUMAR						MOTHER'S NAME : KALAN DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00	5.23	-	B	PASS
General Cartography (GEOGP102CC)	20	11	30	18	18	50	11	8	20	-	49	40	100	C	5.00	6	30.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	37	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
History of India from C. 300 - 1206 (HIST(A)102)	19	11	30	30^	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	23	11	30	26	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	41	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										-	MO/MM- 397 / 800					TC-44	TCP - 230.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670222 CAND.NAME : TARUN CHAUDHARY REG NO : 22-HM-772				FATHER'S NAME : SURAM SINGH						MOTHER'S NAME : MAMTA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	16	11	30	44	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00	5.95	-	B+	PASS
General Cartography (GEOGP102CC)	17	11	30	26	18	50	11	8	20	-	54	40	100	B	5.50	6	33.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	37^	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	50	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	66	40	100	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	40	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
										-	MO/MM- 444 / 800					TC-44	TCP - 262.00	Dis. -			
UNIV ROLL NO : 1232670235 CAND.NAME : RAKHI KUMARI REG NO : 22-HM-952				FATHER'S NAME : ASHOK KUMAR						MOTHER'S NAME : LATA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	17	11	30	52	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Sanskrit Kavya (SKT-DSC-101)	24	11	30	A^	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Sanskrit Gadya Kaavya (SKT-DSC-102)	25	11	30	35	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	22	11	30	12^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	32	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	17	11	30	30	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1232670238 CAND.NAME : SEJAL SHARMA REG NO : 23-HM-647				FATHER'S NAME : RAKESH KUMAR						MOTHER'S NAME : DURGA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	6.00	-	A	PASS
Introduction to Radio and TV (BJMCPAC102)	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Differential Calculus (MATH101TH)	22	11	30	38^	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Differential Equations (MATH102TH)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	22	11	30	37	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	26	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	43	40	100	-	-	-	-	43	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	22	11	30	43	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
										-	MO/MM- 447 / 800					TC-44	TCP - 264.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670242 CAND.NAME : ALISHA REG NO : 23-HM-268				FATHER'S NAME : AJAY KUMAR						MOTHER'S NAME : ANJU BALA						Exam Type : COMPARTMENT									
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Principles of Microeconomics-I (ECONA101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				FAIL				
Principles of Microeconomics-II (ECONA102)	23	11	30	10^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	25	11	30	44	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00								
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	33	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00								
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25^	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00								
Prayojanmoolak Hindi (HIND101)	16	11	30	44	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00								
Environment Science (ENV2AECC2)	-	-	-	73	40	100	-	-	-	-	73	40	100	A++	7.50	4	30.00								
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	44	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00								
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -							
UNIV ROLL NO : 1232670262 CAND.NAME : NIKHIL BHARDWAJ REG NO : 21-HM-1213				FATHER'S NAME : RAJINDER KUMAR						MOTHER'S NAME : ANJU DEVI						Exam Type : COMPARTMENT									
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
English Literature-1 (Essays, Stories and Poems) (ENG 102)	24	11	30	38	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	6.20	-	A	PASS				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	22	11	30	46	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00								
Introduction to Sociology (SOCL-A 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00								
Society in INDIA (SOCL-A 102)	24	11	30	40^	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00								
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	32	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00								
Prayojanmoolak Hindi (HIND101)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00								
Environment Science (ENV2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00								
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	32	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00								
										-	MO/MM- 473 / 800					TC-44	TCP - 273.00	Dis. -							
UNIV ROLL NO : 1232670277 CAND.NAME : VANSHIKA SHARMA REG NO : 23-HM-709				FATHER'S NAME : SANJAY SHARMA						MOTHER'S NAME : ANITA SHARMA						Exam Type : COMPARTMENT									
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Principles of Microeconomics-I (ECONA101)	21	11	30	A^	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00	-	-	-	FAIL				
Principles of Microeconomics-II (ECONA102)	21	11	30	A^	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	26	11	30	43	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00								
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	26	11	30	49	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00								
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	50	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00								
Prayojanmoolak Hindi (HIND101)	14	11	30	31	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00								
Environment Science (ENV2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00								
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	40	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00								
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -							

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670287 CAND.NAME : AARTI REG NO : 23-HM-305				FATHER'S NAME : KIKKAR SINGH						MOTHER'S NAME : ASHA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	29^	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00	5.23	-	B	PASS
History of India from C. 300 - 1206 (HIST(A)102)	14	11	30	26*^	25	70	-	-	-	1	40	40	100	C	5.00	6	30.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00				
Introduction to Physical Education (PED101TH)	17	11	30	20	18	50	-	-	-	-	37	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	21	11	30	25	18	50	-	-	-	-	46	32	80	B+	6.00	4	24.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	16	11	30	26	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Environment Science (ENV2AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	4	20.00				
										1	MO/MM- 367 / 800					TC-44	TCP - 230.00	Dis. -			
UNIV ROLL NO : 1232670288 CAND.NAME : ABHAY REG NO : 23-HM-933				FATHER'S NAME : SUNIL KUMAR						MOTHER'S NAME : PROIMLA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00	5.57	-	B+	PASS
Introduction to Radio and TV (BJMCPAC102)	25	11	30	29	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00				
Introduction to Physical Education (PED101TH)	18	11	30	19	18	50	-	-	-	-	37	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	43^	18	50	-	-	-	-	58	32	80	A++	7.50	4	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	16	11	30	30	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Environment Science (ENV2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	15	11	30	33^	25	70	-	-	-	-	48	40	100	C	5.00	4	20.00				
										-	MO/MM- 408 / 800					TC-44	TCP - 245.00	Dis. -			
UNIV ROLL NO : 1232670294 CAND.NAME : ARYA MEHTA REG NO : 23-HM-1355				FATHER'S NAME : JITENDER KUMAR						MOTHER'S NAME : SHYAMA MEHTA						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00	-	-	-	FAIL
Introduction to Physical Education (PED101TH)	15	11	30	4^	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	13	11	30	19	18	50	-	-	-	-	32	32	80	C	5.00	4	20.00				
Administrative Theory (PUBA101A)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Indian Administration (PUBA102A)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	11	11	30	40	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Environment Science (ENV2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	15	11	30	3^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

UNIV ROLL NO : 1232670296 CAND.NAME : BANSHIKA KUMARI RANGRA REG NO : 23-HM-283				FATHER'S NAME : BIDHI CHAND						MOTHER'S NAME : SUNITA KUMARI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	22	11	30	36	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	23	11	30	30	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Introduction to Physical Education (PED101TH)	15	11	30	22	18	50	-	-	-	-	37	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	31	18	50	-	-	-	-	46	32	80	B+	6.00	4	24.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	21^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	16	11	30	27	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	15	11	30	31^	25	70	-	-	-	-	46	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670301 CAND.NAME : KIRNA REG NO : 23-HM-656				FATHER'S NAME : RAMESH CHAND						MOTHER'S NAME : SITA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	5.73	-	B+	PASS
Introduction to Radio and TV (BJMCPAC102)	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	21	11	30	34	18	50	-	-	-	-	55	32	80	A+	7.00	4	28.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	23	11	30	19	18	50	-	-	-	-	42	32	80	B	5.50	4	22.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	35	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	45^	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	4	20.00				
										-	MO/MM- 414 / 800					TC-44	TCP - 252.00	Dis. -			
UNIV ROLL NO : 1232670302 CAND.NAME : KIRTI THAKUR REG NO : 23-HM-1327				FATHER'S NAME : GULSHAN KUMAR						MOTHER'S NAME : SUNITA KUMARI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00	5.34	-	B	PASS
Introduction to Radio and TV (BJMCPAC102)	21	11	30	27	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Introduction to Physical Education (PED101TH)	14	11	30	30	18	50	-	-	-	-	44	32	80	B+	6.00	4	24.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	14	11	30	19	18	50	-	-	-	-	33	32	80	C	5.00	4	20.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	31	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	14	11	30	31^	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- 387 / 800					TC-44	TCP - 235.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670306 CAND.NAME : MINRAV DHIMAN REG NO : 23-HM-275			FATHER'S NAME : ARVIND KUMAR							MOTHER'S NAME : VESHNO DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00	5.48	-	B	PASS
Introduction to Physical Education (PED101TH)	15	11	30	18	18	50	-	-	-	-	33	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	23	18	50	-	-	-	-	38	32	80	C	5.00	4	20.00				
Administrative Theory (PUBA101A)	18	11	30	35^	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Indian Administration (PUBA102A)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	28	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	28	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Writing Skills (ENG AECC 104)	22	11	30	44	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
										-	MO/MM- 391 / 800					TC-44	TCP - 241.00	Dis. -			
UNIV ROLL NO : 1232670312 CAND.NAME : PAKHI REG NO : 23-HM-1313			FATHER'S NAME : BHARAT SINGH							MOTHER'S NAME : KANCHAN							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00	6.14	-	A	PASS
Introduction to Physical Education (PED101TH)	18	11	30	19	18	50	-	-	-	-	37	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	17	8	20	-	17	8	20	O++	9.00	2	18.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	19	18	50	-	-	-	-	34	32	80	C	5.00	4	20.00				
Administrative Theory (PUBA101A)	20	11	30	40	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Indian Administration (PUBA102A)	22	11	30	27	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	27	11	30	53	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Prayojanmoolak Hindi (HIND101)	13	11	30	30	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	56	40	100	-	-	-	-	56	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	14	11	30	26*^	25	70	-	-	-	1	40	40	100	C	5.00	4	20.00				
										1	MO/MM- 433 / 800					TC-44	TCP - 270.00	Dis. -			
UNIV ROLL NO : 1232670330 CAND.NAME : SUMIT BHARDWAJ REG NO : 23-HM-891			FATHER'S NAME : SUBHASH CHAND							MOTHER'S NAME : SUNITA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00	-	-	-	FAIL
Introduction to Physical Education (PED101TH)	17	11	30	10^	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	21	11	30	20	18	50	-	-	-	-	41	32	80	B	5.50	4	22.00				
Administrative Theory (PUBA101A)	20	11	30	38	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Indian Administration (PUBA102A)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	40^	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670333 CAND.NAME : TANISH PATHANIA REG NO : 23-HM-973			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : SANDESH KUMARI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	23	11	30	44	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00	6.43	-	A	PASS
Introduction to Radio and TV (BJMCPAC102)	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Introduction to Physical Education (PED101TH)	17	11	30	28	18	50	-	-	-	-	45	32	80	B+	6.00	4	24.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	21	11	30	29	18	50	-	-	-	-	50	32	80	A	6.50	4	26.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	46	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	26	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	58	40	100	-	-	-	-	58	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	15	11	30	49^	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
										-	MO/MM- 481 / 800					TC-44	TCP - 283.00	Dis. -			
UNIV ROLL NO : 1232670336 CAND.NAME : VISHAL DHIMAN REG NO : 23-HM-320			FATHER'S NAME : MEHAR CHAND							MOTHER'S NAME : RAJ KUMARI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	34	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00	-	-	-	FAIL
History of India from C. 300 - 1206 (HIST(A)102)	14	11	30	12^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	11	8	20	-	11	8	20	B+	6.00	2	12.00				
Introduction to Physical Education (PED101TH)	18	11	30	18	18	50	-	-	-	-	36	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	11	8	20	-	11	8	20	B+	6.00	2	12.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	19	18	50	-	-	-	-	34	32	80	C	5.00	4	20.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	46	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	16	11	30	28^	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1232670360 CAND.NAME : GAURAV CHANOTRA REG NO : 23-HM-778			FATHER'S NAME : PRITAM CHAND							MOTHER'S NAME : BABLI DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00	-	-	-	FAIL
Introduction to Physical Education (PED101TH)	14	11	30	18	18	50	-	-	-	-	32	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	14	11	30	37^	18	50	-	-	-	-	51	32	80	A	6.50	4	26.00				
Introduction to Political Theory (POLS101)	17	11	30	38	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Indian Government and Politics (POLS102)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	23	11	30	31	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	33	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	28^	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	28	25	70	-	-	-	-	40	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670363 CAND.NAME : ISHA REG NO : 23-HM-1328				FATHER'S NAME : JAGDISH						MOTHER'S NAME : PHOOL KUMARI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00	-	-	-	FAIL
Introduction to Physical Education (PED101TH)	16	11	30	13^	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	16	8	20	-	16	8	20	O+	8.50	2	17.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	19	18	50	-	-	-	-	34	32	80	C	5.00	4	20.00				
Administrative Theory (PUBA101A)	17	11	30	37	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Indian Administration (PUBA102A)	17	11	30	35	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	49	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	58	40	100	-	-	-	-	58	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	14	11	30	11^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1232670395 CAND.NAME : ROHIT KUMAR REG NO : 23-HM-284				FATHER'S NAME : BIRBAL KUMAR						MOTHER'S NAME : KANTA DEVI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00	-	-	-	FAIL
Introduction to Physical Education (PED101TH)	21	11	30	23	18	50	-	-	-	-	44	32	80	B+	6.00	4	24.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	34^	18	50	-	-	-	-	49	32	80	A	6.50	4	26.00				
Administrative Theory (PUBA101A)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Indian Administration (PUBA102A)	15	11	30	35	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	29	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	5^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1232670400 CAND.NAME : SANIYA CHANDEL REG NO : 23-HM-1359				FATHER'S NAME : SURESH KUMAR						MOTHER'S NAME : KIRAN KUMARI						Exam Type : COMPARTMENT					
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	17	11	30	47	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	26	11	30	A^	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
Society in India (SOCL-A 102)	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	45	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	41	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670404 CAND.NAME : SHIVANI REG NO : 23-HM-772			FATHER'S NAME : JOGINDER SINGH							MOTHER'S NAME : SUMNA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	17	11	30	41	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	5.55	-	B+	PASS
Indian Government and Politics (POLS102)	16	11	30	34	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	28^	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Society in India (SOCL-A 102)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	22	11	30	32	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	45	40	100	-	-	-	-	45	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	30	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- 418 / 800					TC-44	TCP - 244.00	Dis. -			
UNIV ROLL NO : 1232670423 CAND.NAME : CHIRAG REG NO : 23-HM-368			FATHER'S NAME : NARESH KUMAR							MOTHER'S NAME : MEENA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	16	11	30	43	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	5.48	-	B	PASS
Indian Government and Politics (POLS102)	16	11	30	25	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Sanskrit Kavya (SKT-DSC-101)	26	11	30	25^	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Sanskrit Gadya Kaavya (SKT-DSC-102)	26	11	30	38^	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	22	11	30	28	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	47	40	100	-	-	-	-	47	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	33	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- 401 / 800					TC-44	TCP - 241.00	Dis. -			
UNIV ROLL NO : 1232670437 CAND.NAME : ANJU REG NO : 23-HM-890			FATHER'S NAME : SUBHASH CHAND							MOTHER'S NAME : NIRMLA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	19	11	30	28^	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00	5.20	-	B	PASS
General Cartography (GEOGP102CC)	18	11	30	35	18	50	11	8	20	-	64	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	13	11	30	30	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	26	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	48	40	100	-	-	-	-	48	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	17	11	30	30	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- 385 / 800					TC-44	TCP - 229.00	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670450 CAND.NAME : DIKSHA THAKUR REG NO : 23-HM-486	FATHER'S NAME : KUSHAL KUMAR									MOTHER'S NAME : SARITA DEVI									Exam Type : COMPARTMENT			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Physical Geography (GEOGP101CC)	19	11	30	30^	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00	5.34	-	B	PASS	
General Cartography (GEOGP102CC)	21	11	30	18	18	50	16	8	20	-	55	40	100	B+	6.00	6	36.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00					
History of India from C. 300 - 1206 (HIST(A)102)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00					
English-1 Core English (Compulsory) (ENG CE 101)	20	11	30	28	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00					
Prayojanmoolak Hindi (HIND101)	25	11	30	27	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00					
Environment Science (ENVS2AECC2)	-	-	-	62	40	100	-	-	-	-	62	40	100	A	6.50	4	26.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	17	11	30	32	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00					
										-	MO/MM- 409 / 800					TC-44	TCP - 235.00	Dis. -				
UNIV ROLL NO : 1232670459 CAND.NAME : KHUSHBOO REG NO : 23-HM-687	FATHER'S NAME : RAMESH CHAND									MOTHER'S NAME : SANDHAY DEVI									Exam Type : COMPARTMENT			
Paper Detail														GPA	CGPA	Grade	Result/ Status					
IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)		
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Physical Geography (GEOGP101CC)	17	11	30	39^	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	5.75	-	B+	PASS	
General Cartography (GEOGP102CC)	20	11	30	29	18	50	11	8	20	-	60	40	100	A	6.50	6	39.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	17	11	30	39	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00					
History of India from C. 300 - 1206 (HIST(A)102)	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00					
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	30	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00					
Prayojanmoolak Hindi (HIND101)	20	11	30	26	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00					
Environment Science (ENVS2AECC2)	-	-	-	47	40	100	-	-	-	-	47	40	100	C	5.00	4	20.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	17	11	30	46	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00					
										-	MO/MM- 431 / 800					TC-44	TCP - 253.00	Dis. -				
UNIV ROLL NO : 1232670460 CAND.NAME : KHUSHI REG NO : 23-HM-480	FATHER'S NAME : DINESH KUMAR									MOTHER'S NAME : ASHA DEVI									Exam Type : COMPARTMENT			
Paper Detail														GPA	CGPA	Grade	Result/ Status					
IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)		
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Physical Geography (GEOGP101CC)	16	11	30	30^	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00	5.98	-	B+	PASS	
General Cartography (GEOGP102CC)	17	11	30	31	18	50	12	8	20	-	60	40	100	A	6.50	6	39.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	19	11	30	41	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00					
History of India from C. 300 - 1206 (HIST(A)102)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00					
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	45	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00					
Prayojanmoolak Hindi (HIND101)	26	11	30	26	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00					
Environment Science (ENVS2AECC2)	-	-	-	71	40	100	-	-	-	-	71	40	100	A++	7.50	4	30.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	16	11	30	25	25	70	-	-	-	-	41	40	100	C	5.00	4	20.00					
										-	MO/MM- 448 / 800					TC-44	TCP - 263.00	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670462 CAND.NAME : KIRNA KUMARI REG NO : 23-HM-679	FATHER'S NAME : KULDEEP SINGH									MOTHER'S NAME : RANI DEVI									Exam Type : COMPARTMENT			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Physical Geography (GEOGP101CC)	16	11	30	23^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL	
General Cartography (GEOGP102CC)	19	11	30	26	18	50	11	8	20	-	56	40	100	B+	6.00	6	36.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00					
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00					
English-1 Core English (Compulsory) (ENG CE 101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00					
Environment Science (ENVS2AECC2)	-	-	-	17^	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	16	11	30	35	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00					
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				
UNIV ROLL NO : 1232670464 CAND.NAME : MAMTA KUMARI REG NO : 23-HM-954	FATHER'S NAME : SURESH KUMAR									MOTHER'S NAME : KUSHAM KUMARI									Exam Type : COMPARTMENT			
Paper Detail														GPA	CGPA	Grade	Result/ Status					
IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)		
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Physical Geography (GEOGP101CC)	16	11	30	28^	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00	5.34	-	B	PASS	
General Cartography (GEOGP102CC)	18	11	30	32	18	50	11	8	20	-	61	40	100	A	6.50	6	39.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	17	11	30	28	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00					
History of India from C. 300 - 1206 (HIST(A)102)	16	11	30	28	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00					
English-1 Core English (Compulsory) (ENG CE 101)	20	11	30	26	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00					
Environment Science (ENVS2AECC2)	-	-	-	56	40	100	-	-	-	-	56	40	100	B+	6.00	4	24.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	19	11	30	33	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00					
										-	MO/MM- 389 / 800					TC-44	TCP - 235.00	Dis. -				
UNIV ROLL NO : 1232670473 CAND.NAME : NANSI REG NO : 23-HM-787	FATHER'S NAME : SAROJ KUMAR									MOTHER'S NAME : SAMITLA DEVI									Exam Type : COMPARTMENT			
Paper Detail														GPA	CGPA	Grade	Result/ Status					
IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)		
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Physical Geography (GEOGP101CC)	17	11	30	0^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL	
General Cartography (GEOGP102CC)	18	11	30	24	18	50	11	8	20	-	53	40	100	B	5.50	6	33.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00					
History of India from C. 300 - 1206 (HIST(A)102)	19	11	30	26	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00					
English-1 Core English (Compulsory) (ENG CE 101)	19	11	30	30	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00					
Prayojanmoolak Hindi (HIND101)	19	11	30	35	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00					
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	4	20.00					
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670483 CAND.NAME : PALAK REG NO : 23-HM-641	FATHER'S NAME : RAJ KUMAR									MOTHER'S NAME : REENA KUMARI									Exam Type : COMPARTMENT			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
History of India from the Earliest Times up to 300 CE (HIST(A)101)	14	11	30	26 [^]	25	70	-	-	-	1	40	40	100	C	5.00	6	30.00	5.64	-	B+	PASS	
History of India from C. 300 - 1206 (HIST(A)102)	13	11	30	30 [^]	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00					
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00					
Introduction to Physical Education (PED101TH)	21	11	30	23	18	50	-	-	-	-	44	32	80	B+	6.00	4	24.00					
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00					
Olympic Movement and Organisation of Tournaments (PED102TH)	21	11	30	22	18	50	-	-	-	-	43	32	80	B	5.50	4	22.00					
English-1 Core English (Compulsory) (ENG CE 101)	19	11	30	48	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	26	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00					
Environment Science (ENVS2AECC2)	-	-	-	49	40	100	-	-	-	-	49	40	100	C	5.00	4	20.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	39	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00					
										1	MO/MM- 407 / 800					TC-44	TCP - 248.00	Dis. -				
UNIV ROLL NO : 1232670484 CAND.NAME : PALAK REG NO : 23-HM-485	FATHER'S NAME : KAPIL DEV									MOTHER'S NAME : REETA									Exam Type : COMPARTMENT			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Physical Geography (GEOGP101CC)	17	11	30	16 [^]	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL	
General Cartography (GEOGP102CC)	19	11	30	31	18	50	11	8	20	-	61	40	100	A	6.50	6	39.00					
History of India from the Earliest Times up to 300 CE (HIST(A)101)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00					
History of India from C. 300 - 1206 (HIST(A)102)	21	11	30	27	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00					
English-1 Core English (Compulsory) (ENG CE 101)	21	11	30	32	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00					
Prayojanmoolak Hindi (HIND101)	21	11	30	32	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00					
Environment Science (ENVS2AECC2)	-	-	-	64	40	100	-	-	-	-	64	40	100	A	6.50	4	26.00					
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	17	11	30	41	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1232670490 CAND.NAME : RAHUL THAKUR REG NO : 23-HM-872	FATHER'S NAME : ASHWANI KUMAR									MOTHER'S NAME : ASHA DEVI									Exam Type : COMPARTMENT			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Philosophical Foundations of Education (EDN101CC)	15	11	30	47	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	-	-	-	FAIL	
Sociological Foundations of Education (EDN102CC)	15	11	30	42	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00					
Introduction to Sociology (SOCL-A 101)	24	11	30	18 [^]	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Society in INdia (SOCL-A 102)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00					
English-1 Core English (Compulsory) (ENG CE 101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00					
Prayojanmoolak Hindi (HIND101)	14	11	30	26	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00					
Environment Science (ENVS2AECC2)	-	-	-	40 [^]	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00					
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	38	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670493 CAND.NAME : RITIK KUMAR REG NO : 23-HM-642			FATHER'S NAME : RAJENDER KUMAR							MOTHER'S NAME : VEENA KUMARI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
English Literature-1 (Essays, Stories and Poems) (ENG 102)	18	11	30	43	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	5.75	-	B+	PASS
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	18	11	30	43	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	17	11	30	31	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	17	11	30	27^	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	19	11	30	51	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	16	11	30	26	25	70	-	-	-	-	42	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	17	11	30	27	25	70	-	-	-	-	44	40	100	C	5.00	4	20.00				
										-	MO/MM- 411 / 800					TC-44	TCP - 253.00	Dis. -			
UNIV ROLL NO : 1232670518 CAND.NAME : ANSHIKA RANA REG NO : 22-HM-90			FATHER'S NAME : PARVEEN KUMAR RANA							MOTHER'S NAME : KAMLESH							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	5.52	-	B+	PASS
Indian Government and Politics (POLS102)	18	11	30	32	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Sanskrit Kavya (SKT-DSC-101)	25	11	30	25^	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Sanskrit Gadya Kaavya (SKT-DSC-102)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	21	11	30	30	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	44	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	47	40	100	-	-	-	-	47	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
										-	MO/MM- 409 / 800					TC-44	TCP - 243.00	Dis. -			
UNIV ROLL NO : 1232670519 CAND.NAME : ASHMIT THAKUR REG NO : 23-HM-952			FATHER'S NAME : SURESH KUMAR							MOTHER'S NAME : SUDESH KUMARI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMPAC101)	27	11	30	35	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	-	-	-	FAIL
Introduction to Radio and TV (BJMPAC102)	27	11	30	30	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	20	11	30	43	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	18	11	30	49	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
English-1 Core English (Compulsory) (ENG CE 101)	22	11	30	28	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	14	11	30	7^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Environment Science (ENVS2AECC2)	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	14	11	30	14^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670520 CAND.NAME : DEEYA THAKUR REG NO : 23-HM-947			FATHER'S NAME : SURENDER KUMAR							MOTHER'S NAME : NARESH KUMARI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	28	11	30	36	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	27	11	30	30	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Introduction to Political Theory (POLS101)	17	11	30	51	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Indian Government and Politics (POLS102)	17	11	30	43	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) (ENG CE 101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	28	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	56	40	100	-	-	-	-	56	40	100	B+	6.00	4	24.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	16	11	30	12^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 1232670527 CAND.NAME : LAKSHAY GUPTA REG NO : 23-HM-729			FATHER'S NAME : SANDEEP KUMAR GUPTA							MOTHER'S NAME : ANURADHA							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	28	11	30	26	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	5.55	-	B+	PASS
Introduction to Radio and TV (BJMCPAC102)	28	11	30	33	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to Political Theory (POLS101)	17	11	30	29	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Indian Government and Politics (POLS102)	17	11	30	35	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	21	11	30	37	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	31	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	40^	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	16	11	30	29	25	70	-	-	-	-	45	40	100	C	5.00	4	20.00				
										-	MO/MM- 408 / 800					TC-44	TCP - 244.00	Dis. -			
UNIV ROLL NO : 1232670532 CAND.NAME : PAYAL REG NO : 23-HM-716			FATHER'S NAME : CHAMAN LAL							MOTHER'S NAME : SAPNA							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	5.41	-	B	PASS
Introduction to Radio and TV (BJMCPAC102)	26	11	30	28	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Introduction to Political Theory (POLS101)	17	11	30	39	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Indian Government and Politics (POLS102)	17	11	30	28	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) (ENG CE 101)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	23	11	30	26	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	49^	40	100	-	-	-	-	49	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	4	20.00				
										-	MO/MM- 403 / 800					TC-44	TCP - 238.00	Dis. -			

UNIV ROLL NO : 1232670541 CAND.NAME : TANIYA VERMA REG NO : 22-HM-993			FATHER'S NAME : DINESH KUMAR							MOTHER'S NAME : NIRASHA							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	28	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	25	11	30	30	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Introduction to Physical Education (PED101TH)	14	11	30	20	18	50	-	-	-	-	34	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	37^	18	50	-	-	-	-	52	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	49	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	33	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	16	11	30	8^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

UNIV ROLL NO : 1232670548 CAND.NAME : NISHA REG NO : 23-HM-874			FATHER'S NAME : PARKASH CHAND							MOTHER'S NAME : SUNITA							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Philosophical Foundations of Education (EDN101CC)	15	11	30	51	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	6.27	-	A	PASS
Sociological Foundations of Education (EDN102CC)	21	11	30	44	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	26	11	30	30^	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Society in INdia (SOCL-A 102)	26	11	30	50	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
English-1 Core English (Compulsory) (ENG CE 101)	20	11	30	38	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	26	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	53	40	100	-	-	-	-	53	40	100	B	5.50	4	22.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- 460 / 800					TC-44	TCP - 276.00	Dis. -			

UNIV ROLL NO : 1232670552 CAND.NAME : ABHAY SINGH REG NO : 23-HM-1341			FATHER'S NAME : RANJEET KUMAR							MOTHER'S NAME : RAJO DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	24	11	30	36	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	26	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	12	8	20	-	12	8	20	A	6.50	2	13.00				
Introduction to Physical Education (PED101TH)	14	11	30	21	18	50	-	-	-	-	35	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	14	8	20	-	14	8	20	A++	7.50	2	15.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	19	18	50	-	-	-	-	34	32	80	C	5.00	4	20.00				
English-1 Core English (Compulsory) (ENG CE 101)	22	11	30	25	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	51	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Environment Science (ENVS2AECC2)	-	-	-	64	40	100	-	-	-	-	64	40	100	A	6.50	4	26.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	14	11	30	13^	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670553 CAND.NAME : ABHINIT NEGI REG NO : 22-HM-1135	FATHER'S NAME : DEVESHWAR RAJ									MOTHER'S NAME : MOHAN KUMARI									Exam Type : COMPARTMENT			
	Paper Detail														GPA	CGPA	Grade	Result/ Status				
	IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)	
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Principles of Microeconomics-I (ECONA101)	25	11	30	A^	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00	-	-	-	FAIL	
Principles of Microeconomics-II (ECONA102)	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00					
English Literature-1 (Essays, Stories and Poems) (ENG 102)	18	11	30	47	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00					
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	18	11	30	56	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00					
English-1 Core English (Compulsory) (ENG CE 101)	20	11	30	48	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00					
Prayojanmoolak Hindi (HIND101)	15	11	30	35	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00					
Writing Skills (ENG AECC 104)	22	11	30	29	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00					
Environment Science (ENVS2AECC2)	-	-	-	60	40	100	-	-	-	-	60	40	100	A	6.50	4	26.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1232670556 CAND.NAME : BANITA DEVI REG NO : 23-HM-314	FATHER'S NAME : BALWANT SINGH									MOTHER'S NAME : SANTOSH KUMARI									Exam Type : COMPARTMENT			
Paper Detail														GPA	CGPA	Grade	Result/ Status					
IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)		
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Hindi Sahitya ka Itihas (HIND102)	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	-	-	-	FAIL	
Madhyaqaalin Hindi Kavita (HIND103)	19	11	30	25	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00					
Introduction to Sociology (SOCL-A 101)	26	11	30	19^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Society in INdia (SOCL-A 102)	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00					
English-1 Core English (Compulsory) (ENG CE 101)	23	11	30	4^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
Prayojanmoolak Hindi (HIND101)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00					
Environment Science (ENVS2AECC2)	-	-	-	46	40	100	-	-	-	-	46	40	100	C	5.00	4	20.00					
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	48	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				
UNIV ROLL NO : 1232670564 CAND.NAME : MAMTA KUMARI REG NO : 23-HM-1293	FATHER'S NAME : RAJ KUMAR									MOTHER'S NAME : SAHBO DEVI									Exam Type : COMPARTMENT			
Paper Detail														GPA	CGPA	Grade	Result/ Status					
IA			TE			PR			GR	Tot.			Grd.					GP	CR	CP (CR*GP)		
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Principles of Microeconomics-I (ECONA101)	20	11	30	25	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00	-	-	-	FAIL	
Principles of Microeconomics-II (ECONA102)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00					
Physical Geography (GEOGP101CC)	15	11	30	11^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00					
General Cartography (GEOGP102CC)	16	11	30	18^	18	50	11	8	20	-	45	40	100	C	5.00	6	30.00					
English-1 Core English (Compulsory) (ENG CE 101)	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00					
Prayojanmoolak Hindi (HIND101)	14	11	30	30	25	70	-	-	-	-	44	40	100	C	5.00	6	30.00					
Environment Science (ENVS2AECC2)	-	-	-	53	40	100	-	-	-	-	53	40	100	B	5.50	4	22.00					
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	36	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00					
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -				

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670567 CAND.NAME : NEELAM KUMARI REG NO : 23-HM-803			FATHER'S NAME : JAGDEV SINGH							MOTHER'S NAME : SUNITA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	13	11	30	27	25	70	-	-	-	-	40	40	100	C	5.00	6	30.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	12	11	30	35^	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Introduction to Sociology (SOCL-A 101)	26	11	30	16^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-1 Core English (Compulsory) (ENG CE 101)	18	11	30	27	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	28	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Environment Science (ENVS2AECC2)	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	15	11	30	25	25	70	-	-	-	-	40	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670573 CAND.NAME : PRINCE DOGRA REG NO : 23-HM-1305			FATHER'S NAME : JEET RAAM							MOTHER'S NAME : RAJNI DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	25	11	30	44	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	14^	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	15	11	30	42^	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	41	40	100	-	-	-	-	41	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	15	11	30	27	25	70	-	-	-	-	42	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670587 CAND.NAME : MANISHA REG NO : 23-HM-1366			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : RAKHI SHARMA							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	-	-	-	FAIL
Introduction to Radio and TV (BJMCPAC102)	24	11	30	A^	25	70	-	-	-	-	-	40	100	ABS	0.00	6	0.00				
English Literature-1 (Essays, Stories and Poems) (ENG 102)	20	11	30	40	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English Literature-2 (Poems,Short Stories And Essays) (ENG 103)	20	11	30	50	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
English-1 Core English (Compulsory) (ENG CE 101)	20	11	30	51	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	45	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	65	40	100	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	34	25	70	-	-	-	-	46	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1222670548 CAND.NAME : LEENA KUMARI REG NO : 22-HM-914			FATHER'S NAME : MANOJ KUMAR							MOTHER'S NAME : SUNITA DEVI							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Communication (BJMCPAC101)	25	11	30	31	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				COMPAR TMENT TILL APRIL 2026 Paper Code (PED101T H,ENG CE 101)
Introduction to Radio and TV (BJMCPAC102)	24	11	30	44	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Introduction to Physical Education (PED101TH)	15	11	30	8	18	50	-	-	-	-	-	32	80	F	0.00	4	0.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	18	8	20	-	18	8	20	S	9.50	2	19.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	18	11	30	36	18	50	-	-	-	-	54	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	36	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Environment Science (ENV52AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineeey Shiksha (SKT-AECC-104)	19	11	30	34	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670059 CAND.NAME : TANISHA SHARMA REG NO : 23-HM-299			FATHER'S NAME : AJAY KUMAR							MOTHER'S NAME : BIMLA DEVI							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	13	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,HIND1 02)
Madhya kaal in Hindi Kavita (HIND103)	13	11	30	38	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Administrative Theory (PUBA101A)	20	11	30	35	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Indian Administration (PUBA102A)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	26	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	21	11	30	38	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Environment Science (ENV52AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	35	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670060 CAND.NAME : TANISHA WALIA REG NO : 23-HM-351			FATHER'S NAME : JASWINDER KUMAR							MOTHER'S NAME : SNEH LATA							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	13	11	30	6	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				FAIL
Madhya kaal in Hindi Kavita (HIND103)	12	11	30	26	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	10	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	25	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	29	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
Environment Science (ENV52AECC2)	-	-	-	13	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

UNIV ROLL NO : 1232670062 CAND.NAME : VANSHIKA REG NO : 23-HM-344			FATHER'S NAME : PARVESH CHAND							MOTHER'S NAME : ARCHNA KUMARI							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Hindi Sahitya ka Itihas (HIND102)	21	11	30	8	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Madhya kaalin Hindi Kavita (HIND103)	25	11	30	41	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	25	11	30	25	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) (ENG CE 101)	25	11	30	9	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi (HIND101)	23	11	30	34	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	18	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	17	11	30	30	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670210 CAND.NAME : RIYA KUMARI REG NO : 23-HM-908			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : BINDU KUMARI							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Physical Geography (GEOGP101CC)	18	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (HIST(A)1 02,GEOG P101CC)
General Cartography (GEOGP102CC)	19	11	30	22	18	50	11	8	20	-	52	40	100	B	5.50	6	33.00				
History of India from the Earliest Times up to 300 CE (HIST(A)101)	16	11	30	33	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
History of India from C. 300 - 1206 (HIST(A)102)	15	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	19	11	30	46	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Hindi Bhasha aur Sampreshan (HIND104)	12	11	30	34	25	70	-	-	-	-	46	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 1232670419 CAND.NAME : VAISHALI RAJPUT REG NO : 23-HM-808			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : NEELAM KUMARI							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Introduction to Political Theory (POLS101)	16	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00	-	-	-	FAIL
Indian Government and Politics (POLS102)	16	11	30	40	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Introduction to Sociology (SOCL-A 101)	25	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Society in India (SOCL-A 102)	25	11	30	18	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) (ENG CE 101)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Prayojanmoolak Hindi (HIND101)	17	11	30	34	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Environment Science (ENVS2AECC2)	-	-	-	25	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
Hindi Bhasha aur Sampreshan (HIND104)	11	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BA(Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 29-July-2025

Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
	Principles of Communication (BJMCPAC101)	23	11	30	31	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	5.84	-	B+
Introduction to Radio and TV (BJMCPAC102)	23	11	30	39	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Athletics and Games-1 (PED101PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Introduction to Physical Education (PED101TH)	15	11	30	18*	18	50	-	-	-	3	33	32	80	C	5.00	4	20.00				
Athletics and Game-2 (PED102PR)	-	-	-	-	-	-	13	8	20	-	13	8	20	A+	7.00	2	14.00				
Olympic Movement and Organisation of Tournaments (PED102TH)	15	11	30	37	18	50	-	-	-	-	52	32	80	A+	7.00	4	28.00				
English-1 Core English (Compulsory) (ENG CE 101)	21	11	30	33	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi (HIND101)	12	11	30	45	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Environment Science (ENVS2AECC2)	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
Upanishad Shrimad Bhagwat Geeta Tatha Paanineey Shiksha (SKT-AECC-104)	17	11	30	25	25	70	-	-	-	-	42	40	100	C	5.00	4	20.00				
										3	MO/MM- 420 / 800					TC-44	TCP - 257.00	Dis. -			

This result is declared as per the university ordinance and result declaration rules adopted by the university from time to time. The result is being processed through ERP system on the basis of the awards entered and verified by the colleges and the concerned examination branches.

**A.R. / D.R. (Exam-I)
H.P.University, Shimla-5.**

Dated :

**Controller of Examinations
H.P.University, Shimla-5.**

Note: This TR is also available on the Concerned Examination Branches, College id's and Department Chairman id's for their information and record purpose.

**A.R. / D.R. (Exam-I)
H.P.University, Shimla-5.**